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S /ol A 41500 g 750 | 67% 850 | 63%
8 JAL [ AL 41500 [ ars 20750 | 68% 850 | 65%
S— JAL A 41500 o 20750 | 68% 850 | 65%
s JAL AL aas00 o 400 | 66% 650 | 62%
S— JAL A sas00 o7 400 | 66% 4,650 | 62%
JAL AL 4as00 | os 400 | 67% 4,650 | 64%
S— AL T 44500 400 | 67% 4,650 | 64%
AT IAC 7100 S50 em S50 T on
AL JAL 47,100 ‘550 66% a0 o
oL L 0 X 25,900 62%
E=IAMN AL JA 4.900 5% F 5 S0 oy
oL L z, 00 = 450 |  63% 30,200 59%
HE=FS oL = 5 X o0 J 7,450 3 30,200 59%
AT IAC 6200 o4 4100 |7 Soa00 o
oL L a0 , 26,500 58%
HE=EE oL = ,500 3 4,100 7 26,500 | 63%
AL JAL 50,500 | 29% ggggg Z 7500 ;
AL JAL 50,500 | 34% 25.250 7500
AL JAL 50,500 | 29% . : 7500
BE=RX AL JA 50500 | 1% S T8 7500
AL JAL 50,500 % ggggg o T
AL JAL 50500 | 31% 25.250 oo 7500 oy
oL L 50,500 = » 66% 7,800 62%
HE=EE oL = 50,500 —2 25,250 63% 7,800 59%
AL \‘A: 50'500 6% gggﬁo o oo o
BRFE |[ER(HH) AL JAL 50,500 | 31% 2. T e 7500 oy
pIACGEE)) AL JAL 50,500 6% e o 7500 oy
AE=-ERE REF | s (HE) AL | _JAL 52700 | a1 T 2000 o
e oL L 52,7 . ! 26,350 65% 29,000 62%
BRER [ERCRH) AL JAL 52'7 0 1 e o T a0 o
oL L 52,7 . ! 26,350 65% 29,000 62%
PE=R1 EEE AL | JTA 69,200 0 e o RN
2o AL T 69, 20 o ,600 65% 39,350 60%
EE=HE EEE A AL__| JAL/JAC 43.400 3% 2% i S0 o
HER | KR (R JAL/JAC| _ JAL 43,400 3% 700 7 St o
TEE=TAL EERE | KRUFH) JAL | _JAL 47600 | 25% S0 e T o
] 75 X 3 800 | 63} 26200 | 5%
¥ PG JAL JAL 27,600 |__25% 800 3% 26,200 | 59%




MERIRAR5 1 EER(BA270~31ARES)

JAL/JTA/JAC/RAC

BELH FERIRMEIS| | "
B B | LB e INRHRIRMES| SRR\ E A R HI5|
_ RED | 2EO | 2E@ | Y| wEiE s a1 | B8 . o731 | E=78
TEE | KR(FD il B - #51% EEE i
AAR [ XRFH) JAL JAL 49,000 ggi 4.950 | 62% 27450 | 58%
Eﬁg ﬂgg 200 AL AL 5500 [ 25% 4,950 | 62% 27450 | 58%
5 PR A A 2 : 7.200 | 63% :
TEER [ AREFD C JAL 400 | 26% 7200 | 6 29900 | 5%
A JAL | UAL 200 | 63% >
frs [XmG7A) N SLI0D |26 26,050 | 63% T
TERE [ AR(FR) AL | AL szi0 |26 26050 | 63% St oo
_ FE JAL | JAL/JAG 53400 | 31% 2000 02 20350 |50
Ba% *“ﬁﬁﬁﬂ) JAL | JAL 53400 | 25% 2700 o 20350 | oz%
-y 2 [i] JAL/JAC|  JAL - - 26,700 62% X o
TE-ERE | _EEE _[FRGD AL | AL B0 T ome 26700 |_65% S o
— BREE | ARGFH JAL T JA Y 2] 7200 | 63% % 62
=N 3 GRED) AL AL 36’000 27'%/: 7200 | 63% 29900 50"-/:
0= N (HH) JAL JAL 35'008 . 000 | 63% 19vggg o
Z=H0 i % CRE) JAL | JA St o5 000 | 63% om0 T oo
W= R (HH) JAL JAL 38.100 | 33"7 .050 7% 20,950 59"7
P=IR% I % (HE) JAL | JA SeTo T o 050 [ 67% Sio T o
i PEaES INEE (FE) JAL | JAL 39,100 §§37; 550 | 66% 1500 23"'7
% TH | KR [€2D) JAL T AL T 550 | 66% 1200 o
o IEES T CHE) JAL JAL 24,200 29:',; 22,100 | 64% 4300 3
A L% |EaCnm) JAL | AL 39.100 | 30% 22.100 | 64% .
_ EXACE)) JAL | JAL/JAG 39,100 | 36% 550 | 65% 550
HES fiﬁ?;?}) JAL AL 35700 T 30% 550 68% 500 5%
— ) JAL/JAC| _JAL 700 | W 550 | 65% - :
R e —
=& B52 (FIE) JAL JAL 38100 | N 050 | 66% 20,950 o
b =mn %3 CHHE) JAL JAL 38.100 = .050 66% 20,950 8.
e BIAE CRE) JAL AL A 33h 050 | 66% 20950 | =
=m0 % [€212)) JAL | JAL SeTo T o 050 [ 66% A
L= BHE CHHE) JAL JAL 35700 33h .550 7 500 s
=1l L% [RacaE) JAL | JAL S9100 | ot 550 | 67 T o
: AE(FFD) JAL | AL A s 500 4
LT f@ [€2ED) JAL_|__JA 39,100 | 34% 550 |67 i
— [G25)) JAL AL Srrm i 550 7 y
TH=FAM | _LEE |fzme AL | 9AL e 550 |67 2T
WWiE=X EAMFE SR CHE) JAL JAL 26.300 gg‘f 23,150 25450
B=X5 i3 = CHE) JAL JAL 12300 29"7 23.150 Seass
A (D JAL | AL T 22550 500 o1
RAE |[RA(HE) JAL | AL 45300 | o0% 22,650 o T
i =5E ZIEHIL JAL L JAL 45300 | 27% 22550 4,900 51;
2 =1l W% [ExCRE) JAL JAL 45300 I 22,650 2,900 s
PG JAL | AL oo o 150 S5550 | o0n
EBR i%ﬁ?;?}) LT T B30 [ Sl 150 | 65% 26550 | _62%
— ) JAL JAL : > 150 | 64% : 2
LF=fF | LB |2aom A TUAC 48300 |51 150 | 5% o
X () A TUAC 48300 | 26 150 ot T o
AT [RECHE) JAL | A 6300 T 75 150 [ 65 25450 |62
=58 AR (7 F) JAL | AL e = 150 | 64% 25450 |61
= W% | 2= CBE) AL T AL 15300 T 28% 150 [ 65% 25450 |6
= A (F53) JAL | IAL 46300 | 31% N 25450 o1
e i%ﬁ?;?}) T 2630 [ ST 150 | 65% 25450 | 62
5= ) JAL JAL ¥ " 150 64% >
UF=ERE | WEE [AaCHE) JAL A o 150 | 65% LR,
IR (7D JAL AL : 2 150 | 64% - -
ERER [%2m JAL [ 9AL e o 150 |66 o
— (1) JAL AL : 2 150 | 64% - -
IR LR 50 B o
TE=E= 4 HE CHE) JT, JAL 69,200 23% .600 | 62% 39.350 56%
E=HE glji i%g ) JAL_[JAL/JAC 38.100 | 36% o 39,350 |56
= 8. 050 2 ;
TE=B0 | &% [xBER) o AT o506 o
e T MES 101 AL uAL 44500 |55 22400 | o Sis o
= n ES e N 4500 |75, 22400 | 62% 24,650 |_58%
(7 JAL | 4 . 3 23,550 1% y d
TE=FE il EN G AT S50 T o 25500 |5
WE=FEA T JAL | IAL S0 oo 25250 | 63% a0 T o
__ TS mE JAL | A 48200 | o7 £20 | 5 21800 | 508
— IR (7 ) JAL AL : u 24,100 | 63% : -
WE=ah IE% Xk (FA) JAL | AL oS00 T o 24.100 | 63% Se 00 o0
TWE=EF G B Y )] JAL | JAL 50500 | _23% 25250 | 62% So0 T o
=BR T PGS T 80500 h 25250 | 62% 7.800 3
B { e (o JAL T IAC 0500 |27 25250 | ean T
B=HE 2 e (O JAL_[JAL/JAC S0 25250 | 6d% 159 | 00,
= = A JAL/JAC| _JAL y n 17,500 | 70% : 7
FE=m0 SRSk | KBTS AT IAC 2000 | % 17500 | 70% T
FR=A% BIE [ KR(EA) JAL | JAL oo o7 210 55 B0 o0
= frn ZE JAL_ | A 00T ox 20750 | 63% 850 | 60%
= 5 0% (573 JAL JAL - 400 | 62% : 2
FR=RA gﬁ i[g&( 3] e 44500 | ou 200 | 62% ot T o
—— i R (F5) JAL | UAL : 100 |_64% Y d
FR=TA it BEINC ) JAL | JAL a0 o0 8 00 500
FE=E6 ES KR (751 JAL JAL 27100 o 550 | 63% 25,900 532
B=Eh FRE | A (FH) JAL | AL 47700 6% 000 | 63% 25900 3
FE=ER = KR (FFD JAL JA 47100 b 550 X 3 59%
wB=ER ] PG JAI AL 2L 6% 550 | 63% 25900 | 5%
BREER | AR JAL T AL 46200 9% 100 7 5900 | 50%
INA=E L INEY [E1) AL JAL .200 9% 100 Yoy .500 61%
T L CRE) JAL | AL 300 | 38% 650 | 69% 500 | 61
R=L5 I &) AL AL 2 gg 38% 650 59% ,200 66%
e [N, [€2D) JAL | JAL T 20,150 | 69% i
NSI=E=1 INAR [€5) JAL AL 1450 7! 20,150 69% 150 65%
| BETHE xR G SAE T A #5300 |54 22400 | 67 40 o
A= D (HHE) JAL | AL 41,500 . 22400 | 67% ot T okt
TTA=TEE T (R JAL [ JAL 41,500 3 20750 | 66% o
= I CHE) JAL | JAL 200 | 3% AT oo 8% |3t
TEET [€2D) AL T JA b 100 | 70% : i
A= I [E&) AL AL ,200 9-;,? 100 704 .000 67%
E=E B [€:[5) AL | JAL 300 | 87 650 | 69% 0 8L
= &l TN &) A AL ,300 37% 650 5% ,600 66%
=T B4 ) AT AT 500 | 56 20750 | 68% 0 o
R=150 IS o A 41500 |56 50750 T 68 %0 |65
e [ [€2ED) AL T AL T 7% 20750 | 68% 850 |65k
E=L M N ©) AL T AL 41500 | 378 0750 | 68% 850 | 65%
= TEAME ) 2 JaL 48200 2% 100 | 66% 850 | 65%
NE=K5Y NA GE) A AL 45200 2% 100 | 66% 26500 | 63%
e P [€X[)) AL T AL 42100 24 550 | ek 26500 | 63
=Rk /i CHE) AL AL o o 2 23550 | 66% 25900 | 63%
TE=EE Rl CRME) AL AL 50500 15 25250 | 66% %5'900 83k
=REA N GE) AL AL 22 80 1% 25.250 56% 2;300 62%
TE=E S CRE) AL | JAL 8200 | 9% 100 | 66% 280 | o
—EB N ) 2 AL 48200 2 00 T o6k 6500 | 63%
=] B (HH) AL AL 48, 00 2% 100 66% s
N=ERE I CRME) A s 200 2% 100 | 66% 26500 | 63%
—aE— | BRLE [(xaom) [ an o 2250 | 6% o o
== ’_;j; : ggﬂg) JTA_|JTA/RAC 68,500 | 1% 25250 | 66% 7800 | 62%
e ——(mee g —fem A= e
JTA_|JTA/RAC 69,000 s{?a? 200 9250 gg:
JTA | JAL 69,000 | 28% 500 30250 | 48%
HI=EE JTA/RAC| _JTA 69,000 8% 200 39.250 | 59%
JTA_|JTA/RAC 51,400 7 200 39.250 | 48%
EL=F&E JTA/RAC| _JTA 51,400 7 25,700 58% 28.250 | 54
& JTA_|JTA/RAC 53,500 1 700 | o8, 28250 4
e JTA/RAC]_JTA 53,500 1 205 29,450 7
B 2 AL JAL/JAC 31,100 2 270, ¢ 20450 | 57
JAL 31,100 42% 15‘550 7 17,100 68%
- 17,100 68%




MERIRAR5 1 EER(BA270~31ARES)

JAL/JTA/JAC/RAC

mEait R RREIS| INRAFRIRAEEIS| SRREA BRI RREEIS|
X #a® | RHHQ e E—otg e

RED | XHO | XEG 3/21-81 | gyalm wE 3/27-31 | gyl wE 3/21-81 | gaim &
BEXE=5R [ BZABXE [ KR JAC JAC 20,200 33% 10.100 66% ,950 7
SMm% hK RAR JAC JAC 20,200 33% 10.100 66% ,950 7
BEXB=/KRHB| BEXER 5 JAC JAC 17,300 48% 650 74 .050 7
k RERSE 5 JAC JAC 17,300 [ 48% 650 74 ,050 7
SRR G =& 8 (A ) 3¢ | SR CHE) JAL JAL 55,500 4 7.750 7 30,550 4
PG JAL JAL 55,500 4 7.750 7 30,550 4
FHE [RECHE) JAL JAL 55,500 4 7.750 7 30,550 4
EAGE) JAL JAL 55,500 4 7.750 7 30,550 4
G ==R 88 | Zx (AE) JAL JAL 55,500 4 7.750 7 30550 | 63
=R%E = (CFM) JAL JAL 55,500 4 7.750 7 30550 | 63%
SRR CGRE) =TE | %) X[ R (BE) JAL JAL 58,300 | 25% 29.150 32,050 | 50%
RG] JAL JAL 58,300 | 27% 29.150 32,050 | 60%
MEE [Ex@EH) JAL JAL 58,300 25% 29,150 32,050 59%
AR (7 JAL JAL 58,300 | 27% 29.150 32,050 | 60%
R GRR) =T68 |8 0% X[ ARFR JAL JAL 60,000 | 28% 30,000 33000 | 60%
1B JTA JAL 60,000 | 30% 30000 | 65% 33000 | 62%
EER [ XRED JAL JAL 60,000 28% 30,000 64% 33,000 60%
1B JAL JTA 60,000 | 30% 30000 | 65% 33000 | 62%
SRR GRE) =L | R %) X[ R (RE) JAL JAL 53500 | 23% 26750 | 61% 29450 | 57
RG] JAL JAL 53500 | 32% 26750 | 66% 29450 | 63
I Z - F--{€:T::))] JAL JAL 53500 | 23% 26750 | 61% 29450 | 57
AR (7 JAL JAL 53500 | 32% 26750 | 66% 29450 | 63
R GEE) =5 [ R0 X[ XRFED JAL JAL 7,000 7 28500 | 63% 350 | 60%
Ei] JTA JAL 7.000 2 28500 | 66% 350 | 63%
e® [XRED JAL JAL 7,000 7 28,500 63% 350 60%
1B JAL JTA 7.000 |32 28500 | 66% 350 | 63%
SRR GRE) =M [ G E) % | & m (RE) JAL JAL 53800 | 28% 26900 | 64% 29,600 | 61%
NSFE s CRE) JAL JAL 53800 | 28% 26900 | 64% 29,600 | 61%
RO == R s 1a JTA AL 34,800 | 44% 7400 | 72% 750 | 68%
e JAL JTA 34,800 44% 7.400 72% 750 68%
PHE GIRER) =#A10 | R (D) 52 JTA JAC 36,000 | 39% 8000 | 69% 800 | 66%
PIES JAC JTA 36,000 | 39% 8000 | 69% 800 | 66%
R CRHE) =R | R=RCHE) [ XREFH) JAL JAC 40,400 23 20,200 62% 22,250 58%
E JAL JAC 40,400 7 20200 | 58% 22,250 | 54%
[ECE PN JAC JAL 40,400 3 20,200 62% 22,250 58%
HE JAC JAL 40,400 7 20200 | 58% 22,250 | 54%
W (FH) = BEAR | BUR CHE) 5| k& JAL JAC 300 7 7.150 | 64" 29,850 | 60%
AR (FH) JAL JAL 4,300 3 7.150 | 62 29,850 | 58%
BEABRE | BERES JAC JAL 4,300 7 7,150 64 29,850 60%
PG JA JAL 4,300 | 23 7.150 | 62 29,850 | 58%
RRCHE) =BRE | RR(HE) | ERE JAI JAC 4,600 | 26% 7.300 | 63% 30050 | 50%
BEXE JA JAC 4,600 16% 7,300 58% 30050 54%
ERGR ERE JA JAL 4,600 26% 7,300 63% 30050 59%
ESN-] JAC JAL 4,600 | 16% 7,300 58% 30,050 54
RRCHE) =@26 | RR(HE | ERE JAL JAC 4,600 7.300 | 65% 30,050 | 62
EFN-] JAL JAC 4,600 7,300 61% 30,050 57
EZBE ERE JAC JAL 4,600 7,300 65% 30,050 62
BEAE JAC JAL 4,600 7,300 61% 30,050 57
RRAE) =HkRH | BR (FHE) %] ER JAL JAC ,700 4,850 69% 28,500 4
ChKEERSE [ EER JAC JAL 49,700 7 4,850 69% 28,500 4
RRCHE) =5 [an(PE % BR JAL JAC 0.100 | 38% 25050 | 69% 28,750 4
SRE BER JAC JAL 50,100 38% 25,050 69% 28,750 4
KA (PR =BEAR | AR(FF) 5| Bk JAL JAC 43,100 | 29% 550 | 65% 23,700 1
BEAGE [ BR JAC JAL 43,100 29% .550 65% 23,700 1
KR (G =ER&| KR (FME]_ER JAL JAC 43400 | 27% .700 4 23850 | 60%
BEXS JAL JAC 43400 | 19% .700 0 23,850 56%
EREE ERE JAC JAL 43400 | 27% .700 4 23,850 60%
EFN-] JAC JAL 43,400 % .700 0 23,850 56%
AR (P =B28| XR(EFME]_ERE JAL JAC 44,100 2% 22,050 66% 4,900 62%
EEPNE JAL JAC 44,100 4 22,050 62% 4,900 57
BZBE ERE JAC JAL 44,100 22,050 66% 4,900 62
EFN-] JAC JAL 44,100 4 22,050 62% 4,900 57
KR (D =4k R# | KR (B %|_ERS JA JAC 44,500 2 22,250 66% 25,250 61
BEXS JA JAC 44,500 28% 22,250 64% 25,250 59%
BEAS 5 JA JAC JAC [ 44,500 42% 22,250 71% 25,250 67
SKEEE | ERS JA JAL 44,500 32% 22,250 66% 25,250 61
AR (R =5 | KR (FHE_ERE JA JAC 44,900 33% 22,450 67% 25,550 62
EFN-] JA JAC 44,900 1% 450 66% 25,550 61
BEAL | AKRE AL JAC JAC [ 44,900 9% 450 69% 25,550 65%
5R%E ER JAC AL 44900 | 33% 450 67% 25,550 62%
BE=FEXXE FEEES BER JAC JAC 500 | 25% 250 63% ,200 50%
BEAGE [ BR JAC JAC 500 5% .250 63% .200 59%
EE=ERE [EEES R JAC JAC 800 .400 62 .350 58%
BEAS JAC JAC ,800 .400 61 .350 57%
ERER BER JAC JAC ,800 .400 62 .350 58%
& JAC JAC 800 400 |61 350 | 57%
EE=fEzE JAC JAC ,800 0 .400 65% .350 62%
& JAC JAC 800 7 400 | 64% 350 | 60%
JAC JAC 800 0 400 | 65% 350 | 62%
& JAC JAC 800 7 400 | 64% 350 | 60%
JAC JAC 800 1 400 | 66% 350 | 62%
3 JAC JAC 800 1 400 | 66% 350 | 62%
3 JAC JAC 800 3 400 | 67% 350 | 63%
Sim% BER JAC JAC ,800 3% 400 67% .350 63%
RR(PHE)H| AiE JTA RAC 69,000 5% 500 58% ,100 52%
EMESE [FHGRH) RAC JAL 69,000 6% 500 | 58% 39100 | 53%
&I RAC JTA 69,000 5% 500 | 58% 39100 | 52%
KR () =5BE| SIMESE | GH) RAC JAL 56,900 4% 28450 | 62% 950 | 58%
KR (B%) =5 3E | KR (ER) *|  HiE JTA RAC 56,900 8% 28450 | 59% 950 | 54%
= ETIC R ) RAC JTA 56,900 4% 28450 | 62% 950 | 58%
&I RAC JTA 56,900 | 18% 28450 | 59% 950 | 54%
AEE(PE)=58E| SIEHR RAC JTA 55,500 1 21,750 65% ,350 61%
53E RAC JTA 53,400 1 26700 | 61% 28,600 | 58%
(BB =5 BE JTA/RAC| RAC 4,400 4 7.200 57% 20,850 48%
RAC_|JTA/RAC 4,400 4 7200 | 57% 20850 | 48%
BR(PH)=AXE JAL _[JTA/RAC 4,800 0 7.400 55% 33,650 45%
JTA/RAC| __JAL 4,800 0% 7.400 | 55% 33650 | 45%
KR () =AKE JAL _[JTA/RAC ,400 9% 700 59% 25,600 52%
JTA/RAC| __JAL 43,400 9% 700 | 59% 25600 | 52%
K (BEE) =AKE JTA [JTA/RAC 43,400 9% 700 59% 25,600 52%
JTA/RAC| _JTA 43,400 9% 700 | 59% 25600 | 52%
BEE (PH) = AKE JTA_|JTA/RAC 48,000 8% 000 | 59% 28,500 1
JTA/RAC| _JTA 48,000 8% 000 | 59% 28,500 1
EBE=AXE JTA _[JTA/RAC ,300 3% 650 2% 21,200 4
JTA/RAC| _JTA 300 3% 7.650 2% 21,200 4
SRR (IER) =318 [P A JAL 56,300 6% 28,150 | 63% 30,950 59%
Al JAL 56,300 6% 28,150 3% 30,950 | 50%
BE =R T Fm) Al JAL 59,800 8% 29,900 4% ,900 61%
# Al JAL 59,800 8% 29,900 4% 900 | 61%
FEHx=%mAl A JAL ,300 1% 150 65% ,950 62%
Al JAL 300 1% 150 | 65% 950 | 62%
ME=%&EH A JAL ,300 6% 150 68% ,950 65%
Al JAL 300 | 36% 150 | 68% 950 | 65%
2EE (PR =8I P Al JAL ,300 3% 150 66% 25450 | 63%
3 Al JAL 46,300 3% 150 | 66% 25450 | 63%
BEE(PE) =Fh | BEE (PR CRA) Al JAL 45,700 3% 850 66% 25150 | 63%
HILR (HH) A JAL 45,700 3 850 66% 25,150 63%
BEE (PER) =1B)I| | REE (P& & CRA) Al JAL 48,100 ,050 65% 26,450 62%
ENIIE: CRA) Al JAL 48,100 ,050 65% 26,450 62%
BEE (PR =g | REE (AR CRA) Al JAL 41,900 20,950 65% 23,050 62%
BHEER | EE(PH) Al JAL 41,900 20,950 65% 23,050 62%
R (AH) =2 [HR(FR) % KE Al JAL 500 | 1 25,750 55% 28,350 50%
BRFE i A JAL 500 0% 25,750 55% 28,350 50%
ABRURF =B | BRH E JA JAL 59100 | 10% 29550 | 55% 32,500 51%




MRl RMENS ERER(AR1B~5A31BERS) JALJTA/JAG/RAC

- am | mamo Srait (B3 INRHE R RAEEIE] SR BRI R EIE|
L) i E T = <
T TR TEES] & E’E; xﬁq wE 4/1-5/31 gufi g wE 4/1-5/31 E’E;i wE
RROCHE)=EW [ EZ(HA) | i (H) JAL [ JTA/RAC 4,050 7 7,050 9 550 44%
ot A b 1E ) JTA/RAC|  JAL 4,050 7 7,050 9 550 44%
RRCHE)=FRIE | "R (HE) [ hEEHR) JAL | JTA/RAC 7,700 9 850 0 ,050 45%
pNAGED) JAL JTA 7,700 7 850 4 050 1%
Giag [ GRE) JTA/RAC| JAL 7,700 9 850 0 050 45
KB (7} =% Bl | KRR () $& | R CHH) JAL JAL 44,750 7 ,400 9 ,400
) JAL JAL 44,750 6% ,400 68 1400
ZiGRR | RRECRE) JAL JAL 44,750 7% /400 69 ,400
TR JAL JAL 44,750 6% ,400 68 1400
K (R8F8) =% Al | KBk (BATE) 5| B CHEA) JAL JAL 44,750 7% ,400 400
I8 (TR JAL JAL 44,750 6% 1400 ) 1400 }
ZiGRIR | ERECRE) JAL JAL 44,750 7% ,400 ) ,400 }
I8 (T3 JAL JAL 44,750 % /400 ) 1400 }
KR () =Re)I | RBR (7D % (HH) JAL JAL 45,900 4% ,950 9 ,100 }
EVIE:S (FH) JAL JAL 45,900 4% ,950 7 7,100 }
KB (BA#8) =he)Il | KBR (BIFE) & (HH) JAL JAL 45,900 4% ,950 7 7,100 }
EVIIE:S (HH) JAL JAL 45,900 4% ,950 7 7,100 Y
KR (7)) =8E% | KR (FFD % (HH) JAL JAL 46,400 % ,200 ? 7,400 0°
SIFRFE (HH) JAL JAL 46,400 % ,200 ? 7,400 0°
KB (Ba#8) =HIE% | Kok (BIFE) & (HH) JAL JAL 46,400 % ,200 ? 7,400 0°
SIERFE (HH) JAL JAL 46,400 % ,200 ? 7,400 0°
KBR () =FI5 | KR (FFD % (HH) JAL JAL 43,200 % ,600 ) 500 }
HFRFE (HH) JAL JAL 43,200 7% ,600 ) ,500 }
KR (B#8) =FI5 | KR (BI#E) & (HH) JAL JAL 43,200 7% ,600 ) ,500 }
FIRFE (HH) JAL JAL 43,200 7% ,600 ) ,500 Y
KR (F7}) =BRfE | KIR (FFD & (HH) JAL JAL ,300 % 650 9 ,200 }
BEER (HH) JAL JAL ,300 % 650 7 ,200 }
KBR (BAF8) =ERfE | KBk (BI#) & (HH) JAL JAL ,300 % 650 7 ,200 }
E CHE) JAL JAL ,300 % 650 70 200 }
CHE) JAL JAL ,100 % 050 7 500 }
CHE) JAL JAL ,100 % 050 7 500 }
CHE) JAL JAL ,100 % 050 7 500 }
% CHE) JAL JAL ,100 % 050 70 500 ;
KB () =Rk | KR (#FD % =z JAL/JAC| JAC ,800 1400 ? 450 }
[ETE: ] JAC [JAL/JAC ,800 1400 ) 450 }
KR(BFH) =BFB[AREFFHE| BEES JAL JAC ,200 ,600 ? ,600 }
BYER BRES JAC JAL ,200 ,600 ? ,600 }
KB () =8% [ KB (FFD #[ 44 GLH) JAL [ JTA/RAC 44,200 4 00 ? 100 554
EEE AT ) JTA/RAC|  JAL 44,200 4 00 ? ,100 55Y%
KBz (BAd8) =& [ KR (BIF) %[ 448 (L) JTA [JTA/RAC 44,200 4 00 ? 100 554
B iR (FRER) JTA/RAC| JTA 44,200 4 00 g ,100 55%
KR () =F1E | XBR(FF) 5 i (REH) JAL | JTA/RAC 47,600 ,800 , ,850 0%
ESEEE:: S8 (RER) JTA/RAC|  JAL 47,600 ,800 , ,850 0%
KR (7)) =F1E | X8R (B#E) 5| i (BRER) JTA [JTA/RAC 47,600 ,800 , ,850 0%
RIEH |4 (R JTA/RAC|  JTA 47,600 ,800 , ,850 0%
2EE (PE) =&E5 | BAE (D) % | ALIRGFR) JAL JAL 42,000 ,000 ) 4,800 }
Zmpl % | ARGTR) JAL JAL 42,000 ,000 ) 4,800 y
Z2HE(PE) ==& AEEhH) %[ @ (BH) JTA [JTA/RAC 45,300 0 48 0 %
EEE AT ) JTA/RAC| JTA 45,300 0 45 750 7
ZHE (P =R1E| 2EE ) % | P (BH) JTA [JTA/RAC 46,500 0 ) 450 0°
ESEEE: SR (RER) JTA/RAC|  JTA 46,500 ,250 , 7,450 0%
FLIE () =/ MR AR Fr T s 5 [ R O JAL JAL ,600 800 0% 200 2%
LS = ) JAL JAL 7,600 800 707 200 2%
AR FFR) —mREE AR FTR) % | Rm ) JAL JAL 6,000 4 ,000 749 250 0%
BfcEER [R5 ) JAL JAL 6,000 4 ,000 749 1250 70%
ALIR BT %) =ML | ALR G i) % | Bm IE) JAL JAL 7,600 4 800 749 200 }
il L1 3% = (HH) JAL JAL 7,600 47 800 749 200 }
IR FTH) =LES[ EFHTH #| HR (FH) JAL JAL 46,000 ,000 6 ,150
INEE: R CHEA) JAL JAL 46,000 ,000 6 7,150
IR HFR) = IWOFH| LREFTFR % | "R (HH) JAL JAL 43,200 4 ,600 7 500
I=ETEAETACT:) JAL JAL 43,200 4 ,600 7 500 7
AR GAFR) =HE[ ARG TR) #| BR(PH) JAL JAL ,500 4 ,250 7 ,700 7
HE = CRH) JAL JAL 500 2 250 7 700 7
IR FHTFR) =ES[ ARG TR | R CHEH) JAL JAL 40,100 4 0,050 7. 50 7
BER SFIH) JAL JAL 40,100 4 0,050 7 1650 7
FLIR (BT i) = S AR AL T 8 % FIH) JAL JAL 41,000 4 0,500 7 4,200
BT SFIH) JAL JAL 41,000 4 0,500 7 4,200
WRGEFFR) =S5 [ RFTR % FIH) JAL JAL 42,600 4 ,300 7 50
B FIH) JAL JAL 42,600 4 ,300 7 50
ALIR (BT %) = AL ALIR (T %) FIH) JAL JAL 44,900 450 ,500 4
NINE;: SFIEH) JAL JAL 44,900 450 500 4
AREFFR) =AM AR FFR) % SFIH) JAL JAL ,800 4 ,900 0,550
JEAMFE 1) JAL JAL ,800 4 00 7 0,550
FLIR (BT F %) = K9 AL T8 % FIH) JAL JAL 43,200 44 ,600 500
KR = (HH) JAL JAL 43,200 44 ,600 7 500 7
IR FTH) =RE[ L FTR % | HR (FH) JAL JAL 45,300 44 50 7 ,750 7
5 = (HH) JAL JAL 45,300 44 50 7 750 7
IR F T =AU F TR #| HR (FH) JAL JAL 44,200 44 ,100 7 ,100 7
RER 5 R CHEA) JAL JAL 44,200 44 ,100 7 ,100 7
IR FTH) == EF TR % | HR (FH) JAL JAL 45,300 4 50 7 ,750
ELE: HCEHA) JAL JAL 45,300 42% 650 71% ,750
IR F TR =ERS | ARGTR %] /s CRE) JAL JAL 0,400 % ,200 % 750
BR RCREA) JAL JAL 0,400 % 200 % 750
AR EF ) =+ G | 1R ) % | A CHA) JAL JAL 7,400 % ,700 % 0
KR (£ JAL JAL 7,400 % ,700 % 0 0
pNAG D) JAL JTA 7,400 % ,700 % 0 0
B E () JAL JTA 7,400 % ,700 % 0 0
& JAL JTA 7,400 % ,700 % 0 2
PR GIRER) % [ B CRHE) JAL JAL 7,400 % ,700 % 0 9
pPNACGEE)) JAL JAL 7,400 % ,700 % 0 0
pNAG D) JTA JAL 7,400 % ,700 % 850 0
B () JTA JAL 7,400 % ,700 % 850 0
& JTA JAL 7,400 % ,700 % 850
IR (FF%) =RE [ ARFETH | HHE GIH) JAL JT. 7,100 % 550 8% 600
RiEH = CRHE) JTA JAL 7,100 % 550 8% 1600
& =5l 12E H HCEEA) JAL JAL 7,400 4% ,700 7% 0
LIR (37 F %) JAL JAL 7,400 9% 700 5% 0
Zinpl % [ HECRE) JAL JAL 7,400 4% 700 7% 0
IR (3 F 5 JAL JAL 7,400 9% 700 % 850
=18 &k = CRH) JAL JAL 00 7% 00 % ,600
A} = (HH) JAL JAL 00 7% ,800 % 1600
1= =g & = CRH) JAL JAL 00 7% ,800 % ,600
FIES = CRH) JAL JAL 00 7% 00 % ,600
=I5 &k HCEEA) JAL JAL 00 6% 00 % ,600
R R CRHE) JAL JAL 00 6% 00 % 00 %




MRl RMENS ERER(AR1B~5A31BERS) JAL/ITAZIAG/RAG

- cano | mame sEadt (B3 INRHE R RAEEIE] SR BRI R EIE|
N & & < - <
4/1-5/31 m % 4/1-5/31 m % 4/1-5/31 m %
KR | KEQ | XEQ EEIES EEIES HEIES
12 =R E|E%E |[ER(HEH) JAL JAL ,600 1% ,300 050
PNTACEE)) JAL JAL ,600 3% ,300 050 4
HEER [EE(EHA) JAL JAL ,600 1% ,300 050
PGS JAL JAL ,600 3% ,300 ,050 4
EBE=FH E|E%E |[ER(CHH) JAL JAL 47,100 7% 550 ,800
) JAL JAL 47,100 8% 550 4 7,800
) JAL JAL 47,100 7% 550 7,800
) JAL JAL 47,100 8% 550 4 7,800
2 ) JAL JAL 46,500 7% ,250 7,450
) JAL JAL 46,500 1% 250 59 7,450
) JAL JAL 46,500 7% 250 ) 7,450 }
) JAL JAL 46,500 % 250 ) 7,450 y
BE =7 ) JAL JAL 45,500 % ,750 ) 850 Y
) JAL JAL 45,500 % 750 ) 850 ;
EE=FHE ) JAL JAL 43,500 % ,750 ) ,650 Y
) JAL JAL 43,500 9% 750 ) 650 }
) JAL JAL 43,500 7% 750 ) 650 }
) JAL JAL 43,500 % 750 ) 650 }
&=Lk ) JAL JAL 40,100 % 0,050 ) 650 0%
) JAL JAL 40,100 4% 0,050 9 650 1
) JAL JAL 40,100 % 0,050 6" 650 0%
) JAL JAL 40,100 4% 0,050 70 650 1
wBE=%H ) JAL JAL 41,500 % 0,750 45 4,500 7
) JAL JAL 41,500 7% 0,750 49 4,500 7
2 =/Ma ) JAL JAL 7,900 42% ,950 9 ,350 Y
) JA JAL 7,900 42% 950 71" 350 y
wBE=E%H ) JTA [JTA/RAC ,100 % 550 9 ,050 4
) JTA/RAC| JTA ,100 % 550 5 050 4%
wEE=hiE ) JTA [JTA/RAC 800 0% 00 ) ,500 Y
JTA/RAC| JTA 800 0% ,900 ) 00 }
KimR =Te% JAL JAL 0,900 41% 450 0% 50 Y
JAL JAL 0,900 41% 450 707 250 }
Zimg=1a JAL JAL ,000 43% ,000 719 ,900 }
JAL JAL ,000 4 ,000 7 ,900 }
ESCEIEE ] JAL JAL ,200 4 ,600 719 ,600 %
JAL JAL ,200 4 600 71" 600 }
ESCEIRUNA ) JAL JAL 42,400 40 200 707 ,000 }
) JAL JAL 42,400 40 200 707 ,000 }
X3 =Fft iR ) JAL JAL 46,300 4 ,150 719 ,300 }
Zim A =Rl ) JAL JAL 46,300 4 ,150 719 7,300 }
) JAL JAL 46,300 4 150 71" 7,300 y
SRR ) JAL JAL 49,100 4,550 70% ,950 4Y
) JAL JAL 49,100 4,550 67" 950 }
) JAL JAL 49,100 4,550 707 950 2%
) JAL JAL 49,100 4,550 67" 950 }
T =HE ) JAL JAL 46,200 4 ,100 719 1250 %
) JAL JAL 46,200 4 ,100 71" 7,250 y
Zima =l ) JAL JAL 0,900 450 ? 0,050 }
) JAL JAL 0,900 450 ? 0,050 }
s =hiE ) JAL JTA ,900 4 ,950 9 43,600 }
) JTA JAL 73,900 4 950 7 43,600 }
TEN=/1M2 ) JAL JAL 44,400 200 8% 200 }
) JAL JAL 44,400 200 8% 200 }
BII=FfEE ) JAL JAL 46,300 40 ,150 0% ,300 4Y
) JAL JAL 46,300 40 150 707 7,300 2%
JEJI=FEh ) JAL JAL 46,300 4 150 707 7,300 }
) JAL JAL 46,300 4 150 707 7,300 }
TBII=HE ) JAL JAL 44,700 42% ,350 7 6,350
) JAL JAL 44,700 42% 350 7 6,350
JBJII=#xl ) JAL JAL 0,900 % 450 0,050
) JAL JAL 0,900 % 450 0,050
EN=%h1E ) JAL JTA ,900 % ,950 42,400
) JTA JAL 71,900 % ,950 42,400
FIER =/ ) JAL JAL 43,700 % 850 00
) JAL JAL 43,700 % 850 800
Sl =mfcaE ) JAL JAL 46,300 % ,150 0 ,300 4
) JAL JAL 46,300 % ,150 70 7,300 2
FEx =Ml ) JAL JAL 46,300 40% ,150 70 7,300
) JAL JAL 46,300 40% 150 70 7,300
SR =155 ) JAL JAL 49,100 7% 4,550 6 1950
) JAL JAL 49,100 7% 4,550 6 950
R =HE ) JAL JAL 44,700 41% ,350 7 ,350
) JAL JAL 44,700 41% 350 7 350
FEx=#xl ) JAL JAL 0,900 % 450 0,050
) JAL JAL 0,900 % 450 0,050
fIER="H1E ) JAL JTA ,500 % ,750 42,200
) JTA JAL 71,500 % ,750 42,200
wh=/M ) JAL JAL 43,200 % ,600 500
) JAL JAL 43,200 % 1600 500
L=t aE ) JAL JAL 46,300 % ,150 ,300 4
) JAL JAL 46,300 % ,150 % 7,300 4
L =FEl ) JAL JAL 46,300 40% ,150 0% 7,300 4
) JAL JAL 46,300 40% 150 70% 7,300 4
wh=HE ) JAL JAL 44,700 41% ,350 70% 6,350
) JAL JAL 44,700 41% 350 70% 6,350
L= ) JAL JAL 0,900 % 450 % 0,050
) JAL JAL 0,900 % 450 % 0,050
wh=F1E ) JAL JTA 0,900 % 450 % 41,850
) JTA JAL 70,900 % 450 % 41,850 2
BEE=/Ma ) JAL JAL ,100 41% 550 % 0,700 5%
) JAL JAL ,100 41% 7,550 71% 0,700 5
BEE=FfeEE ) JAL JAL 45,300 % ,650 % 6,750 0
BEE=MW0 ) JAL JAL 46,300 % ,150 % 7,300 0
) JAL JAL 46,300 % 150 % 7,300 0
HE=IL5 ) JAL JAL 49,100 0% 4,550 % 50
) JAL JAL 49,100 0% 4,550 % 1950
HE=HE ) JAL JAL 43,700 % 850 % 800
) JAL |JAL/JAC 43,700 % .850 % 00 0
SFIH) JAL JAL 43,700 % 850 % 00 2
F1) JAL/JAC| JAL 43,700 % ,850 % ,800 0
BfE=#20 SFIE) JAL JAL 49,800 0% 4,900 % 400
1) JAL JAL 49,800 0% 4,900 0% 400
TS SFIE) JAL JAL 49,800 0% 4,900 5% 400
1) JAL JAL 49,800 0% 4,900 0% 400
BEE=L M AR R SFIE) JAL JAL ,600 1% ,300 6% 050 %
JEAMRE [Ez=CRE) JAL JAL ,600 1% ,300 6% 050 %




MRl RMENS ERER(AR1B~5A31BERS) JALJTA/JAG/RAC

- am | mamo Srait (B3 INRHE R RAEEIE] SR BRI R EIE|
L) i E T = <
R T EEa] Y E’E; xﬁq wE 4/1-5/31 s’ﬁ; g wE 4/1-5/31 ﬁg wE
HEE=K% BHER [ERE(HH) JAL JAL 41,700 44% 0,850 72 4,600 7
PNTACEE)) JAL JAL 41,700 6% 0,850 68 4,600 2
A% [EZ(H) JAL JAL 41,700 44% 0,850 72 4,600 7
PGS JAL JAL 41,700 6% 0,850 68 4,600 2
iR =R HEER [EE(HHA) JAL JAL 43,700 45% 0 72 ,800 7
PGS JAL JAL 43,700 40% 0 70 800 4
RE%E [EZ(H) JAL JAL 43,700 45% 0 72 800 7
PNTACEE)) JAL JAL 43,700 40% 850 70 800 4
BHfE=REA HEER [EE(HHA) JAL JAL 43,200 43% ,600 7 500 7
RBR (FFFH JAL JAL 43,200 % ,600 6 500 4
EAR%E [ERE(HEH) JAL JAL 43,200 43% ,600 729 ,500 7
PNACEE)) JAL JAL 43,200 % ,600 69 500 4%
HEE=E WER [EE(CHEH) JAL JAL 43,200 43% ,600 729 ,500 7
PNACGEE)) JAL JAL 43,200 % ,600 69 500 4%
EER [HECRHE) JAL JAL 43,200 43% ,600 729 ,500 7
PNACGEE)) JAL JAL 43,200 % ,600 69 500 4%
HE=ERE HER [EECHEHA) JAL JAL 44,200 44% ,100 729 ,100 7
PNACEE)) JAL JAL 44,200 40% ,100 707 ,100 5%
EREE [Ex(HH) JAL JAL 44,200 44% ,100 729 ,100 7
| KBR (7D JAL JAL 44,200 40% ,100 707 ,100 }
HEE=FH1E BEEF = ) JAL JTA ,000 4% 500 67" 550 }
RiEHE ) JTA JAL 7,000 4% 500 67" 550 y
BFH=/I EHE ) JAL JAI 2,900 44% 450 729 400 }
IMRFE ) JAL JAL 2,900 44% 450 72 400 7%
Bl ESER EHE ) JAL JAL 7,000 44% ,500 729 850 7
BfcEES ) JAL JAI 7,000 44% ,500 729 850 7
HEHR=MW EHE ) JAL JAL 7,000 45% ,500 73% 850 8¢
[EE: ) JAL JAL 7,000 45% 500 73 850 8%
EH=LE EHE ) JAL JAI 8,100 44% 050 729 ,500 7
LE% ) JAL JAL 8,100 44% 050 729 ,500 7
EH=LOFH EHRE ) JAL JAL 40,100 45% 0,050 729 650 7
M=k ) JAL JAI 40,100 45% 0,050 72 650 7
EHR=HE BEHE ) JAL JAL 7,900 43% ,950 719 ,350 Y
) JAL [ JAL/JAC 7,900 950 707 350 2%
HE ) JAL JA| 7,900 4 950 71" 350 }
) JAL/JAC| JAL 7,900 950 707 350 2%
EH=HE & ) JAL JAL 5,000 4 ,500 749 0,650 }
BE ) JAL JAL 5,000 4 7,500 749 0,650 %
EH=mk &5 ) JAL JAL 7,000 4 ,500 729 0 %
IS ) JAL JAL 7,000 4 500 72 850 7%
ER=mA &5 ) JAL JAI ,100 4 ,050 729 ,500 7
= ) JAL JAL ,100 4 ,050 729 ,500 7
FH=tul HH ) JAL JAL ,100 4 ,050 73% ,500 h
) JAL JA ,100 050 68" 500 }
LT ) JAL JAL 00 45 050 73 500 }
) JAL JAL 00 7 050 ) 500 }
HEHR=IAM i ) JAL JAI 47,100 7 550 ? ,800 }
JE AN ) JAL JAL 47,100 7 550 X 7,800 %
BEHR=KS & ) JAL JAL 40,100 4 0,050 ? 0 %
) JAL JA 40,100 0,050 68" 0 }
AR%FE |[ER(PH) JAL JAL 40,100 4 0,050 73 0 }
EH=RE R [Em(H) JAL JAL 43,200 44 ,600 729 ,500 }
RBR (FFD JAL JA 43,200 ,600 69" 500 2%
RIBEFE [RR(CEHE) JAL JAL 43,200 44 ,600 729 ,500 7
RBR (FFD JAL JAL 43,200 ,600 69 500 2%
BEHR=RBX R [E=(BH) JAL JAI 41,700 44 0,850 729 4,600 7
RBR (FF JAL JAL 41,700 0,850 69" 4,600 2%
EA%E [RR(EH) JAL JAL 41,700 44% 0,850 7 4,600 7
RER (FFD) JAL JAL 41,700 % 0,850 6 4,600 4
EH=2K EHRX [E=(H) JAL JAL 41,700 44% 0,850 7 4,600 7
RER (FFD JAL JAL 41,700 % 0,850 6 4,600 4
ECE I VACET)) JAL JAL 41,700 44% 0,850 7 4,600 7
RBR (FFD JAL JAL 41,700 % 0,850 6 4,600 4
ER-ERE R E S EEE) JAL JAL 43,200 44% 00 7 500 7
RER (FFFD JAL JAL 43,200 % ,600 70 500 4
EREEX [Ex(EH) JAL JAL 43,200 44% ,600 72 500 7
KBR (1) JAL JAL 43,200 % ,600 70 500 2
EH=HAE & R CRH) JAL JTA ,700 % ,350 67 1350
RiE ) JT. JAL ,700 % 350 67 350
ZiR=/ R =) ) JAL JAL ,900 43% 450 7 400
A ) JAL JAI 1900 43% 450 7 400
ZR=mfkak =R ) JAL JAL ,000 44% 500 7 1850
Bt e RS ) JAL JAL 7,000 44% 500 7 1850 7
ZR=FE0 =R ) JAL JA 7,000 45% 500 7 850 7
il Ly ) JAL JAL 7,000 45% 500 7 850 7
=R=LB& =] ) JAL JAL 8,100 44% 050 7 500 7
L5 ) JAL JAL 8,100 44% ,050 7 500 7
ZR=WOFE =R ) JAL JAL 40,100 44% 0,050 7 650 7
I=E3TE3 ) JAL JAL 40,100 44% 0,050 7 650 7
ZR=HE B IE ) JAL JAL ,000 40% 500 70 ,000
b ) JAL [ JAL/JAC ,000 9% 500 69% ,000 4
EXE ) JAL JAL ,000 40% ,500 70% ,000
X ) JAL/JAC| JAL ,000 9% 500 69% ,000 4
=R=8& =R RFECREA) JAL JAL ,000 47% 500 74% 0,650
[ E AL JAL JAL ,000 47% 7,500 74% 0,650
SR=a#k =R A CRE) JAL JAL ,000 44% 500 72% 0
[N HRCREA) JAL JAL 7,000 44% 500 72% 0 7
=R=&H =R HRCREA) JAL JAL 7,000 46% 500 73% 0 8
=l A CRE) JAL JAL 7,000 46% 500 73% 850 8
ZiR=#1 =R [ == CRE) JAL JAL ,100 45% 050 72% 500 7
KR (D JAL JAL 00 % 050 69% 500 3
wiL%  [Rz(EH) JAL JAL 100 45% 050 72% 500 7
RIR (D JAL JAL 100 % 050 % 00
ZR=JAM ZR%E [HER(EH JAL JAL 46,500 % 250 % 450
EAMFE [ERCHE) JAL JAL 46,500 7% 250 % 7,450
ZR=X% ZR%E [HR@EH) JAL JAL 40,100 45% 0,050 % 650
KR (D JAL JAL 40,100 7% 0,050 69% 650
A% [RR(EH) JAL JAL 40,100 45% 0,050 72% 650
KR (D JAL JAL 40,100 7% 0,050 69% 650
ZIR=KK BV EV-IC)) JAL JAL 43,200 44% ,600 72% 500
KR (D JAL JAL 43,200 9% 1600 70% 500 4
RIEFE [EZ(H) JAL JAL 43,200 44% ,600 72% 500 7
KR (D JAL JAL 43,200 9% 1600 70% 500 4
ZR=F&X ZR% [Ez(EH) JAL JAL 41,700 44% 0,850 72% 4,600 7
pPACGEE)) JAL JAL 41,700 9% 0,850 70% 4,600 4%
BA%E [Rz(EH) JAL JAL 41,700 44% 0,850 72% 4,600 7%
KR (75 JAL JAL 41,700 9% 0,850 70% 4,600 4%




MRl RMENS ERER(AR1B~5A31BERS) JALJTA/JAG/RAC

- am | mamo Srait (B3 INRHE R RAEEIE] SR BRI R EIE|
L) i E T = <
T TR TEES] & E:E\J;im? wE  |4/1-5/31 g@g wE | 4/1-5/31 E’E;i wE
ZIR=E& ZR% [ER(EH) JAL JAL 41,700 44 0,850 72 4,600 7
PNTACEE)) JAL JAL 41,700 39 0,850 70 4,600 4
BER [FEECRE) JAL JAL 41,700 44 0,850 72 4,600 7
PGS JAL JAL 41,700 39 0,850 70 4,600 4
ZIR=EREB ZR% [ERE(EH) JAL JAL 43,200 44 ,600 72 500 7
PGS JAL JAL 43,200 40 ,600 70 500 5%
EREE [Ex(HH) JAL JAL 43,200 44 ,600 72 500 7%
[ KBR (FFFD) JAL JAL 43,200 40 ,600 70 500 5
ZR=RE ZR% = CRH) JAL JT) ,700 3% 50 66 0 0
RiEHE (CRH) JT JAL ,700 % 50 66 0 0%
FE=/MR FEF (HH) JAL JAL ,800 % 00 704 0 4
IMRFE CHE) JAL JAI ,800 % 00 707 750 4%
MHE=FaE FAEF (HH) JAL JAL ,900 45% 450 73% 400 }
BfcEES (HH) JAL JAL ,900 45% 450 73% 400 Y
FE=MW FAEF (FH) JAL JAL ,800 45% ,900 729 ,950 Y
[EIIES CHE) JAL JAL ,800 45% ,900 72 950 7%
MHE=L8 FEF (HH) JAL JAL ,000 44% 00 729 0,650 7
LE% (HH) JAL JAL ,000 44% 7,500 72¢ 0,650 7
MEA=LOFH [ AR (HH) JAL JAL ,900 41% 450 71 ,950 Y
I=ESTE (HH) JAL JAL ,900 41% 450 719 ,950 Y
MHE=HE REFE [ HREHR) JAL JAL ,900 45% 450 73" 400 Y
ABR (£ F1) JAL _[JAL/JAC ,900 44% 450 725 ,400 %
HER [HZCRHE) JAL JAL ,900 45% 450 73 400 8%
| RBR (51 JAL/JAC| JAL ,900 44% 450 72 400 7%
MHE=#5 AR |[HERCEHA) JAL JAL ,200 45% 00 73% ,600 }
BERE [HR(EHA) JAL JAL ,200 45% ,600 73% ,600 Y
MHE=2% (A% | HRECHA) JAL JAL ,000 42% 00 719 0,650 }
S A E GG JAL JAL ,000 42% 7,500 71" 0,650 }
MHE="H E=EE ESICE:)) JAL JAL ,300 44% 7,650 729 0,850 }
A E GG JAL JAL ,300 44% 7,650 72 0,850 7%
FE=#0 (A% |EZECHEA) JAL JAL ,000 42% ,500 71 0 Y
PNACEE)) JAL JAL 7,000 4% 500 67" 0 }
RILE  [ERGIH) JAL JAL 7,000 42% 500 71" 0 y
RBR (FFFH JAL JAL 7,000 Y 500 7 0 }
FE=JAM AR |[HFCHHA) JAL JAI 43,500 ,750 8 0 %
EAMFE [ERCHE) JAL JAL 43,500 7 750 8 650 }
ME=X% MEARX [ERCEH) JAL JAL 40,000 4 0,000 0 ,600 %
RBR (FFD JAL JA 40,000 0,000 66" ,600 7
ANH [HR(EHE) JAL JAL 40,000 4 0,000 707 1600 y
HE=R& MHEFE [ERRCEH) JAL JAL 43,700 850 9 ,800 4Y
RBR (FFD JAL JA 43,700 Y 850 70 800 }
RIBEFE [RR(CEHE) JAL JAL 43,700 850 9 ,800 4Y
pNACGEE)) JAL JAL 43,700 Y 850 70 800 }
FHE=FEX MEE [ERR(EH) JAL JAI 41,200 40 0,600 0% 4,300 }
RBR (FFFD JAL JAL 41,200 5 0,600 67" 4,300 }
EBA%E [ER(EH) JAL JAL 41,200 40 0,600 70% 4,300 }
RBR (FFD JAL JA 41,200 5 0,600 67" 4,300 }
ME=2 MHEE [ERR(EH) JAL JAL 41,200 40 0,600 70% 4,300 }
RBR (FFD JAL JAL 41,200 5 0,600 67" 4,300 }
ECEIESACEED) JAL JA| 41,200 40 0,600 70% 4,300 %
pNACGEE)) JAL JAL 41,200 0,600 7 4,300 }
MH=ERS MHEFE [ERRCEH) JAL JAL 43,700 850 9 00 4Y
RBR (FFD JAL JA 43,700 850 70 00 }
EREE [Ex(EH) JAL JAL 43,700 850 9 ,800 4Y
pNACGEE)) JAL JAL 43,700 850 70 800 }
MEA=FRE | _ #A HR(HHE) JAL JTA ,700 ,350 X 50 %
=E] R CRE) JTA JAL 700 350 350 }
EE=HE | & KB (R F) JAL _[JAL/JAC ,300 % 650 1000 4
= pNACGEE)) JAL/JAC| JA 7,300 % 650 ,000 4
fes =l biE) pNACGEE)) JAL JAL 7,500 % ,750 0
[ KR (FFD JAL JAL 7,500 % 750 0
EBE=K% 1E% KBR (fFFD JAL JAL ,600 % 800 0
X% AR (R JAL JAL ,600 % 800 0
EE=RK s KR (FFD JAL JAL 42,700 % 350 1200
R AR (R JAL JAL 42,700 7% 350 1200
TEBE=RX biEE) KBR (FFFD JAL JAL 41,100 % 0,550 4,250
REAR pNACGEE)) JAL JAL 41,100 % 0,550 4,250
EE=2K i) KB (FFD JAL JAL 46,500 % ,250 450
2 ] JAL _[JAL/JAC 46,500 % 1250 7,450
BB [ XREED JAL JAL 46,500 % ,250 7,450
2 ] JAL/JAC| JA 46,500 % ,250 7,450
EE=ERE EER [ KXRERD JAL JAL 42,700 % ,350 5,200 4
BERE%E | ARGFD JAL JAL 42,700 % 1350 5,200 2
Wiz =k iz ) JAL JAL 0,400 0% .200 7,950
A ) JAL JAL 0,400 0% 200 7,950
LT =FelLL I ) JAL JAL ,900 7% 450 9,400
L ) JAL JAL ,900 7% 450 9,400
I =1E8 I ) JAL JAL ,900 % ,950 0,000
NE) ) JAL JAL ,900 % ,950 0,000
Wifg=1LA=FE | 1L ) JAL JAL ,100 4% ,050 2,500
I=E3TE3 ) JAL JAL ,100 4% ,050 7% 2,500
I == 2 E ) JAL JAL ,900 4% ,950 7% 0,000
X ) JAL |JAL/JAC .900 41% .950 0% 0,000
HEX [ExCRH) JAL JAL ,900 4% ,950 67% 0,000
PN F1) JAL/JAC| JAL ,900 41% ,950 70% 0,000
W= L HRE (HH) JAL JAL ,900 % 450 % 1400
& R (HH) JAL JAL ,900 % 450 % 400
Lz == iT] HRCREA) JAL JAL ,900 % 450 % 400
= HRCREA) JAL JAL ,900 % 450 % 400
ILfz == Il E AL JAL JAL ,900 % ,950 % 0,000
=31 R CRE) JAL JAL ,900 7% 1950 % 0,000
Lz =H 0 iTA ESIEEED) JAL JAL ,900 % ,950 % 0,000
KR (£ JAL JAL ,900 % ,950 % 0,000 4
PNTE N FV-{CET=:)) JAL JAL ,900 % ,950 % 0,000
KR (D JAL JAL ,900 % 1950 % 0,000 4
Lz =LA W% [Hm CRE) JAL JAL 40,100 % 0,050 % 650 0
JEAMRE [H=CRE) JAL JAL 40,100 % 0,050 % 650 0
g =K% W% [H=CRE) JAL JAL ,100 % 550 % 050 1
KR (75 JAL JAL ,100 % 550 6% 050 0
X% [RE(EH) JAL JAL ,100 % 550 7% 050 1
KR (75 JAL JAL ,100 % 550 6% 050 0
iz =R Wiz [RRCRE) JAL JAL 42,200 % ,100 6% 4,900 0
KR (5 JAL JAL 42,200 % ,100 7% 4,900 1
RIBERX [RR(EH) JAL JAL 42,200 % ,100 6% 4,900 0
KR (75 JAL JAL 42,200 % ,100 7% 4,900 1%
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- EEO R RAEEIS| RIRMEIS| SR BRI R EIE|
% £ < - <
BESEON 4/1-5/31 E’E; xﬁq 4/1-5/31 s’ﬁ; g E’E;i wE
ILf=FEA itZ3 ) JAL 0,100 3% 0,050 66! X 0
2)) JAL 40,100 5% 0,050 68! X 2
33 H) JAL 40,100 3% 0,050 66! X 0
2)) JAL 40,100 5% 0,050 68! X 2
WL =2 & itZ3 £2)) JAL 40,100 3% 0,050 66! X 0
2)) JAL 40,100 5% 0,050 68! X 2
BT H) JAL 40,100 3% 0,050 66! X 0
2)) JAL 40,100 5% 0,050 68! X 2
IW=ERE [i}Z3 H) JAL 42,200 % ,100 4, 0
F+) JAL 42,200 % ,100 4, 2
BREX H) JAL 42,200 % ,100 ? 4, 0¢
F+) JAL 42,200 % ,100 9 4, y
Iz =H1E ;23 H) JAL ,700 % 350 5 ) 48
RIEHE SFIH) JTA ,700 % 350 5 ) 48
e =HE F}) JAL ,900 41% 450 X ] Y
1) JAL/JAC ,900 41% 450 71% , 5
e =#xil F}) JAL L ,000 % ,500 X , Y
) JAL L ,000 % 500 7 I y
B =X% F}) JAL L ,000 4% ,500 7 , Y
1) JAL L 7,000 4% ,500 78 , Y
e =R F}) JAL L 40,100 % 0,050 ) ) Y
) JAL L 40,100 7% 0,050 ) I y
) JAL L 8,100 7% 9,050 ) ] y
) JAL L 8,100 7% 9,050 ) ] y
) JAL L 40,100 4% 0,050 9 I y
) JAL L 40,100 4% 0,050 70 I y
) JAL L 40,100 % 0,050 ) I y
) JAL L 40,100 % 0,050 ) I y
FR=HE F}) JAL A ,800 45% ,900 L \ Y
1) JAL/JAC L .800 45% 00 72% , 7%
FR=l F}) JAL L ,900 % 450 X ] Y
) JAL L ,900 % 450 ) ; y
FR=K% F}) JAL L ,000 % ,500 X , Y
) JAL L ,000 500 ) I y
FR=R& ) JAL L ,100 ,050 ? , %
) JAL L ,100 050 ? ] y
FR=RX ) JAL L ,000 ,500 X , %
) JAL L 7,000 7 500 ? , y
FR=2K ) JAL L 7,000 7 ,500 X , %
Ft) JAL L 7,000 7 500 ? , y
TR=ERE ) JAL L ,100 ,050 0% , 4
) JAL L ,100 050 707 \ 48
INR=FEL FIH) JAL L ,800 4 ,900 71" X y
) JAL L ,800 4 00 71" ! y
IMA=IEE FIH) JAL L 4,700 4 0 719 . %
FIH) JAL L 4,700 4 0 71" ; y
MR=ILOFS FIH) JAL L ,900 450 69" , 4
FIH) JAL L ,900 450 69" , 48
MR=HE 1) JAL L ,400 4 200 72 ) y
FIH) JAL L ,400 4 200 72 ) y
IMR=TEE FIH) JAL L ,200 4 ,600 719 , %
FIH) JAL L ,200 4 1600 71" I y
INR=FH FIH) JAL L ,200 4 ,600 719 , %
) JAL L ,200 4 600 71" I y
A= FIH) JAL L ,300 4 650 70% 0, %
FIH) JAL L ,300 4 650 707 0, }
INR=HAL FIH) JAL L ,900 4 950 707 ; }
SFIH) JAL L ,900 41% ,950 70 ;
INR=TERMW SFIH) JAL L ,900 42% 950 7 )
1) JAL L 7,900 42% 950 7 )
IMNR=K5 SFIH) JAL L 40,000 % 0,000 I
FIH) JAL L 40,000 % 0,000 I
IMNE=RIG FH) JAL L 43,700 % 850 ]
SFIH) JAL L 43,700 % 850 i
INR=FER FIH) JAL L 41,200 % ,600 4,
FIH) JAL L 41,200 7% 600 4,
INR=E I FIH) JAL L 41,200 7% ,600 4,
FH) JAL L 41,200 7% ,600 4,
IMA=FERS FH) JAL 43,700 % 850 ]
2 (HH) JAL 43,700 % 850 i
MA=EH 8 (B H) JTA ,100 % 550 )
SR (RER) JTA/RAC 7,100 % 550 ]
NA=F1E R CRE) JAL 500 % ,250 )
8 (B H) JTA 500 7% ,250 4 ) 45
R CRE) JTA 500 27% 250 ) 7
S8 (BRER) JTA/RAC ,500 7% ,250 4 .
FEL=2 (A %) JTA 44,200 4% ,100 .
% (BB 3R) JTA/RAC 44,200 4% ,100 ]
=518 8 (FR%R) JTA 49,800 % 4,900 . 4
%2 (AR2R) JTA/RAC 49,800 % 4,900 ] 4
BH=2k JAL ,500 41% 4,250 % ]
JAL/JAC 500 41% 4,250 71% i
BEXE=5H BE JAC J 0,200 % 0,100 66% ,
BER JAC J 0,200 % 0,100 66% X 7
BEXB=1"XRE JAC J 7,300 48% 8,650 74% I 7
X JAC J 7,300 48% 8,650 74% K 7
SRR E) =F % | PREE % SFIH) JAL JAL 46,600 41% ,300 71% ,
) JAL JAL 46,600 41% ,300 71% 7,
R FIH) JAL JAL 46,600 41% ,300 71% 7,
BN 1) JAL JAL 46,600 41% ,300 71% 7,
SRR (GRE) = =R P4 GIRB) %[ s CRME) JAL JAL 47,800 % ,900 70% 8, 4
£ ) JAL JAL 47,800 % ,900 70% 8, 4
PR (E) =TE | HE@BH) X[ ER ) JAL JAL 46,300 % 150 % 7,
) JAL JAL 46,300 9% ,150 % 7, 4
PLES = CRH) JAL JAL 46,300 7% 150 % 7,
1) JAL JAL 46,300 % 150 % 7, 4
SRHRCIRE) =72 | PR (B8 & ) JAL JAL 47,300 % 650 0% 7, 4
2 JT. JAL 47,300 42% 650 71% 7,
EER [ KR JAL JAL 47,300 % 650 70% 7, 4
JAL JTA 47,300 42% 650 71% 7,
SRHR IR =1L | P (BT & FIH) JAL JAL 46,300 % ,150 4% 7,
) JAL JAL 46,300 % ,150 9% 7,
[iZ3 SFIE) JAL JAL 46,300 % ,150 4% 7,
) JAL JAL 46,300 % 150 9% 7,
SRR CIRE) =(LE | GRE) % ) JAL JAL 45,500 3 750 9% 7
=E JTA JAL 45,500 43% ,750 1% b
e [XERE”D JAL JAL 45,500 3 750 69% b
i JAL JTA 45,500 43% ,750 71% b
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- am | mamo (B3 INRHE R RAEEIE] SR BRI R EIE|
B * = BEH BEH BEH
KD 4/1-5/31 | i "E 4/1-5/31 | izl & 4/1-5/31 | gmi &
PR G E) =/Ma H CRE) JAL ,900 5% ,950 67 7,100
e CRE) JAL ,900 5% ,950 67 7,100
PR (IR =20 = JTA 500 42% 750 7 9,750
& JAL 500 42% 750 7 9,750
PR (IR ER) =4l 2 JTA ,800 45% 4,900 7 7,600
2 JAC 800 45% 1900 7 7,600
TR CRE) =kRi% ABR (fFF1) JAL ,700 5% 850 ,250
HE JAL 7,700 8% 850 ,250
PGS JAC 7,700 5% 850 250
HE JAC 7,700 % 850 250
HR(FE) =BERS BRE JAL 46,700 % ,350 ? 550 0°
PNACER)) JAL 46,700 % 350 49 7,550 8%
BER JAC 46,700 % 350 ) 7,550 0%
pNACGEE)) JAL 46,700 % 350 49 7,550 ;
RRCRE) =ERS BRES JAL 47,000 4% ,500 9 7.750 }
BEAE JAL 47,000 % ,500 24 7,750 }
ERE JAC 47,000 4% 500 7 7,750 }
BEAE JAC 47,000 % ,500 9 7,750 Y
RRCRE) =28 BRES JAL 47,200 % ,600 ) 7,850 }
BEAE JAL 47,200 % ,600 ) 7.850 }
BERE JAC 47,200 % 00 ) 7.850 }
BEAE JAC 47,200 % ,600 X 7,850 Y
R (FE) =#KkRE BERE JAL 48,300 % 4,150 ) ,500 Y
BERE JAC 48,300 7% 4,150 ) ,500 Y
RRCHA)=5# | & BERS JAL 48,700 % 4,350 , 750 Y
BERE JAC 48,700 % 4,350 ) ,750 }
KR () =&ZKE BERE JAL ,500 % ,250 9 550 }
BERE JAC ,500 % ,250 7 550 Y
AR () =ER 8 BERE JAL 40,100 0% 0,050 ) 1650 Y
BEAE JAL 40,100 2% 0,050 9 1650 4
BERE JAC 40,100 0% 0,050 ) 1650 Y
BEAE JAC 40,100 2% 0,050 9 1650 4
AR () =28 BRES JAL 42,200 0% ,100 ) 4,900 }
= JAL 42,200 4 ,100 9 4,900 55Y%
BERE JAC 42,200 0 ,100 ) 4,900 59%
BEXE JAC 42,200 4 ,100 ? 4,900 554
RIR () =4k RED BERE JAL 42,800 1400 ) 250 0%
BEXE JAL 42,800 1400 45 ,250 7
BEXE 5% JAL 42,800 4 ,400 ? ,250 6%
BERE JAC 42,800 1400 ) 1250 0°
KR (D) =5 BRE JAL 43,300 650 9 550 %
BEXE JAL 43,300 650 5% 550 %
EEXS | KB | JAL 43,300 650 9 550 4
BR JAC 43,300 650 7 550 %
BER=EXZXE BR JAC 450 ,250 ) 150 %
BR JAC 450 ,250 ) 150 %
wEHR=ERE BEIR JAC ,200 ,600 ) ,600 }
BEXE JAC ,200 ,600 45 ,600 h
BERE JAC ,200 ,600 ) ,600 }
BEXE JAC ,200 ,600 48 ,600 %
wE=EzE BRE JAC ,300 650 9 650 %
EIN-) JAC ,300 650 7 650 %
BERE JAC ,300 650 7 650 %
BEXE JAC ,300 650 7 650 %
2 =Pk RER BR JAC 4,900 450 ) 0,600 }
BR JAC 4,900 450 0,600 }
=5 BR JAC ,300 650 0,850 }
BERE JAC ,300 7 650 0,850
RR(PHE) =5RE HiE JTA ,500 .250 ,100 0
PR () RAC 500 ,250 ,100 0
RiE RAC 500 250 ,100 0
AR () =5 BE SR (FRER) RAC 4,400 ,200 ,950
Kk (BE#8) = 5HE RiE JTA 4,400 7,200 1950
PR () RAC 4,400 7,200 1950
AiE RAC 4,400 7,200 ,950
2EHE () =5HE SRR (R %) RAC 49,000 4,500 350
&M =5HE PR () RAC 4,700 0 ,350 ,600
iR (B =5 BE HiE JTA/RAC ,600 4 ,300 0,850 4
% RiE RAC ,600 4 ,300 7 0,850 2
RRCRE) =AXE SRR (FRER) JAL 600 9% 1300 5 650 4
S8 (BRER) JTA/RAC ,600 9% ,300 5 ,650 4
KR (D) =AXK 8B S8 (%) JAL 40,000 0,000 0 ,600 4
% (BB 2R) JTA/RAC 40,000 0,000 0 ,600 4
KR () =AXE & () JTA 40,000 0,000 0 600 4
%2 (BB 2R) JTA/RAC 40,000 0,000 0 ,600 4
AEHE (PH) =AKE ACED) JTA 44,500 0 1250 0 500 2
% %2 (B 2R) JTA/RAC 44,500 0 1250 0 ,500 4
wBE=AXE % (BB 3R) JTA ,100 ,550 ,200
B% AEED) JTA/RAC ,100 550 1200
SRR (BB =38 ) ) JAL L 200 ,600 650
* 1) JAL AL ,200 % 1600 % 650
12 = 4L (BT F %) FIH) JAL JAL ,800 4% ,900 % 0,550
SFIH) JAL JAL 800 4% 00 7% 0,550
BEHR=m5 %) JAL JAL ,300 41% 0 % 1700
%) JAL JAL ,300 41% 0 71% 1700
E=%E5 %) JAL JAL ,300 45% 0 73% 700
) JAL JAL ,300 45% 0 73% 1700
£HE (hE) = 5 ) JAL JAL 40,500 % 0 % ,900
= ) JAL JAL 40,500 7% 0 % ,900
ZHE (b)) =%k = ) JAL JAL 40,500 % 0 % 1900
5 ) JAL JAL 40,500 % 0 % ,900
25 (hE) =Rl = ) JAL JAL 41,100 % 0 % 4,250
= ) JAL JAL 41,100 % 0 % 4,250
£ HE (hE) =ifE ) JAL JAL ,400 % 00 % 0,900
Ei ) JAL JAL ,400 % 7,700 % 0,900
RRCRE) =8R JAL JAL ,800 0% 1,400 0% 5,250
JAL JAL ,800 0% 1,400 0% 5,250
KR (D) =B8R JAL JAL 49,700 20% 24,850 60% 29,300 53%
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RRCAE) =84 SRR (IRER) JAL | JTA/RAC 35,000 46%
Sh#B(IBF) | JTA/RAC|  JAL 35,000 46%
RRCPE) =/ SR#E(IRER) JAL | JTA/RAC 7,300 48%
AR (B9FE) JAL JTA 7,300 53%
A% @B | JTA/RAC]  JAL 7,300 48%
KBR (5 =% w3l KR (7D % [€2 JAL JAL ,600 50%
JAL JAL 600 49%
ESSFIES JAL JAL ,600 0%
FL18 JAL JAL ,600 49%
PNAGEEESE] ENAGEIES FR (PH) JAL JAL ,600 0%
AL BT 8%) JAL JAL ,600 49%
ESFIES R CRE) JAL JAL ,600 0%
E ﬁ(ﬁiﬁ’—ﬁ) JAL JAL 600 49
KB (D =Rl PNTAGINES CHH) JAL JAL ,000 0
CHH) JAL JAL ,000 0
KBz (B3#8) =Rl CHH) JAL JAL ,000 0
CHH) JAL JAL ,000 0
KR (5 =8Ik CRE) JAL JAL ,600 8%
CHH) JAL JAL ,600 48%
KR (F#E) =HEE CRE) JAL JAL ,600 48%
CHH) JAL JAL ,600 4
KB (7D =I5 CHH) JAL JAL 700
CHH) JAL JAL 700
Kbz (B3T8) =5 CHH) JAL JAL 700
CHH) JAL JAL 700
KR (7)) =EfE CHH) JAL JAL ,600
) JAL JAL 600 2
KR (F#E) =BafE JAL JAL 600 4
JAL JAL 600 2
KR () ==IR JAL JAL .100 4
JAL JAL 100 47
KR (F#E) ==IR JAL JAL 100 47
JAL JAL 100 47
KR (5 =Rk JAL/JAC| JAC 100 43
JAC__| JAL/JAC 0,100 43
KR (D =EF8 JAL JAC .900 28%
JAC JAL ,900 28
KR (D) =& JAL | JTA/RAC ,200 4
JTA/RAC|__JAL 200 2
KR () ==& JTA | JTA/RAC ,200 4
JTA/RAC|___JTA 200 2
AR () =518 JAL | JTA/RAC 700 48%
JTA/RAC|__JAL 700 48%
Ak () =R1E JTA__| JTA/RAC 700 48%
BER JTA/RAC|___JTA 700 18
HEE(PE) =%iE5] %EE(EF%(&)% JAL JAL 800 0
S JAL JAL 800 0
A2EE(FER) =24 %EE(EF‘(&)% [ JTA | JTA/RAC 100 44
BO% JTA/RAC] JTA 100 44
2EE(FE) =61E %EE(EF‘(&)% [ JTA | JTA/RAC ,800 0
B3 JTA/RAC|___JTA 4,800 0
ARG TFR) =/ #Lﬁ(%ﬁ?ﬁ)% JAL JAL 300 56%
INEAFE JAL JAL 7,300 56%
IR FHFR) =miLER #Lﬁ(%ﬁ?ﬁ)% JAL JAL 200 54%
=] JAL JAL 200 54%
ALBE G F %) =R #Lﬁ(%ﬁ?ﬁ)% JAL JAL 200 55%
[ JAL JAL 200 55%
ARGFTFR) =68 [ ABREGTHE JAL JAL ,000 54%
&% JAL JAL ,000 54%
ALIR (FFR) =LA FE #Lﬁ(%ﬁ?ﬁ)% JAL JAL ,600 55%
FERFE JAL JAL 4,600 555
ARG TR =HE #Lﬁ(%ﬁ?ﬁ)% JAL JAL 0900 56%
HER JAL JAL ,900 56%
ARGFTR) =05 [ ABRGTHE JAL JAL 100 55%
EE% JAL JAL 100 55
ARGFTFR) =mit [ ABREGTRE JAL JAL ,900 53
B JAL JAL ,900 53
ARFTFR) =M [ ABREGTHE JAL JAL 100 53
BT JAL JAL 4,100 53
ARG FR) =l *Lﬁ(%ﬁ%&i)% JAL JAL ,000 51
JAL JAL 000 51
LR GTF ) =dLAM *Lﬁ(%ﬁ%&i)% JAL JAL 4,600 56%
EI &L JAL JAL 4,600 56%
LRFTFR =K5 [ABREGTRE JAL JAL 4,600 55%
RO % JAL JAL 4,600 55%
ARGFTFR) =R [ ABRGTHE JAL JAL ,200 550
RIG% JAL JAL ,200 55%
LEGF TR =K *Lﬁ(%ﬁ%&i)% JAL JAL 400 550
REARFE JAL JAL 400 55
AR GTR -8 | ARFIRE JAL JAL .200 54
e JAL JAL .200 54
LREFTFR) =ERS *Lﬁ(%ﬁ%&i)% JAL JAL 0,300 50
R&% JAL JAL ,300 50
HREFFR) =l BH *Lﬁ(%ﬁ%&i)% [ JAL JAL .500 5
JAL AL 500
JAL A 500
JAL A 500
JAL A 500 53
EEIEFES JAL JAL .500 5
AL JAL 500
A JAL 500
JTA JAL 500
JTA JAL 500
AREFFR) =FE *Lﬁ(%ﬁ?—fa—i)% JAL JTA ,000
JTA JAL 000
e =% Rl ?;ﬁi% JAL JAL .600 52
JAL JAL 1600 49
ESSFIES JAL JAL .600 52
JAL JAL 1600 49
[HEES EEEES JAL JAL 36.700 7
EIIE JAL JAL 36.700 7
fER =8I FEEES JAL JAL 36,200 7
ST JAL JAL 36,200 7
[HEEETS EEEES JAL JAL 800 7
SRR JAL JAL 800 7
18R =t [HEES JAL JAL 600 45%
23] JAL JAL 600 39%
S FIEH) JAL JAL .600 45
23] JAL JAL 1600
BE=FH EEEES ) JAL JAL 38,500 4
23] JAL JAL 38,500 2
BHRR FIE) JAL JAL 38,500 4
23] JAL JAL 38,500 2
EEEES FIE) JAL JAL 0,100 4
23] JAL JAL 0,100 40
=R% ) JAL JAL 0,100 46
KBR (F#51) JAL JAL 0,100 40
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B =Te% EHEES KR (1) JAL JAL 39,700 38%
EER AR () JAL JAL 39,700 38%
1B =FE [HEES R CRE) JAL JAL 4,900 49%
AR () JAL JAL 4,900 43%
PEES JAL JAL 4,900 49%
JAL JAL 4,900 43%
EkE =T [HEES JAL JAL 00 49%
JAL JAL 00 0%
I3 JAL JAL 00 49%
JAL JAL 00 0%
B =%R EEEES JAL JAL ,200 56%
HinFE JAL JAL ,200 56%
fEhE =/ EEEES JAL JAL 700 59%
NS JAL JAL 700 59%
EE=20 EEEES JTA | JTA/RAC 400 48%
2 JTA/RAC]  JTA 400 4
e =h18 [ JTA | JTA/RAC 400
Hia% JTA/RAC]  JTA 400
iRl =1t 2 Bl 5 JAL JAL 600
AR JAL JAL 4,600
iRl =IlE 2 Bl 5 JAL JAL 100 55%
(S JAL JAL 100 55%
KR =% 2 Bl 5 JAL JAL ,300 54%
HimFE JAL JAL ,300 54%
ESTHIENNA ESEEIES JAL JAL ,600 52%
N FE JAL JAL ,600 52%
BfcEER JAL JAL 000 5.
Zim B =W 2 i B 36 JAL JAL 7,000
[ENIES JAL JAL 7,000
ESSHIENCY ESFIES JAL JAL ,300
JAL JAL .300 8%
LE% JAL JAL ,300 1%
JAL JAL 300 48
iRl =HE i Bl 5 JAL JAL 700 4
HER JAL JAL 700 4
iRl =l 2 Bl 5 JAL JAL 700 0
JAL JAL 700 0
iRl =hE JAL JTA 7,300 9%
JTA JAL 7300 49%
JEVIEYIA JAL JAL 9,800 7%
JAL JAL 9,800 7%
BI=FfkaE JAL JAL 7,000 52%
JAL JAL 7,000 52%
TBI=FRELL JAL JAL 7,000 53
JAL JAL 7,000 53
BI=HE JAL JAL 5,700 53
JAL JAL 5700 53
TBIT=#AL JAL JAL 0,700 49%
JAL JAL 700 49%
BII=F1E JAL JT 200 52%
JTA JAL 200 5
FEg =11 JAL JAL 600
JAL JAL ,600
SR = aE JAL JAL 000
JAL JAL 7,000
FEk =Rl JAL JAL ,200 53
JAL JAL 200 53
=18 JAL JAL ,300 50
JAL JAL 300 50
FE=HE JAL JAL .700 53
JAL JAL 700 53
FEg =0 JAL JAL 0,700 49%
JAL JAL 700 49%
Fk="H18 JAL JTA 500 49
JTA JAL 500 49
FL=/ JAL JAL .700 53
JAL JAL 700 53
FL=miEE JAL JAL ,000 51
JAL JAL 7,000 51
L= JAL JAL 7,000 52
JAL JAL 7,000 52%
Fh=HE JAL JAL 5,700 53%
JAL JAL 5700 53%
FE=H0 JAL JAL 0,700 48%
JAL JAL 0,700 48%
Fh=hiE JAL JTA 55,700 49
JTA JAL 55,700 49
B =/ JAL JAL 400 53
JAL JAL 400 53
JAL JAL ,900 47
AR =ML JAL JAL ,900 46%
JAL JAL ,900 46
BWiE=L5 JAL JAL ,800 4
JAL JAL 800 2
HiE=HE JAL JAL .700 4
JAL | JAL/JAC 4,700 2
HE JAL JAL 4,700 49
JAL/JAC| _JAL 4,700 47
B =L RS JAL JAL ,600 46%
JAL JAL ,600 38%
P JAL JAL 600 46%
JAL JAL 38,600 8%
BEE=JLAM RS JAL JAL 100 3%
EIZR JAL JAL 100 3%
BWiE=X% S JAL JAL ,300
JAL JAL 300
RAFE JAL JAL 300
JAL JAL 300 2
=R Bl JAL JAL 600
JAL JAL 4,600 52
RS JAL JAL 4,600 56
JAL JAL 4,600 52
BHEE=RA Bl JAL JAL 4,600 55%
JAL JAL 4,600 51%
REARFE JAL JAL 4,600 550
JAL JAL 4,600 51%
W= Bl JAL JAL 4,600 55%
JAL JAL 4,600 51%
RS JAL JAL 4,600 550
JAL JAL 4,600 51%
BWiE=ER S JAL JAL 00 55%
JAL JAL 00 52%
ERER JAL JAL 00 550
JAL JAL 00 52%
BWiE=FhiE e JAL JTA 00 51%
aiE% JTA JAL 00 51%
BEHR=IR BHRRE JAL JAL 00 55%
MRS JAL JAL 00 55%
EH=EREE HHRE JAL JAL 00 55%
HREER JAL JAL 00 55%
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EHR=MEL EHRE CRIE) JAL JAL 9,600 56%
[N [€ET=D) JAL JAL 9,600 56%
EHR=LE EHRE CRH) JAL JAL 0.400 56%
LE% CRH) JAL JAL 0.400 56%
EHR=WOFH EHRE CRH) JAL JAL 100 56%
WO FERFE CRH) JAL JAL 100 56%
EHR-HE AR |_RECHEA) JAL JAL ,600 55%
AR () JAL | JAL/JAC 00 53%
HE R CRE) JAL JAL ,600 55%
KBR(FFD) [ JAL/JAC|  JAL ,600 53%
EHR=ER BT P JAL JAL .500 53%
5% JAL JAL 500 53%
EHR=mh BT JAL JAL ,600 56%
A JAL JAL ,600 56%
EHR=m EHE JAL JAL 400 56%
EEFE JAL JAL 400 56%
FHR=HL BEHRE JAL JAL ,200 52%
JAL JAL ,200 45%
[PANES JAL JAL ,200 52%
JAL JAL ,200 45%
EHR=TAM EHE JAL JAL 100 7%
EI&ILE JAL JAL 100 7%
BEHR=XD BEHRE JAL JAL ,000 4%
P, JAL JAL 4,000 6%
A% HECHE) JAL JAL 4,000 4%
EHR=RE BEHRE FUR (CHH) JAL JAL 700 4%
AR () JAL JAL 700 49%
RIGFE R CRE) JAL JAL 700 4%
AR () JAL JAL 700 49
BH=EX AR FUR (CHH) JAL JAL 700 2
AR () JAL JAL 700 47
AR R CRE) JAL JAL 700 2
AR () JAL JAL 700 47
EHR=EH BEHRE FUR (CHH) JAL JAL 700 2
AR () JAL JAL 700 47
EEES R CRE) JAL JAL 700 2
AR () JAL JAL 700 47
AR=ERS LE S CRE) JAL JAL .900 2
AR () JAL JAL ,900 48%
BERER EGAERED) JAL JAL ,900 2%
AR (B JAL JAL ,900 48%
EHR=RE EHE = CHH) JAL JTA 100 52%
BER (M) JTA JAL 100 52%
R=i g CRA) JAL JAL ,300 54%
(FE) JAL JAL 300 54%
SiR=mkaE CRH) JAL JAL ,600 55%
(Fm) JAL JAL 600 55%
=R=FRW (M) JAL JAL 600 56%
(M) JAL JAL 600 56%
3] (3H) JAL JAL 0,400 550
(M) JAL JAL 400 55%
SR=WAFH CRIH) JAL JAL 100 55%
(FE) JAL JAL 100 55%
SR=HE (HH) JAL JAL 600 55%
AR () JAL [ JAL/JAC 600 54%
HE R CRE) JAL JAL ,600 55%
ABR(BF1) [ JAL/JAC|  JAL 600 54%
ZiR=f8 3% CHH) JAL JAL .000 53%
FIE) JAL JAL ,000 53%
=R=m FIE) JAL JAL 600 550
FIE) JAL JAL 600 55%
ZiR=/H FIEH ) JAL JAL ,600 57%
FIE) JAL JAL 600 7%
=iR=#b FIEH ) JAL JAL 200 2%
) JAL JAL 200 6%
FIE) JAL JAL 200 52%
) JAL JAL 200 46
) JAL JAL 100 7
FIE) JAL JAL 100 7
FIE) JAL JAL ,000 3
) JAL JAL 4,000 7
) JAL JAL 4,000 3
) JAL JAL 4,000 47
ZiR=Ri& PIEH) JAL JAL 700 53
) JAL JAL 700 50
FIE) JAL JAL 700 53
) JAL JAL 700 50
ZIR=RX PIEH) JAL JAL 700 52
) JAL JAL 700 48%
FIE) JAL JAL 700 52%
) JAL JAL 700 48%
ZiR=2k PIEH) JAL JAL ,700 52%
) JAL JAL 700 48%
FIE) JAL JAL 700 52%
) JAL JAL 700 48%
=R=ERB PIEH) JAL JAL ,900 52
) JAL JAL ,900 49
FIE) JAL JAL ,900 52
) JAL JAL ,900 49
=RE JAL JTA 100 52
JTA JAL 100 52
FE=/I JAL JAL 500
JAL JAL 500
RE=FmLaE JAL JAL ,300
JAL JAL 300
FRE =ML JAL JAL ,300
JAL JAL 300 7
HE=L5 JAL JAL ,000 550
JAL JAL 000 55%
TE=ILOFE JAL JAL 0,400 54%
JAL JAL 400 54%
HEH=HE I JAL JAL ,300 56%
PNACG2E)) JAL | JAL/JAC 300 55%
HESR R CHE) JAL JAL ,300 56%
ABR (51 [ JAL/JAC]  JAL ,300 55
HE=F5 GES = CHE) JAL JAL .300 57
55 (H) JAL JAL .300 7
HE=FK $=ES CHE) JAL JAL 000 4
HAFE CHE) JAL JAL .000 4
HE=5H $=ES CHE) JAL JAL ,000 55%
HFE (FM) JAL JAL ,000 55%
FE=RIL KR F& [ #Hm CHE) JAL JAL 600 53%
PNACG2E)) JAL JAL 600 47%
EATTES R CHE) JAL JAL ,600 53%
KBR (1) JAL JAL ,600 47%
FE=JAM FREFE = (CHHE) JAL JAL 0,400 56%
EIZR H) JAL JAL 0,400 56%
HEH=X5 MERE EETIEED) JAL JAL 0,400 55%
KBR (1) JAL JAL 0.400 48%
RO % R CHE) JAL JAL 0.400 55%
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FE=RE PES EEACE) JAL JAL 100 55%
AR () JAL JAL 100 51%
R R CRE) JAL JAL 100 55%
AR () JAL JAL 100 1%
FE=FX PEES R CRE) JAL JAL 100 3%
AR () JAL JAL 100 49%
RAR R CRH) JAL JAL 100 3%
AR () JAL JAL 100 49%
HE=28 PEES R CRE) JAL JAL 100 3%
AR (1) JAL JAL 100 49%
EEES R CRE) JAL JAL 100 3%
AR () JAL JAL 100 49
HH=ERE ER FUR (CHH) JAL JAL ,300 3
AR () JAL JAL ,300 0
ERS% R CRE) JAL JAL ,300 3
AR () JAL JAL ,300 0
HE=FRE N=ES FR (HH) JAL JTA 400 7
GiE % R CRE) JTA JAL 400 7
TEE=HE 5 AR (1) JAL | JAL/JAC 100 2
HEF KR (FF) [ JAL/JAC]  JAL 100 52%
TEE=HL EER KB (1) JAL JAL ,900 49%
ALLISE AR (1) JAL JAL ,900 49%
EE=X EER KB (1) JAL JAL .600 48%
K3 AR (1) JAL JAL .600 48
EE=RE 5 KB (1) JAL JAL ,000 0
RIG% AR (1) JAL JAL 4,000 0
TEE=RAX HF KB (1) JAL JAL 800 0
AR AR (1) JAL JAL 800 0
EE=25 TEER KB (1) JAL JAL 800 0
&[] JAL JAL/JAC 800 55%
EEES AR () JAL JAL 800 50%
Hi] JAL/JAC| _JAL 800 55
EE=RERS TEERE KB (1) JAL JAL ,000
BERE% AR () JAL JAL 4,000
Wi =/ 3 GACLED) JAL JAL 4,400 4
N FE CRE) JAL JAL 4,400 4
Wiz =R Ll Iz CHH) JAL JAL 500
[EE: CHH) JAL JAL 500
W =ILE8 Z3 CRIH) JAL JAL .900 48%
I &% CRIH) JAL JAL 7,900 48%
W =1LOFE TiZ3 CRIH) JAL JAL 9,600 49%
WO FERFE CRIH) JAL JAL 9,600 49%
Wi =H=E ifZ3 [ R CHH) JAL JAL 7.900 45%
AR () JAL [ JAL/JAC 7,900 51%
) JAL JAL 7900 45%
)| JAL/JAG|__JAL 7900 1%
W =8 P JAL JAL 500 49%
JAL JAL 500 49
Wiy =m JAL JAL 500
JAL JAL 500
Wz =% JAL JAL .300
JAL JAL 300
Wiz =#a1l JAL JAL ,300 52
JAL JAL 300 52%
JAL JAL 300 52%
JAL JAL 300 52%
Wiz =3t 7MW JAL JAL 0,400 49%
JAL JAL 400 49%
WwiE=K% JAL JAL 600 49%
JAL JAL 600 48%
JAL JAL 600 49%
JAL JAL 600 48%
Wi =R JAL JAL 100 48%
JAL JAL 100 0%
JAL JAL 100 48%
JAL JAL 100 5
Wiz =X JAL JAL 0,400 4
JAL JAL 0,400
JAL JAL 0,400 2
JAL JAL 0,400
Wi =2 JAL JAL 0,400 4
JAL JAL 0,400
JAL JAL 0,400 2
JAL JAL 400
W=ERS JAL JAL 100 48%
JAL JAL 00 51%
JAL JAL 100 48%
JAL JAL ,100 51%
Lz =R1 JAL JTA 600 45%
JTA JAL 600 5%
WE=HE JAL | JAL/JAC 300 53%
JAL/JAC| _JAL 300 53%
& =#l JAL JAL ,000 48%
JAL JAL ,000 48%
E&=x% JAL JAL ,600 47
JAL JAL 600 47
&=k JAL JAL ,100 49
JAL JAL 100 49
iEs =% JAL JAL 0,400 50
JAL JAL 400 50
we=2w JAL JAL 100 47
JAL JAL 100 47
WeE=ERS JAL JAL ,100 50
JAL JAL 100 5
HR=HE JAL | JAL/JAC 00
JAL/JAC| _JAL ,900
FR=H JAL JAL ,300
JAL JAL 00 2
FB=K7 JAL JAL 000 48%
JAL JAL 00 48%
HR=RE JAL JAL 0,400 50
JAL JAL 400 50
HR=RA JAL JAL 600 50
JAL JAL 600 50
HR=2k JAL JAL 600 50
JAL JAL 600 50
HR=ER JAL JAL 0,400 1
JAL JAL 400 1
NA=RL JAL JAL 4,900 7
JAL JAL 4,900 7
INR=TRE JAL JAL 500 7
JAL JAL 500 7
MA=ILOFER JAL JAL 600 550
JAL JAL ,600 55
IMA=HE JAL JAL ,900 4
JAL JAL ,900 4
MME=FEE JAL JAL ,000 7
JAL JAL 000 7
INR=TEH JAL JAL 400 58%
JAL JAL 4,400 58%
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ME=B IDERSE CRIE) JAL JAL 800 55%
EEFE CRH) JAL JAL 800 55%
/M=l Rtﬁtfé CRH) JAL JAL ,300 56%
[ATES CRH) JAL JAL ,300 56%
MR=FEFM INELFE CRH) JAL JAL ,600 56%
EZNES CRH) JAL JAL ,600 56%
IME=K5 N CRH) JAL JAL 400 54%
A% CRH) JAL JAL 400 54%
M= Rl N CRH) JAL JAL 100 53%
Rig% P JAL JAL 100 5.
IME=RER Y JAL JAL ,300
REA JAL JAL ,300
IME=E I JAL JAL ,300
=2 JAL JAL .300
ME=ERE N JAL JAL 2,100
B JAL JAL 32,100
MA=EEH /I JTA | JTA/RAC 7,000
= JTA/RAC]  JTA 7,000 4
Ma=H1E /I JAL JTA 00 58%
JTA__| JTA/RAC 00 46%
AiE JTA JAL 00 58%
JTA/RAC|__JTA 400 46%
EL=2% & L1 5 JTA | JTA/RAC 400 9%
B JTA/RAC]  JTA 400 9
fL=51E [EIE JTA | JTA/RAC 100 4
AiE JTA/RAC]  JTA 100 4
EEI=E & JAL | JAL/JAC 100 4
EEES JAL/JAC AL 7,100 4
BERB=5H E AC AC ,200 6%
53 AC AC 200 6%
BERE=1PXERE E AC AC 500 0%
K REDFE 53 AC AC 500 0%
REAEBR) =FH& ELIE RS i?'?:(;ﬂﬂ!) JAL JAL 600 9%
BR (2 F1) JAL JAL 600 49%
BEHRE %:‘i(?ﬂrﬁ) JAL JAL ,600 49%
BR (2 F1) JAL JAL 600 49%
REERER) ==R EAEEDES G JAL JAL 600 48%
=R¥ € JAL JAL 0,600 18
(IR ER) =M E EXE kS JAL JAL 7,000 0
JAL JAL 7,000 1
HFEE JAL JAL 7,000
JAL JAL 7,000
PR GIRER) =15 B (R R JAL JAL 7,700
JTA JAL 7700
EER JAL JAL 7.700
JAL JTA 7700
PR (GIRER) =1L B (R R JAL JAL 7,000
JAL JAL 7,000
I3 JAL JAL 7,000 43
JAL JAL 7.000 0
PR GRER) =& B (R JAL JAL 000 47
JTA JAL 000 1
wex JAL JAL ,000 47
JAL JTA 000 1
PR (B =/ MS(?;K%)% JAL JAL 00 49%
INERFE JAL JAL ,900 49%
R (B ==H MS(;I]&%)% JTA AL ,900 55%
=T JAL TA .900 550
B (B =l EIICEIES JTA JAC 200 55%
AIES JAC TA 4,200 55%
RR CHHE) =Rk R (HE) % JAL JAC .100 8%
= JAL JAC 100 3%
TR 5 #5T) JAC JAL .100 8%
HE JAC JAL 100 3%
RECHE)=BXXE| RRCAEE BERE JAL JAC ,900 38%
PNACGEE)) JAL JAL ,900 35%
BERESR ERE JAC JAL ,900 38%
AR JAL JAL ,900 5
RR(HE)=ERE | RREBH BERE JAL JAC ,000
EEFNC] JAL JAC ,000
ERBR BERE JAC JAL ,000
EEFNC] JAC JAL ,000
RR(HE) =28 | RREB)HE BERE JAL JAC ,000 0
EEFNC] JAL JAC 4,800 3
ERE JAC JAL 4,000 40¢
EEFNC] JAC JAL 4,800 3
R CHA) =/HKRE g JAL JAC ,900 40
JAC JAL ,900 40
RE(HE) =55 B JAL JAC ,300 41
Fi¥ 3 JAC JAL ,300 41
AR () =BEXE Xﬁﬂﬁi({ig% g JAL JAC 700 38%
3 JAC JAL 4,700 38%
KR(BFH=ER8 | KIRFEMHH 3 JAL JAC 200 33%
EEFNC] JAL JAC 200 25%
ERBR BERE JAC JAL ,200 33%
EEFNC] JAC JAL ,200 25%
KR (B =828 | KRFEMHH BERE JAL JAC 200 35%
EEFNC] JAL JAC 0,100 28%
BER BERE JAC JAL 9,200 35%
EEFNC] JAC JAL 0,100 28%
KR () =5k RA | KR (D BERE JAL JAC 0,700 35%
EEXE JAL JAC 0,700 31%
K RERSE BER JAC JAL 700 35
KR (A =55 KR () % R JAL JAC .000 7
EEFNE) AL JAC .000 4
) JAC AL .000 7
BE=BXXE B! JAC JAC 0,100 6
) JAC JAC 100 6
BE=EF5 B! JAC JAC 500 5%
EEXE JAC JAC 500 3%
R JAC JAC 500 5%
EEXE JAC JAC 500 3%
BE=BZ5 R JAC JAC 600 38%
EEXE JAC JAC .600 38%
R JAC JAC .600 38%
EEFNE) JAC JAC .600 38%
&k =hK RE ) JAC JAC 100 38%
) JAC JAC 100 38%
B =5 B! JAC JAC 500 40
) JAC JAC 00 4
RE(HE) =53E 1B JTA RAC ,300 4
EEIEE) RAC JAL ,300 4
HiE RAC JTA 300 2
AR () =5 3E EEIEE) RAC JAL 38,700 45%
K (BdR) =53E A1 JTA RAC 38,700 42%
EEIEE) RAC JTA 38,700 45%
HiE RAC JTA 38,700 42%
HEE(PER) =5 HE SIMES hEE (BB RAC JTA 39,700 48%
18 =5 HPE 5RER €] RAC JTA 35,600 44%
PR GRE) =58E [ rEGER % A JTA/RAC| _RAC 19.300 49%
SMER RiE RAC [ JTA/RAC 19,300 49%
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RR(PHE) =AXE | s () JAL | JTA/RAC 7,700 35%
| | x%kB® | A@GEH) [JTA/RAC| JAL 7,700 35%
KR (FFH=AKE [ _XBR(FFHE | +#EGRHR) JAL | JTA/RAC ,100
ARG | AREE®H) | JTA/RAC] JAL 00
KB (BAEE) =AKE | _XB(BI#E) S | h#E(RH) JTA | JTA/RAC 00
AKREH (T | JTA/RAC]  JTA 00
2HE (PR =AKRE | BEE(PED)F | #EGRH) JTA | JTA/RAC 6,000 35%
ARER (T [ JTA/RAC]  JTA 36,000 35%
BE=AKE EEEES (AR H) JTA | JTA/RAC 7,400 36%
AREH (BT [ JTA/RAC]  JTA 7,400 36%
R GIRER) =8 EAEEDES B (1) JAL JAL 00 44%
HinFE AR () JAL JAL 000 44%
12 = LR G F %) FEEES IR CHH) JAL JAL 500 48%
FLIE BT FaR) % | SRR CPE) JAL JAL 500 48%
HEH=%ml EH% I (GG F k) JAL JAL 600 3%
2 i B 36 18 (BT T %) JAL JAL 1600 3%
E=%mH FREHRE I (GG F k) JAL JAL 1600 56%
2 it Bl FE 18 (BT T %) JAL JAL 600 56%
AEE(FE) =8I | AEHE (PEDF GACLED) JAL JAL ,100 48%
EEES CRE) JAL JAL 100 48%
EEE(FE) =FL5 | AEE(REDFE CRH) JAL JAL 100 48%
HILFE CRH) JAL JAL 100 48%
ZEE(FE) =) | AEE (PED)F CHH) JAL JAL ,100 49%
JEVIIES CRE) JAL JAL 100 49
AEE(PE) =& | AEE(PEDE CHH) JAL JAL .500 4
S CPHH) JAL JAL .500 4
RR(PH) =R R CHE) % BAR JAL JAL 000 4
BRFE B JAL JAL 0,000 4
PNAGZEL A BRSE E JAL JAL 5700 26
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X8 3/21 3/28 3/29 3/30 3/31

XED | XKE@
HRCPR) =825 ) JAL _[UTA/RAG| 24,600 400 400 400 400
EE )[JTA/RAC|_JAL 26,200 400 400 400 400
HRCPE)=R1E [R=WE) E[ ) JAL |UTA/RAG| 25400 ,200 ,200 ,200 ,200
)|[_JAL JTA 9,700 .700 700 700 700
HiE% )| JTA/RAC|  JAL 7,000 ,200 ,200 ,200 ,200
KB () =% @3 | KB () 5 )| JAL AL 3,900 ,200 ,200 400 ,300
[ JAL AL 4,300 800 800 800 800
ESSFIES ) JAL AL 28,300 ,300 ,300 ,300 ,300
[ JAL AL 30,300 800 800 800 800
KB (BAd8) =% b3 | KB (BIFG) 3¢ )| JAL AL 23,900 ,200 ,200 400 ,300
[ JAL AL 24,300 800 800 800 800
ESSFIES ) JAL AL 28,300 4,300 4,300 4,300 4,300
[ JAL AL 30,300 800 800 800 800
KB () =) [ KB () 5| e CRE) | JAL AL 22,800 4,100 00 ,900 4,100
JEVIES (FE)|[ JAL AL 25 401 4,000 4,000 4,000 4,000
KBx (BEE) =8Il | B (Ba78) | S CRE)|  JAL AL 22,801 4,100 900 ,900 4,100
JEJIF CRED| JAL AL 5,40 4,000 4,000 4,000 2,000
KB () =8E% | KB (A 58| m CHE)|  JAL AL ,00 4,100 4,100 4,100 4,900
ElEES CRE)[  JAL AL 4,30 400 00 400 400
Kix (BTE) =8 | KBk (BIFE) 5| B CHE)|  JAL AL ,00 4,100 4,100 4,100 4,900
FlEES CRE)| JAL AL 4,30 400 00 400 400
KB () =I5 [ KB (R 5| FE CRE) | JAL AL 23,50 ,100 00 100 100
L% CRE)| JAL AL 25 401 4,100 00 ,800 4,000
KBx (BEE) =5 | AR (B78) 5| S CRE) | JAL AL 23,50 ,100 00 100 100
HIL% CRE)| JAL AL 5,401 4,100 00 ,800 4,000
KB () =BfE | KB (A 58| = CHE) | JAL AL 4,90 700 00 700 700
E CRED| JAL AL 7,90 4,400 200 200 4,200
Kix (BTE) =BfE | KB (BIFE) 58| B CHE)|  JAL AL 4,90 700 700 700 700
S CRE)| JAL AL 7,901 4,400 4,200 4,200 4,200
KB (B = AR (D) [ Hm (CHE)| JAL AL 201 4,100 4,100 4,100 4,100
=R%E CRED| JAL AL 4,90 4,800 4,800 2,800 2,800
KB (BiTE) ABx (B978) %[ A CRE)|  JAL AL ,20 4,100 4,100 4,100 4,100
=R% CRED| JAL AL 4,90 4,800 4,800 2,800 2,800
AR () =Rk [KREFDF| HE [JAL/JAC] JAC 101 100 00 100 500
[EES HE JAC | JAL/JAC] 22,30 ,300 00 ,300 ,300
AR () =25 @ (&) | JAL | JTA/RAC| 2510 4,400 4,400 4,400 4,400
8 (&) | JTA/RAC|  JAL 28,701 700 00 700 700
AR () =25 #@ ()| JTA |JTA/RAC| 2510 4,400 4,400 4,400 4,400
8 (&) | JTA/RAC|  JTA 28,701 700 700 700 700
AR () =R1E @ABH)|  JAL _[JTA/RAC|] 25,60 4,900 4,900 4,900 4,900
8 (&) | JTA/RAC|  JAL 29,501 700 700 700 700
AR (BdE) =R1E # (B JTA [JTA/RAC| 25,60 4,900 4,900 4,900 4,900
|48 (IR | JTA/RAC]  JTA 9,50 700 700 700 700
ZEE (P —XAH | ZaE (P | AMGITA) | JAL JAL 6.80 200 00 .200 .200
Tmal% |AmETa | JAL JAL 0,40 7.100 7.100 7.100 7,500
LEE(FE) =24 [2aRh# X[ P EH)| JTA [JTA/RAC| 2640 6,600 6,600 6,600 6,600
H% [P (RE)|JTA/RAC]  JTA 9,80 7.100 7,100 7,100 7,100
AEE(PE) =RE[LZRhM X[ PR EB)| JTA [JTA/RAC[ 27.10 7.100 7.100 7.100 7.100
aiE% | h#E(BR%) | JTA/RAC] JTA 0,60 7.100 7,100 7,100 7,100
AR G F %) =/MA [ AR TR %[ Fm CHE)|[  JAL AL 1,00 6.400 6,400 6,400 6,400
INEAFE CHE)| JAL AL 7.401 6.300 6.300 6,300 6,300
AW F T8 =Mt ER | AL G ) 58| BUR CRIE) | JAL AL 2,701 0,300 0,300 0,300 0,300
BfCEER |RA CRE)| JAL AL 0.00 ,200 00 ,200 ,200
FLIR G F %) =R [ AR TR % CHE)| JAL AL 28,001 4,000 4,000 4,000 4,000
[EIE CHED| JAL AL 5,601 4,700 4,700 4,700 4,700
MEFFR) =LB[LRFTR) E CHE)| JAL AL 201 100 00 100 100
LB% CHED| JAL AL .80 .900 00 ,900 ,900
A FFR) = WOFH [ ARG TR % SR CRE)|  JAL AL 00 .900 00 .900 .900
WWOFE% |Hm (HE)|  JAL AL .80 600 00 600 600
IR Fm) =HE[ARF TR CHE)| JAL AL 901 500 00 500 500
HER CHED| JAL AL 28,701 7.800 7.800 7800 7800
AMEFFR) =EB[ARFTR X CHE)| JAL AL 26,601 4,300 4,300 4,300 4,300
BHR CRE)| JAL AL 25,10 4,200 4,200 4,200 4,200
HIREF TR == AR FHTR CHE)| JAL AL 28,901 ,800 00 ,800 800
ST CHE)| JAL AL 28,901 100 00 100 100
IR TR == A AR FHTR) CHE)| JAL AL 31,201 400 00 400 400
BRI CRE)| JAL AL 27.70 800 00 .800 .800
FLIR (BT FR) =L [ AR %) % CHE)| JAL AL 30,601 ,900 00 ,900 ,900
HAILFE CRE)| JAL AL 28,101 800 00 800 800
AR FFR) =AM LRF TR R CRE)|  JAL AL .20 8,200 8,200 8,200 8,200
EIZXE CRE)| JAL AL 00 7,800 7,800 7,800 7,800
LREF TR =AD [ ARFTR® CRE)| JAL AL 60 6,200 6,200 6,100 6,200
KN5E CRE)|  JAL AL .70 7,500 7,500 7500 7,500
AREFHTR —RBE[ARFTR® CRE)| JAL AL .70 7,000 7,000 7,000 7,000
EEE CHE)| JAL AL 0,50 9,200 9,200 8,800 9,200
AREFH TR —BA[ARFTR® CRE)|  JAL AL 1.30 7.300 6,900 6,900 7,700
REARFE CRE)| _ JAL AL 0,10 8,000 7,600 7,400 7,600
AREFH TR —EB[ARFTR % CRE)| JAL AL 0,60 6,500 6,300 6,300 6,900
E5FE CRED| _ JAL AL 28,40 7,500 7,500 7,500 7,700
ARFHTR) —BERE | LRFTFR R CRE)| JAL AL 1.70 7,000 7,200 7,200 7,200
ERE% CHE)| JAL AL 101 7,800 7,800 7,800 7,800
LI G F A1) = 0 (BE0) | #LIR (B F-0) 3¢ S CBIE) | JAL AL 60 0,000 0,000 0,000 0,400
RBR(BFD|  JAL AL 60 7,600 7,600 7,600 7,600
RBR (7| JAL JTA 60 7,600 7,600 7,600 7,600
ZHE(PE)|  JAL JTA 00! 2,100 2,100 2,100 2,500
& JAL JTA 20 0,100 0,100 0,100 0,100
PR GIRER) [ CRE) | JAL L 10 1,400 1,400 1,400 1,400
KR (BEFD] JAL AL 40 7,200 7,200 7,200 7,200
RBR (BA7) A AL 4,40 7,200 7,200 7,200 7,200
AHE () A AL 60! ,900 00 ,900 ,900
& A AL 501 00 00 600 600
AR (B F i) = A8 | AR BT %| 3un CHE) | JAL JTA 80 00 00 .700 700
aiE% R CHE)| JTA AL 10 0,000 0,000 0,000 0,000
1Bk =% 51 EHEES R CRE)|[  JAL AL 0,30 8,500 8,500 8,700 8,600
MGITR) | JAL AL 7,40 7,400 7,400 7,400 7,400
ZimAlFE |EECHE)| JAL JAL 33,001 7.900 7.900 7900 7900
MOATR) | JAL JAL 25,80 5,000 5,000 5,000 5,000
R =neJl EEEES CHE)| JAL JAL 28,501 7,500 7,400 7,400 8,000
JENIE CRE)| JAL JAL 0,90 7,600 7,600 7,600 7,600
&k =2 FEEES CRED|  JAL JAL 940 9,400 9,400 9,400 30,200
ST CRED|  JAL JAL 9,00 7,000 7,000 7,000 7,000
B =I5 1BRISE CRED|  JAL JAL .30 8,300 8,300 8,300 8,300
HILR CRED|  JAL JAL .50 6,800 6,800 6,700 6,800
ekt =g wEX [ERCEE)| JAL JAL 301 7,400 7,400 7,400 7,400
AR (FFH]  JAL JAL 301 6.200 6.200 6,200 6,200
HER  [ERCEE)| JAL JAL 33,30 7,500 7,600 7,500 7,600
AR (FFH[  JAL JAL 27,201 700 00 700 700
BE=F#H BE%E  [ERCEE| JAL JAL 31,50 00 00 00 500
AR (FFH]  JAL JAL 28,901 00 00 00 500
BHRE [Ex@E)| JAL JAL 30,00 00 00 00 ,900
AR (FFH[  JAL JAL 29,401 00 00 00 100
wmiEE [RECRE)] JAL JAL 29,601 7,100 7,100 7,100 7,100
AR (FFH]  JAL JAL 28,501 00 00 00 500
=R%E [EZRCEE)| JAL JAL 9,601 00 00 00 400
AR (D[ JAL JAL 9,201 00 00 00 ,900
‘R=TE% ‘% | XRAEFFD]  JAL JAL 7,00 000 000 000 ,000
&% [ XBR@EFFD] JAL JAL 7,60 7,600 7,600 7,600 7,600
B =#HE wmiEE [RECRE)] JAL JAL 1,20 600 600 600 ,600
AR (FFH]  JAL JAL 6.301 00 00 00 ,000
#MER  [ExGE)| JAL JAL 0.90 00 00 00 .100
AR (FFH]  JAL JAL 7,601 00 00 00 ,900
&k = wmiEE  [RECRE)|[ JAL JAL 28,601 00 00 00 ,900
RER(FFD| JAL JAL 37,801 7.800 7.800 7800 7,800
W% [EECHE)| JAL JAL 22,201 4,200 4,200 4,200 4,700
RER(FFD| JAL JAL 34,301 4,300 4,300 4,300 4,300
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RED | XE
1EE =38 EEEES [ JAL AL ,600 4,700 4,700 4,700 4,700
FRE [ ) JAL AL 4,800 5,600 5,600 5,600 5,600
[HEEINA EEEES ) JAL AL ,200 1,700 1,700 1,700 1,700
INRFE [ JAL AL 2,200 4,100 4,100 4,100 4,100
BRE==% EEEE ) JTA|UTA/RAG] 20,200 0,700 0,700 0,700 0,700
EEE )[JTA/RAC] _JTA .500 0.300 0.300 0,300 0,300
BR=hiE EEEE ) JTA[UTA/RAG] .000 1,300 1,300 1,300 1,300
FiES )| JTA/RAC] JTA ,300 1,100 1,100 1,100 1,100
sl =18 ESEEIES | JAL AL 400 400 400 400 400
TEER [ JAL AL 400 400 400 .400 400
Ziwmhl =g ESEEIES | JAL AL 100 100 100 100 100
% [ JAL AL .600 ,900 ,900 .900 .900
T =R ESETIES | JAL AL 100 800 ,800 ,800 ,800
HimFE [ JAL AL 700 600 600 600 600
i = /M i Bl 5 )| JAL AL 801 1000 1000 000 000
s (@) JAL AL 40 6,500 6,500 6,600 6,500
CHED| JAL AL .90 400 400 500 400
CHED| JAL AL .10 200 200 200 200
CRIH)| JAL AL .00 4,400 4,400 4,600 4,500
Tl =58 ESSFIES CHE)| JAL AL 40 ,600 ,600 ,600 ,600
METR)|  JAL AL 60 200 200 200 200
LE% R CRE)|[  JAL AL 001 ,900 ,900 100 ,000
METR)|  JAL AL .20 200 200 200 200
il =HE ESTES CHE)| JAL AL 001 500 500 500 500
HE CRE)[  JAL AL 28,501 1000 1000 200 100
i Al =Hal i Bl 5 CHE)| JAL AL 3,30 8,700 8,700 8,700 8,700
FALLFE CRE)| JAL AL 7.70 7,100 7,100 7,300 7,200
Ziml =HiE ESEEIES CRE)| JAL JTA 8,50 4,700 4,700 4,700 4,700
aEH CHE)| JT AL 5,501 ,000 ,000 1000 1000
JEVIENA JEVIES CHE)| JAL AL 0,70 500 500 500 500
AT CRE)|  JAL AL 7.00 400 200 200 400
BI=mfaE JBI%E [RERCHE)| JAL AL 2,501 ,000 ,000 ,000 ,000
FfCEESE [HECHE)|  JAL AL 0,10 000 000 100 100
TBI=FRl JEVIES CRE)[  JAL AL 28,301 4,900 4,900 4,900 4,900
[ CRED| JAL AL 4,20 ,100 ,100 200 200
BI=HE JENIES CHE)| JAL AL 7,901 ,200 ,200 ,200 ,200
HER CRED| JAL AL 0 700 700 800 800
JEVIEEATT] ENIE:S CHE)| JAL AL 201 400 400 400 400
HALFE CHE)| JAL AL 301 ,900 800 800 1900
BIN=FiE JEVIIES CRE)| JAL JTA 401 400 400 400 400
HiE% (HE)| JT AL 701 ,600 ,600 700 ,700
EI-EUNA EES CHA)| JAL AL 701 ,700 ,700 .700 .700
N FE CHE)| JAL AL 201 500 500 500 500
FERSTERS SIFE% | Em(HE)| JAL AL 0.30 0,300 0,300 0,300 300
BfCELER |RECRE)| JAL AL 1,00 1,200 1,200 1,200 000
PEE=T0 SIEE% CRE)|  JAL AL 25,101 4,300 4,300 4,300 4,300
[N CHED| JAL AL 25,101 .300 300 300 100
SR =1L8 HERFE CHE)|  JAL AL 25401 4,600 4,600 4,600 4,600
I 5% CHE)| JAL AL 25,301 ,800 ,800 800 600
g =HE S CHE)| JAL AL 28,601 800 800 800 7,800
HE CHED| JAL AL 7,601 7.900 7.900 7900 8,700
SEE=#20 FEES CHE)| JAL AL 301 7,800 7,800 7,800 7,800
LT CHE)| JAL AL 801 8,000 8,000 8,000 8,800
fig="1iE HIERFE CHE)| JAL JTA 401 3,400 3,400 3,400 3,400
aER CHED| JTA AL 60 0,100 0,100 0,100 0,100
W= IR CRE)| JAL AL .40 7,500 7.100 7.100 7.400
CRE)|  JAL AL .70 5,800 6,100 5800 6,100
R CRE)|  JAL AL .90 400 0,400 300 0,400
R CRE)|  JAL AL 00 .800 0,100 800 0,100
CRE)|  JAL AL 60 4,100 4,100 4,000 4,100
CRE)|  JAL AL 10 200 2,500 200 2,500
CRE)|  JAL AL .10 600 7,600 500 7,600
CRE)|  JAL AL 60 6.200 6,500 6,200 6500
CRE)|  JAL AL .80 7,600 7,600 7500 7,600
CRE)|  JAL AL 28,501 6,300 6.300 6.300 6.300
CRE)|  JAL JTA 4,30 5,100 4,800 4,800 5,000
CRE)| JTA AL .60 0,400 0,700 0,400 0,700
CRE)|  JAL AL .80 7.900 7.600 7,600 7,600
LR CRE)|  JAL AL 60 7,500 7,500 7,500 7,500
R CRE)|  JAL AL 90 1,200 1,200 1,200 1,200
CHED| JAL AL 90 4,800 4,900 2,800 2,900
CRED| JAL AL 00 600 600 ,600 ,600
HEE=L5 RS CRE)| _JAL AL 0,20 ,300 100 .100 .100
&% CRE)| _ JAL AL 7,00 4,800 4,800 4,800 4,800
HE=HE BfER  [EECGEE)| JAL AL 1,601 200 000 000 000
RR(FFD|  JAL [ JAL/JAC| 24,00 2,800 2,800 2,800 2,800
HE R CRE)|  JAL AL 50 7,600 7,600 7,600 7,600
AR (5 [ JAL/UAC]  JAL 801 3,700 3,700 3,700 3,700
EAE=H0 BiEE  [EECRE)|[ JAL AL 401 7,300 7,400 7,300 7,400
ABRURF|  JAL AL 901 ,700 ,700 700 700
wilE  [ERGE)| JAL AL 28,701 000 ,000 000 ,000
ABRURF|  JAL AL 3,701 4,600 4,600 4,600 4,600
EEE=JE M i RCHA)|  JAL AL 4,10 00 100 00 100
Bl FCHEA)|  JAL AL 401 00 ,800 00 800
HE=K% WEHX [ERCEE)| JAL AL 801 00 900 00 ,300
ABRURF|  JAL AL 801 00 6,600 6,600 ,600
K% [EZCEE)| JAL AL E 00 7,800 7,800 800
ABRURF|  JAL AL 201 ,300 8,300 ,300 ,300
EWEE=RI BiE%E [EECRE)|[ JAL AL 3,20 ,300 7,900 ,300 ,300
ABRURF|  JAL AL 0,60 00 ,200 200 200
g% [ERGE)| JAL AL 1,50 00 400 ,000 400
ABRURF|  JAL AL 28,201 00 100 100 100
EHEE=fEA BiEE  [EECRE)|[ JAL AL 34,20 00 ,900 900 ,700
ABRURF|  JAL AL 28,601 00 7,000 7,000 000
REAFE  [EZCEE) JAL AL 1,101 8,600 8,200 8,000 8,200
AR (FFH[  JAL JAL 7,001 7,900 7,900 7,900 7,900
EE=Ek RS [ CHE)| JAL JAL .40 7,500 7.100 7.100 7,300
AR (FFH]  JAL JAL 501 8,400 8,400 8,400 8,400
% [EZCEE)|] JAL JAL .90 7,800 7,400 7.400 7.400
AR (FFH[  JAL JAL 28,601 00 8,900 8,900 8,900
EE=ER WEESE [ CHE)| JAL JAL 33.20 00 7,800 7,800 7,800
AR (FFH]  JAL JAL 28,401 00 00 00 00
ERBR [EZCHE)|] JAL JAL 31,101 00 00 00 00
AR (FFH[  JAL JAL 26,301 00 00 00 00
WEE=F1E i RCRE)|  JAL JTA 540 00 00 00 00
aiE% CRE)| JTA JAL .50 00 00 00 00
BHR=IL BHRR CRED|  JAL JAL .00 000 000 000 000
MRS CHE)| JAL JAL 001 7,000 7,000 7,000 7,000
ROk HHRRE CRED|  JAL JAL .60 1,600 1.600 1,600 1,600
BIfoEUES [RECRE)| JAL JAL .60 00 00 00 00
FH=ML HHRE CRED|  JAL JAL .10 00 00 00 00
[ENE CRE)| JAL JAL .10 00 00 00 00
BEH=LE BHR CRED|  JAL JAL .20 00 00 00 00
LE% CRED|  JAL JAL 28,10 00 00 00 00
EH=LOFTH HHE CRED|  JAL JAL 25,60 00 00 00 00
WOFE%E [ CHE)|  JAL JAL 25,601 200 200 200 200
BEHR=HE EHRE [EmCEE)| JAL JAL 28,001 500 500 500 500
AR (D] JAL [JAL/JAC 601 700 700 700 700
HER  [EZRCEE)| JAL JAL .20 400 400 400 400
AR (5D [ JAL/JAC]  JAL 501 100 100 100 100
] | &% ROEE)| JAL JAL 26,501 700 700 700 700
EER CRED|  JAL JAL 5,60 4,800 4,800 4,800 4,800
EH=m |__BH% (HE)|[  JAL JAL 901 100 100 100 100
B%E CHE)| JAL JAL 601 800 800 800 800
EH=m HHE CRED|  JAL JAL .50 700 700 700 700
SEES CHE| JAL JAL 28,201 800 800 800 800
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FH=HIL BEHRE CHE)| JAL AL 30,300 800 800 800 800
(B JAL AL 27,100 4,200 4,200 4,200 4,200
PYITES CRE)| JAL AL 29,000 400 400 400 400
(A JAL AL 5,200 ,100 ,100 100 100
HHE=AAM EHRE CHE)| JAL AL 0.300 500 500 500 500
EZNIES CHE)| JAL AL 500 100 100 100 100
BEHR=KD BEHRE CHE)| JAL AL ,800 100 100 100 000
(A JAL AL ,000 600 600 600 600
An%E |HECRE)|[ JAL AL ,200 100 100 100 100
EHR=RIE AR [EmEE)| JAL AL 400 ,600 ,600 600 600
ABR(EFD[ JAL AL 800 600 600 600 600
R |[RRCHE)| JAL AL .000 9,800 9,800 9,400 9,800
KRBR (BFH[  JAL AL 100 7,600 7,600 7,600 7,600
EHRE |[EZE)| JAL AL .200 .200 7,800 7,800 ,000
AR (B[ JAL AL 0,80 400 6,400 6,400 00
RBAR [EzCEE)| JAL AL 0.60 ,600 8,200 8,000 00
ARE]  JAL AL 0,10 200 7,200 7,200 00
EHR=B AR [EmzRE)| JAL AL 28,601 100 100 100 00
KERAFAD[ JAL AL 33,701 400 400 400 00
B |[ERCHE)| JAL AL 28,901 100 100 100 00
KEREFAD|[ JAL AL 32,601 200 200 200 00
EHR=RRES FHRE [EZ@E)| JAL AL 28,601 ,600 ,800 ,800 00
AR (B[ JAL AL 1.00 300 300 300 00
ER&R |[EZCRE)|[ JAL AL 0.60 8,400 8,400 8,400 8,400
KR JAL AL 0,50 6,200 6,200 6,200 6,200
EHR=RIE EHRE HCHA)|  JAL JT, 4,70 4,700 4,700 4,700 4,700
aiE% CRE)| JT, AL 5,20 1.400 1.400 1,400 1,400
SiR=/R =R%E (HE)|[ JAL AL 7.50 7.500 7.500 7.500 7.500
N FE CRIHE)| JAL AL 7.50 7.500 7.500 7.500 7.500
R3E CRED| JAL AL 2,00 000 000 000 00
CRE)| JAL AL 1.20 200 200 200 200
CRIH)| JAL AL 2570 ,700 ,700 ,700 700
CRE)|  JAL AL 25,301 300 300 300 300
CRE)|  JAL AL 26,001 ,000 ,000 ,000 000
CRE)|  JAL AL 25,301 300 300 300 00
CRE)|  JAL AL 25,201 600 600 600 00
CRE)|  JAL AL 5,20 600 600 600 00
CRE)| JAL AL 9,20 200 200 200 00
(BFD| JAL | JAL/JAC| 26,00 ,000 ,000 ,000 00
CRE)|  JAL AL 7,90 1900 1900 1900 900
(B [ JAL/JAC|_JAL 6,00 ,000 ,000 ,000 000
CHED| JAL AL 26,10 300 300 ,300 300
CHED| JAL AL 5,20 000 000 .000 000
CRE)|  JAL AL 00 ,000 ,000 000 00
CHED| JAL AL .80 .200 .200 200 00
CHED| JAL AL .10 .100 .100 100 00
CHED| JAL AL .60 ,900 ,900 ,900 00
CHED| JAL AL .90 .200 .200 200 00
KR JAL AL .90 .900 .900 .900 00
W [EERCEE)] JAL AL .40 ,000 ,000 .000 00
KR JAL AL 6.901 .900 .900 ,900 00
=R R(EE)|  JAL AL 9,901 .900 .900 .900 00
JEAMFE FCRE)| JAL AL 28,70 500 500 500 00
=R% [Em(EE)| JAL AL 29,401 800 800 800 00
KR JAL AL 31.80 9,800 9,800 9,800 00
A% [EECEE)][ JAL AL 28,201 8,000 7,800 8,000 00
AR JAL AL .40 600 0,600 600 00
ZR=RE& =R%E  [EZCEE)| JAL AL 00 100 8,000 200 00
AR JAL AL 601 400 1,400 1400 00
R |[EREE)| JAL AL .40 100 7.800 ,000 00
AR JAL AL 401 400 1,400 1400 00
=R%E  [EZCEE)| JAL AL 00 200 8,200 200 00
AR JAL AL 0,60 0.200 0.200 0,200 0,200
AR [ERCEE)| JAL AL 940 8,600 8,200 8,000 8,200
AR JAL AL 0.20 0.200 0.200 0,200 0,200
ZiR==& =R%E |[EZRCEHE)| JAL AL 28,201 7,400 7,200 7,400 7,400
AR JAL AL 33,50 1,600 1,600 1,600 1,600
BRE [RRCHE)| JAL AL 28,201 7,800 7,400 7,400 7,400
ABRURF|  JAL AL 31,801 1,200 1,200 1,200 1,200
=R% | mECEE)| JAL AL 28,20 7,700 7,700 7,700 7,700
ABRURF|  JAL AL 30,401 00 00 800 00
BERBR [EZCHE) JAL AL 29,401 00 00 400 00
ABRURF|  JAL AL 29,501 00 00 ,900 00
ZR="E =ZR% R(EE)|  JAL JTA 5,101 00 00 100 00
aiE% CRE)| JTA AL 4,80 00 00 800 00
HE=/ FEFE CRE)| JAL AL .00 00 00 ,000 00
IS CHE)| JAL AL 401 00 00 400 00
HEH=FRAE FEFE R CHE)|  JAL AL 401 00 00 400 00
BfCELER |RACRE)| JAL AL 0.60 00 00 1900 00
FE =L FEFE CRE)| _ JAL AL 6,10 00 00 100 00
G CRE)| JAL AL 6,401 00 00 400 00
HRE=LE $=ES CHE)| JAL AL 7.201 7,500 7,500 7,500 7,500
LB CRE)| _ JAL AL 7,60 00 00 600 00
ME=LUAFH [ MEAX [FHFCHE)|] JAL AL 25,601 00 00 ,200 00
WWOFE% |Fx CHE)|  JAL AL 5,901 4,300 4,300 4,300 4,300
ME=HE AR [EECEE)|  JAL AL 7.80 00 00 400 00
AR (D] JAL [ JAL/JAC 801 200 200 200 200
HE R CRE)|  JAL AL .50 500 500 500 500
AR (5 [ JAL/UAC]  JAL 001 4,700 4,700 4,700 4,700
HRE=5 GES R(CHAE)|  JAL AL 2650 00 00 500 00
B% CRE)| JAL AL 25,901 00 00 400 00
HRE=Fk G CRE)| _JAL AL 29,90 00 00 ,900 00
HA%E CRE)| JAL AL 28,301 00 00 700 00
A=/ S CHE)| JAL AL 29,501 00 00 500 00
HFE CRE)| JAL AL 28,501 00 00 400 00
ME=RL (A% [EERCEE)| JAL JAL .30 00 00 ,600 00
AR (FFH[  JAL JAL 4,70 00 00 700 00
Wil [ERECRE)| JAL JAL 301 700 700 .700 700
AR (FFH]  JAL JAL 4,00 700 700 ,700 700
MRE=JEAM FREFE RCHE)| JAL JAL 301 00 00 ,300 00
JEAMFE R(CEE)|  JAL JAL .80 0.200 0.200 0,200 0,200
ME=X% PEFE [EERGEHE)| JAL JAL 80 8,200 8,200 8,200 8,600
AR (FFH[  JAL JAL 201 4,000 4,000 4,000 4,000
AN%E |ERCHE)| JAL JAL 28,901 7,500 7,500 7,500 7,500
HRE=RIZ FEFE  [ERCEE| JAL JAL 29,40 8,400 8,200 8,600 8,600
RER(FFD|  JAL JAL 30,40 7800 7,800 7.800 7,800
RIE%E [ERECE)] JAL JAL 30,501 00 00 7,700 00
AR (FFH[  JAL JAL 28,501 00 00 100 00
A=A FEFE  [ERCEE| JAL JAL 30.20 00 00 200 000
AR (FFH]  JAL JAL 28,401 000 000 ,000 000
REAE  [EZCEE)| JAL JAL 30,90 700 500 500 900
AR (FFH]  JAL JAL 27,501 700 700 700 700
HRE=21F FEFE  [ERCEE| JAL JAL 28,60 00 600 600 00
AR (FFH]  JAL JAL 31,301 7,900 7,900 7,900 00
BE%E  [EZCEE)|] JAL JAL 29,20 7,500 7.700 7,700 7,500
AR(FF]  JAL JAL 30,00 7,700 7,700 7,700 7,700
HRE=ER FEFE  [ERCEE| JAL JAL 28,60 00 00 00 00
AR (FFH]  JAL JAL 28,201 00 00 00 00
ERBR [EZCHE)] JAL JAL 0,10 00 00 00 00
AR (FFH]  JAL JAL 7.901 700 700 .700 .700
HE=FR1E HA% [HFE(CHE)|[ JAL JTA 001 39,900 39,900 39,900 39,900 |
AIE% |[WmCHE)| JTA JAL .30 32,800 | 32,800 | 32,800 | 32,800
TEE=HE % [KR@EEAD| JAL [JAL/JAC 801 36.800 36.800 36.800 36.800 |
HEE [ KRUEFD[JAL/JAC] JAL .80 36.800 36.800 36.800 36.800 |
fEE=m0 EEE [ KR@EFF] JAL JAL 001 37.000 37.000 37,000 37,000
g [KEREGED] AL JAL 7.001 37000 | 37000 | 37000 | 37000
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EE=X5 EEE | XRERF|] JAL AL 39100 | 39100 | 39100 | 39.100 | 39.100 |
X% [ XRAEFFD] JAL AL 39100 | 39,100 | 39,100 | 39100 | 39.100 |
TEE=RIE 2% | RKREFH|  JAL AL 2,200 2,200 2,200 2,200 2,200
RIEFE [ AREFA|[  JAL AL 2200 2200 2200 2,200 2,200
TEE=EX EEF% | RKREFH|  JAL AL 00 00 600 600 00
BAR | XKREFF| JAL AL 00 00 600 600 00
EE=2 eER [ XREED] JAL AL 6,000 4,900 4,900 4,900 4,900
12 JAL _[JAL/JAC] 39400 | 39400 | 39400 | 39400 [ 39400 |
B | KREFD| JAL AL 45,800 44,600 44,600 44,600 44,600
B | JAL/JAC| JAL 39400 | 39400 | 39400 | 39400 | 39400 |
TEE=RRES EeER [ XREFM| JAL AL 00 00 ,200 ,200 00
BERER (ARG JAL AL 00 00 .300 .300 00
Wifig =i [ITiZ3 FCHA)|  JAL AL 00 00 ,000 ,000 00
INERFE CRE)| JAL AL ,000 000 ,000 ,000 000
\Lft =F iz CRE)| JAL AL .80 00 800 800 00
[N CRE)| JAL AL 23,801 00 800 800 00
W =IE8 Z3 CHE)| JAL AL 5,101 00 ,800 800 00
I &% CHE)| JAL AL 801 00 600 600 00
Wig=os8 [ k% [ERE(CEHE)| JAL AL 801 00 ,900 ,900 00
WO FERFE CRE)| JAL AL 601 00 .800 800 00
W =HE I Z 3 CHE)| JAL AL 401 00 ,600 600 00
(B JAL [ JAL/JAC .40 00 400 400 00
HE CRE)[  JAL AL 601 00 ,300 ,300 00
()| JAL/JAC AL 40 00 ,400 400 00
=8 [ Z3 CHE)| JAL AL 501 00 500 500 00
BEE CHE)| JAL AL 601 00 500 500 00
Wi ==t IiZ3 CHE)| JAL AL 26,001 00 ,600 600 00
BN CRE)| JAL AL 25,501 00 600 ,600 00
Wi ==H iZ3 CRE)| JAL AL 25,301 00 400 400 00
EEFE CRE)[  JAL AL 25,301 00 400 400 00
=2l WisE  [EZECHE)| JAL AL 5,701 00 700 ,700 00
KR (BFD|  JAL AL 40 00 400 400 00
WFE  [EECEE)|[ JAL AL .70 00 500 500 00
KR (BFD| JAL AL 40 00 400 400 00
Wiz =3t M IiZ3 SCRE)|  JAL AL 28,001 00 1600 600 00
Bl SRCRE)|  JAL AL 7,601 7,800 7,800 7,800 7,800
Wiz =K% WisE  [EZECHE)| JAL AL 6,601 00 ,600 ,600 7,100
KR JAL AL 8,60 00 600 600 00
A% |[EZCEE)| JAL AL 7.10f 00 ,600 600 00
KEREFAD|[ JAL AL 8,60 00 600 600 00
iy =R Wiiz%  [RRCEE)| JAL AL 7.10f 00 ,600 100 00
AR JAL AL 1,70 0,400 0,400 0,400 0,400
RIEFE [EECEE)] JAL AL 28,901 8,400 8,400 8,000 8,400
AR JAL AL 40,401 0,400 0,400 400 0,400
\if=Hex Wik [RRCHE)| JAL AL 26,601 7.100 6,600 600 7,500
AR JAL AL 39,501 9,000 9,000 000 9,000
BA%R [EZCHE)| JAL AL 28,401 7,500 7.100 00 7.100
AR JAL AL .30 00 00 00 00
L =2k D% [Em(EE)| JAL AL .20 00 00 00 00
AR JAL AL 60 00 00 00 00
=EFE |[EZCHE)| JAL AL 10 00 00 00 00
AR JAL AL 9,601 00 00 00 00
L =ERE D% [Em(EE)| JAL AL 7,601 00 00 00 00
AR JAL AL 9,701 700 00 00 00
ERER [Em(EE)| JAL AL 28 401 00 00 00 00
AR JAL AL 9,701 7,600 7.600 7,600 7,600
R CHE)| JAL JTA 0,90 0,900 0,900 0,900 0,900
HRCRE)| JTA AL 601 7,600 7,600 7,600 7,600
KRR (B[ JAL | JAL/JAC 80 00 00 00 00
KR (251 [ JAL/JAC AL .00 4,500 4,500 4,500 4,500
ABRUFAD|[ JAL AL 60 00 00 00 00
RBRUFAD[ JAL AL .20 4,400 4,400 4,400 4,400
ABRUFAD[ JAL AL 50 00 00 00 00
ABRUFAD|[ JAL AL 28,301 00 00 00 00
RBRUFAD[ JAL AL 28,301 00 00 00 00
ABRUFAD[ JAL AL 28,80 00 00 00 00
ABRUFAD|[ JAL AL 6,301 00 00 00 00
RBRUFAD|[ JAL AL 7,801 00 00 00 00
RREFD] JAL AL 0,90 300 300 300 300
RRGFD] JAL AL 0,10 000 000 000 000
RRGFD| JAL AL 6,501 700 700 700 700
RRGFD| JAL AL 7,401 00 00 00 00
RER(FFD| JAL [ JAL/JAC .40 00 00 00 00
KBR (5 | JAL/JAC AL .30 00 00 00 00
RRGFD] JAL AL 20 00 00 00 00
RRGFD| JAL AL .30 00 00 00 00
RRGFD| JAL AL 10 00 00 00 00
RRGFD] JAL AL 28,20 00 00 00 00
RRGFD| JAL AL 7,101 00 00 00 00
RRGFD| JAL AL 7,801 00 00 00 00
RRGFD] JAL AL 5,901 00 00 00 00
RRGFD| JAL AL 6,801 00 00 00 00
RRGFD| JAL AL 28,801 00 00 00 00
RRGFD] JAL AL 29,60 7,400 7,400 7,400 7,400
FR=ERBE RER(FFD|  JAL AL 26.10 00 00 00 00
[ RER ()] JAL AL 28,501 00 00 00 00
M =FELL FCHEA)|  JAL AL 6.401 00 00 00 00
CRE)| JAL AL 6,401 00 00 00 00
IME=TEE CRE)| JAL AL 7.80 00 00 00 00
CHED| JAL AL 90 00 00 00 00
MA=ILUAFE R CHE)|  JAL AL 701 00 00 00 00
[Em (@A) JAL AL .70 700 700 700 700
IME=HE CHE)| JAL AL 0,80 0,800 0,800 0,800 0,800
CRED| JAL AL .30 00 00 00 00
IME=TEE CRE)| JAL AL .90 00 00 00 00
PE)| JAL JAL .70 00 00 00 00
IME=TER [ JAL JAL .10 00 00 00 00
)| _JAL JAL 0,80 0,800 0,800 0,800 0,800
ME=F [ JAL JAL 0,60 0,600 0,600 0,600 0,600
)| _JAL JAL 9,001 9,500 9,500 9,500 9,500
A=A )| _JAL JAL 1.60 0,800 0,800 0,800 0,800
)| _JAL JAL 0,00 00 00 00 00
A= AM M [ JAL JAL 1.60 00 00 1600 00
A )| _JAL JAL 0,60 00 00 100 00
IMA=K5 MRS ) JAL JAL 1,00 00 ,900 ,900 000
RN% [ JAL JAL 1.50 00 .900 900 900
IME=RIF MRS ) JAL JAL 501 0,500 0,500 500 0,500
EiB% ) JAL JAL 501 2,000 2,000 .500 2,000
IME=FER MRS [ JAL JAL .70 0,000 9,500 500 1.000
REARFE [ JAL JAL 00 0,500 0,000 700 0,000
IMNE=EIE IMAFE [ JAL JAL .90 9,900 9,900 .900 9,900
D [ JAL JAL .90 9,900 9,900 900 0,100
IME=ER MRS ) JAL JAL 501 0,500 0,700 0,700 0,700
RE% JAL JAL .00 00 200 .200 00
IME=EE INEAFE JTA [JTA/RAC 101 00 00 00 00
RT3 JTA/RAC| _JTA .50 00 00 00 00
IMA=RE INRFE JAL JTA 60 00 00 00 00
JTA_| JTA/RAC] 50 00 00 00 00
aiER JTA JAL .30 00 00 00 00
[#8 GRE) | JTA/RAC]  JTA 50 00 00 00 00
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BER
X8 3/21 3/28 3/29 3/30 3/31
KR | KE@

Bl=5% I E JTA | JTA/RAC| 26,500 6,500 6,500 6,500 6,500
EEE JTA/RAC| JTA 9,000 8,500 8,500 8,500 8,500
mil=51E [EITES JTA | JTA/RAC| 27,300 7,300 7,300 7,300 7,300
AiEFE | JTA/RAC| JTA 9,800 9,300 9,300 .300 9,300
BE=EE B JAL _[JAL/JAC| 24,100 4,100 4,100 4,100 4,100
EEES JAL/JAG| JAL 4,100 4,100 4,100 4,100 4,100

BERE=5R [ EZABH | X JAC AC 1,700 1,700 ,300
SiR%E X JAC AC 15300 15,300
BEXG=KRE| BXZAEH f JAC AC 15,600 15,600

: JAC AC 15,600 5,600 5,600
PR (RER) =FR [ R EHR % HH)[  JAL AL 33,600 2,000 2,000 2,000 2,000
ABR(ERD| JAL AL 5,500 0,100 0,100 0,100 0,100
FE)|  JAL AL ,000 1,200 1,200 1,200 1,200
F] JAL AL .200 8,600 8,600 8,600 8,600
R (R HE)[  JAL AL 201 0,400 0,400 0,400 0,400
RE SHE)| JAL AL 60! 00 00 00 00
R =FAE [ RE) R RECRE)|[ JAL AL 901 00 00 00 00
KEREFAD|[ JAL AL 90 00 00 00 00
FEFE HCHA)|  JAL AL 001 00 00 00 00
R (R =TE8 [ EB) R[ABREM|  JAL AL 601 600 600 600 600
] JT. AL .90 0,000 0,000 0,000 0,000
EEE |[ABREM] JAL AL 0.80 00 00 00 00
] JAL JTA 2,801 00 00 00 00
R ERE) =Lk [ RE) [ RECRE)|[  JAL AL 9,001 00 00 00 00
KEREFAD| JAL AL .30 00 00 00 00
Wifiz%  |ERCRE)| JAL AL 701 7,400 7,400 7,400 7,400
SR GRER) =S | (E) S| AR (| JAL AL .20 00 00 00 00
13FE JT AL 001 00 00 00 00
ex |[RXBREEM] JAL AL 28 401 00 00 00 00
] JAL JTA 32,301 00 00 00 00
R (ERER) =/ [ShEE RER) | R CRIE) [ JAL AL 28,101 00 00 00 00
% |RRCHE)| JAL AL 25,901 00 00 00 00
(B ==A R & JTA AL 30,501 00 00 00 00
= 138 JAL JTA 28,701 00 00 00 00
SRR (AR =tal B CGRER) %| 186 JTA JAC 29,201 00 00 00 00
IE ] JAC JTA 28,601 00 00 00 00
HRCPHR) =Rk [ Rz E) [ ARET|[  JAL JAC 26,501 00 00 00 00
HEE JAL JAC 23,101 00 00 00 00
lRi% [ KER(EH| JAC AL 25,901 00 00 00 00
HEE JAC AL 24,001 00 00 00 00
HR(HE) =8XZXE|RR(PHE) | _ERE JAL JAC 32,401 00 00 00 00
RERAFAD| JAL AL 5,401 00 00 00 00
BERBE | BERE JAC AL 301 00 00 00 00
RERAFD[ JAL AL .40 00 00 00 00
RRCHE)=5# [REPE) %] B! JAL JAC .20 00 00 00 00
53 BE) JAC AL 301 00 00 00 00
KR (P =BEXE | KRG ] E) JAL JAC 50! 00 00 00 00
BERERE | ! JAC AL 401 00 ,900 00 900

KR (77 =ik BE | KIR (RFD %] BEXS JAL AC 80! 00 00
AR () =5k [XR(EHE[_ER JAL AC 2101 00 ,300 00 300
EESNC] AL AC ,600 600
! JAC AL 4,00 00 ,000 ,000 00
BR=EXXE ! JAC AC 2,20 4,900 00 4,900 00
B} JAC AC 1,701 4,400 4,400 4,400 4,400
1Bk =5k BE) JAC AC 4,80 00 00 500 00
ERE JAC AC 22,101 4,500 4,500 4,500 4,500
R CRE) =AXE #BARH) | JAL [UTA/RAC] 25401 00 00 800 00
ARER #8 (IBF) [ JTA/RAC]  JAL 7.00f 00 00 200 00
AR (B =AXB[ KR FF) [ P8 FB) |  JAL [JTA/RAC] .20 00 00 000 00
AXKBS [ H#8FRFH) | JTA/RAC]  JAL 50 700 700 700 700
KR (BEE) = Ak & | A0k (BAFE) F[ PR (FRE)|[ JTA [JTA/RAC .20 000 000 000 000
AXKBF [HEBEREH) | JTA/RAC]  JTA 50 700 700 700 700
BEE(PE) = AKE | BhE (P [ P (BE) | JTA |JTA/RAC 201 00 00 600 00
X |48 (IR | JTA/RAC]  JTA .60 7.900 7,900 7,900 7,900
BE=AKE B3 [REERE) | JTA [JTA/RAC .00 00 00 600 00
AXKBF [HEBRFH) | JTA/RAC]  JTA .30 00 00 100 00
SR GRE) =8 R RE) 5| KR (| JAL AL ,20 00 00 ,300 00
Fa%E | KRUEM| JAL AL 8,30 00 00 ,900 00
1B =#LI% (T F %) FEEES R CPHE)| JAL AL ,00 200 200 ,200 00
AR TR % R CRE)|  JAL AL 50 500 500 500 00
BEHR=%m5 EHE TR JAL AL .90 00 00 .900 00
Sk GF) | JAL AL 701 00 00 800 00
HE=%35 FREFE GFR| JAL AL 801 00 00 800 00
e @Fm) | JAL AL 101 200 200 200 200
ZEE (PH) =3E[ 2EE (M % FE)|  JAL AL .10 700 700 .700 500
ElEES CHE)| JAL AL 101 300 300 ,300 300
ZEE(PH) =®h| faEHHE CRE)| JAL AL .30 00 000 ,000 00
TR CRE)| _JAL AL 60 00 100 ,000 00
ZEE (PH) =18 2EEHH % CRE)| JAL AL .30 00 700 700 00
FENIE CRE)| JAL AL .30 00 900 900 00
Z2EE (PH) —HiE| aEHHE CRE)| JAL AL .70 00 700 700 00
B CHE)| JAL AL 901 8,800 8,900 8,800 8,900
AR FFR) —BEAB| AR TR 5| R CRE)|  JAL AL 00 7,200 7,200 7,200 7,200
R CRE)|  JAL AL 9,101 00 00 00 00
EH=-2XXE [__B [EERCRE)| JAL AL 38,801 00 00 00 00
EEAESR [HRCRAME)| JAL AL 9,60 00 00 00 00
HH=8EXXE (A% [EERCEE)| JAL AL 7.90 00 00 00 00
EEAER [HRCRAME)| JAL AL .90 00 00 00 00
IMA=EEXE [__/MRE [HFCHE)|[ JAL AL .30 00 00 00 00
EAER [ERCHME)| JAL AL .30 00 00 00 00
IMNA=TRBE MaE  [ERERCEE| JAL AL .20 4,200 4,200 4,200 4,200
BfCELER |RACRE)| JAL AL 201 00 00 00 00
RRECHE)=2F [REHE) % &K JAL AL 4,40 4,800 4,800 00 4,900
BRFE BEE JAL AL 0,90 00 00 00 00
PNAGISIEES HRF R JAL AL 9,301 000 000 000 000
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XA RSt 4/1-27 g}g’é’g = 4/28 4/30
XED | XKE@ =
HRCPR) =89 [& H) % (FBE)| JAL _[JTA/RAC .100 68% . £:21,700, H:20,500
= SR ( )| JTA/RAC] JAL .100 68% . H:21,700
FR(CHE)=FR1E |RRIE) REEE) | JAL _[ITA/RAC] 500 70% +£:22,200, B:20,900
B (BI7E) | JAL JTA 100 68% 700
| | miEH |HEGH)|JTA/RAC]  JAL 00 70% 2,100
KB () =%i@ 3 | KB () S| B CRE) | JAL AL 22,600 68% 5,000, ,900
G| JAL AL 25,500 64% 6,800, 300
ESSFIES Z(CHE)|  JAL AL 22,900 68% 4,200, 600, H:27.500
GTE|  JAL AL 26,000 63% 5300, 700
KB (BAd8) =% im 3 | KB (BEd8) 5| S CRE) | JAL AL 22,600 68% 5,000, ,900
G| JAL AL 5,500 64% 00, 300
ESSFIES R(CHE)|  JAL AL ,900 68% 00, ,600. H:27.500
G| JAL AL ,000 63% 300, 700
KB (B =Rl | KB (FFFH) 58| B CHE) | JAL AL ,100 7 ,200 800, 1:23,700, H:23.400
FEIIE CRE)| JAL AL 201 ES 60 300, H:26.60
Kix (BTE) =heJIl | KB (BHFE) 58| B CHE)|  JAL AL 10 7 A: ,20 800, 1:23,700, H:23.400
FEIIES CRE)| JAL AL .20 Th | A 60 300, H:26.60
KB () =8lEk [ KB () 5| e CRE) | JAL AL .00 7 & 50
ElEES CHE)| JAL AL 701 ES ,300, £:22,900, H:23,800
KBz (B7E) =8E | Bz (BI78) 5| S CRE) | JAL AL .00 7 & 50
FlEES CHE)| JAL AL 70i 7% A 301 0. H:23,80¢
KB () =I5 [ KB (R 5| FE CRE) | JAL AL 00 8 A 30 0, H:22,80
L% CHE)| JAL AL 401 7% : 101 0, £ H:24,300
KBx (BEE) =5 | AR (B78) 5| S CRE) | JAL AL 00 8% | A 30 0, H:22,80
HILFE CRE)| JAL AL 40 7% | A: .10 200, £ H:24.300
KB () =ifE [ XBR (R 5| e CHE) | JAL AL 10 % 50 ,500
AR SE CRE)|  JAL AL 60 A: 300, £:21,600, H:26.100
KBx (BI7E) =ifE [ ABR (BI78) 58| S CRE)|[  JAL AL 10 & 500
AR SE CRE)| JAL AL 60 A: 300, £:21,600, H:26.100
RIR (D 5| A CHED|  JAL AL 90 22,000
=R%E CRE)|  JAL AL 60 K:23,200, £:24.200, £:21,900, H:23,000
KR (BA7S) 3| BA CHED| JAL AL 90 +.22.000
=RE FE)|  JAL AL 60 7K:23,200, £:24.200, £:21,900, H:23,000
AR () =Rk [KREFDF| HE [JAL/JAC] JAC 401 A& +£:16.800
[EES HE JAC | JAL/JAC 201 6
KRB =BFB[ABREFDE| ERES JAL JAC .20 7% |#£:20,300. H:18,800
BYEH BERE JAC JAL 301 2 100, H:22.900
AR () =25 8 (H) | JAL | JTA/RAC 401 7 9,500
(BRF)| JTA/RAC|  JAL .30 3 :21,800, £:21,100, H:23,100
AR () =25 (BF|[ JTA [JTA/RAC 401 7 9,500
(38%) | JTA/RAC|_JTA 30 3 00, £:21,100, H:23,100
AR () =R1E (BB| JAL _[JTA/RAC .90 9 +£:20,000
(BRE) | JTA/RAC| JAL .30 7 :21,800, £:21,100, H:23,100
AR (BdE) =R1E (BB JTA [JTA/RAC .90 9 £:20,000
|48 BRE) | JTA/RAC| JTA .30 7 :21,800, £:21,100, H:23,100
ZEE (P —KAH | ZaE (P | AMGITA) | JAL JAL 90! 4 £:26,800, H:23,600
Tmal% |AmETa | JAL JAL 00! 4 K:24,600, £:25400. H:26.000
AEE(FE) =24 2R X[ PR EH)| JTA [JTA/RAC .80 £:22,800, H:19,700
&% [REERH) | JTA/RAC]  JTA ,20 8% :20,700, £:20,300, H:23.800
AHE(PE) =RE[LZEM X[ PREH)| JTA [JIJTA/RAC 0,20 1 £:23,300
AiER [ FEGRH) | JTA/RAC]  JTA 0,30 i H:20,800, H:23.90
AR G F %) =/MA [ AR FFR) %[ Fm CHE)|  JAL AL 6.401 74 : . H:21,000
INEAFE CHE)| JAL AL 6.301 74 . H:16.400
AW F T8 =Mt ER | AL G ) 5| BUR CRIE) | JAL AL 26,501 7,200
R CHED| JAL AL 25,70
FLIR (BT F %) =R CHE)| JAL AL 24,30 69
CHED| JAL AL 23,801 7%
HRGEFTR) =58 CRE)| JAL AL 5,101 5% ;
CRE)|  JAL AL 4,30 6% .
AR F TR —WOFE R CRE)|  JAL AL 1,50 ,
R CRE)|  JAL AL 2,201 7 .
IR Fm) =HE[ARF TR CHE)| JAL AL 26,101 ¥
HE CRIHE)| JAL AL 5,80 ¥
AMEFFR) =EB[ALRFTRE CHE)| JAL AL £ 8" ¥
5% CRE)|  JAL AL .80 6% .
IR TR ==l [ AR FHTR CHE)| JAL AL 301 4% |
ST CHE)|  JAL AL 301 74% ,
LR FFR) == LR FFR) % CHE)| JAL AL 001 6% X
= CRE)|_ JAL AL .40 6% .
AL (B F5%) = #ALL | FLAR BT T i) ¢ CRA)| JAL AL .70 5% ¥
i CHE)| JAL AL 26,001 5% ,
AR FFR) =AM LRF TR % CRE)| JAL AL 25,801 7% X
EI#IRLE: CHE)| JAL AL 5,001 8% .
IR TR =KD AR FHTRH CHE)| JAL AL 4,20 9% .
Ao % CHE)| JAL AL 201 7% X
ALIR (B F %) = RIG AR T i) % CRA)| JAL AL 4,70 0% N
R CHE)| JAL AL 26,201 8% .20
LREFH TR —BA[ARFTR® CRE)| JAL AL 25,501 8% 80 . H:28,200
fiE CHED| JAL AL 5,401 8% .10 00. H:27,400
AREFH TR —EB[ARFTR % CRE)| JAL AL 4,50 9 .70 700
Bl CRE)| JAL AL 4,00 9 .30 0. H:25300
AREHTR) —BERE | LRFTFR R CRE)| JAL AL 4,40 0 301 0
ERE% CHE)| JAL AL 4,60 70 .20 500
AT ) =308 () | ARG F ) % BUR CRE) | JAL AL .30 68" ,00 ,500, H:28,600
ABRURF|[  JAL AL 4,50 71 27,
RBR (7| JAL JTA 4,50 71 27,
ZHE(PE)|  JAL JTA 401 73 600, £:24,100. H:25,700
] JAL JTA .40 67 800, H:
ShEE (BB [ CRE) [ JAL L .00 68" .80
AR (FF) AL AL 3,901 72% .10
RBR (BA7) A AL 23,901 72% 101
AHE () A AL 25,70 70% .50
] A AL 28,001 68% :
AREFTR —RE[ARFTR® CRE)|  JAL JT) 30,601 71%
aiE% R CHE)| JTA AL 26,901 74%
& =% 75 5 EEEES R CHE)|  JAL JAL 25,90 70%
MOATR) | JAL JAL 27,70 66%
ESFIES ZCHE)|  JAL JAL 25,901 70%
MOATR) | JAL JAL 25,30 69% |
R =ne)l EEEES CHE)|  JAL JAL 25,401 70% | H:25,800. A:25,500, £ H:28,700. £:28,100
JENIE CRE)| JAL JAL 26,201 69% | £:31,000, £:26,000. H:30.800
&k =2 FEEES CRED|  JAL JAL 26,901 68% | 7 :31,200, H:27.800
SRS CRED|  JAL JAL 25,70 70% |2 ,400, H:28.400
B ="%I5 1BRISE CRE)|  JAL JAL 25,30 70% ,000, £:26,200. H:28,300
SRR CRED|  JAL JAL 540 70% ,000, £:30,700, £:29,200. H:28,100
R EEEES CRE)|  JAL JAL 8,60 76% 500, H:19.200
REE(FFH][ JAL JAL 401 70% 1,900, H:19,300
HER  [ERCEE)| JAL JAL 601 76% :22,700, H:22,401
AR (FFH]  JAL JAL 301 72% :20.800
BE=F#H wmiEE [RECRE)| JAL JAL .40 75% 1,600, 1:19,500. H:20.500
REE(FFH][ JAL JAL 901 65% 300, H:23,700
BFHEE [EEE@E)| JAL JAL .70 75% | A:19,500., £:22,700, £ H:20,500
AR(FF]  JAL JAL 901 5% |4 600, £:23,700
BE==R wE%E  [ExGIE)| JAL JAL .30 7% 5,600, H:26,500
AR (FFH[  JAL JAL 26,701 0% :27.500
=R¥E [EzEE)| JAL JAL 5,601 5% :30,800, £:26,000, H:27.400
AR (FF]  JAL JAL 7.10f 0% [£:28,300, H:27.500
‘R=TE% ‘% | XRAEFFD]  JAL JAL .30 50% H:33,900
| [ fER [ KREF] JAL JAL .50 51%
B =#HE wmiEE [RECRE)] JAL JAL .30 62% ,400, £:27.400, H:29,300
AR (B JAL JAL 701 62% 1400, £:23500. B::
#BEEX [EECEE)] JAL JAL 28,601 58% 00, £:28,300.
RER(FFH][ JAL JAL 701 7% 7,800, H:25.500
&k = mEE  [RECEE)] JAL JAL 60 2% :27.200, £:22,700. H:26.300
RER(FFD][ JAL JAL 901 0%
D% [EmCEE)| JAL JAL 80 4% |4 1£:23.600. H:20,600
AR(FF[  JAL JAL 301 55% |& H:28.800

JAL/JTA/JAC/RAC
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ETN —
=40 [:d::E0) RSt 4/1-27 g}g’é’g % 4/28 4/30
RED | XE =
EE=215 FH|_ JAL AL 100 60% |2:24.100, £:22,300, H:23900
D[ JAL AL 500 59% | H:22.40
[HEEINA FE)|[  JAL AL 400 72% |#:21,600, £:19,500, H:20,500
FA)|  JAL AL 500 69% [£:22,700, £:21,600
BE==% F)| JTA |JTA/RAC] .300 62% |3 900, H:18,700
)| JTA/RAC|_JTA ,000 62% |7 300, £:19.400
Bk =hig F)| JTA |JTA/RAC] 700 65% |3 300, H:19,100
) [ JTA/RAC|  JTA 400 66% |3 700
Zimpl =15 LIEHiFa) | JAL AL 100 54%
GTE|  JAL AL 4,100 54%
Ziwmhl =g TS| JAL AL 4,300 57% 600, £:23,100 ,
GTE | JAL AL 400 60% ,600, H:21,200 ,
KGR =88 LIE B Fa) | JAL AL ,800 58% 0 |
GiTE | JAL AL 500 59% ,
i = /M CRE)[ JAL AL 901 75% I
| B CRE)|  JAL AL 7,401 75% :
| B CRE)|  JAL AL 7,501 5% X
CHED| JAL AL 50 8% ]
CRIH)| JAL AL 4,50 )
ES R HE)|[ JAL AL 10 :
METR)|  JAL AL 101 )
LE% R CRE)|[  JAL AL 4,70 ;
METR)|  JAL AL 7,10 )
ZimAl=HE ESTES CRIE)| JAL AL 25,80 K
HER CRE)[  JAL AL 25,901 . £:30,500, H:27,600 .
i Al =Hal i Bl 5 CHE)| JAL AL 26.90 . H:32,000 K
FALLFE CRE)| JAL AL 5,30 . £:28.400, H:27.900 .
KGR =hiE i CRE)|  JAL JTA 3,90 ,000 X
CRE)| JT, AL 0,20 :34,300 X
TRJI= CREA)|  JAL AL 7,60 :20,800 X
CRE)|  JAL AL 6,20 : 19,600, H:18.400 X
BI=mfaE R CHE)|  JAL AL 4,80 GE :27,800 X
IR CRE)|[  JAL AL 25.40 7 X 000, H:27,300 R
TEJIT=RW CREA)|  JAL AL 25,80 7 & ,600 X
CRE)|  JAL AL 23,201 0% | 600, H:24,300 ;
BI=HE CHE)| JAL AL 5,60 IES [
CRE)|  JAL AL 4,60 8% | A: . £:27,700, H:25600 X
TBIT=#0 CHE)| JAL AL 7.201 6% & . H:30,900 X
CRE)|  JAL AL 6,00 8% | A: . %:28,700, £:28,100, H:27.700 X
BI=%E CHE)| JAL JTA 3,701 0% |2 ¥
CRE)|_JT, AL 28,101 75% |4 . £:27,700. H:32.100 ;
EI-EUNA CRE)[ JAL AL 6,601 76% .
CHED| JAL AL 7,701 74% )
Fk=miak [ R CRE)| JAL AL 4,30 8% X
[ S CRm)|  JAL AL 26,601 5% 327,800 )
% =FELL (FE)|[ JAL AL 5,001 8% 3,700 25,300 25,200
CRE)|  JAL AL 4,80 8% 6,800, £:25,600, H:23.700 26,100 0,100
SR =1L8 HERFE CHE)|  JAL AL 4,90 8% : 5,100 24,900 7,800
LB% CRE)|  JAL AL 60 7% | AA:25.700, #:27,900, £:26,200, H:25.400 26,900 0,700
fIE=HE S CHE)| JAL AL 701 5% [£:28700. £:25.400, H:29,000 26,700 0,400
HE CRE)|  JAL AL 00 4% 129,900, £:28,700, H:26,500 29,300 3,000
SEE=#20 FEES CHE)| JAL AL 701 6% H:28,500, £:26,200 26,700 9,800
[T CRE)|  JAL AL .40 7% :29,200, +:28,100, H:26,800 7,900 0,600
fig="1iE HIERFE CHE)| JAL JTA .00 2% 1:32.900, 2,700 7,600
aER CHED| JT AL 50 75% 9,000 00
W= IR CRE)| JAL AL 7,101 75% K 20,500 0,000 00
CHED| JAL AL 6,101 76% 800, H:22,400 1,100 800
FIL=mRAE [EERCRE)| JAL AL 5,901 6% 26,800 ,500
[ S CRm)|  JAL AL 26,501 5% 0. H: 33,000 |
L =FEL CHE)| JAL AL 5,001 7% 000, 26,200 25,600 |
1 CHED| JAL AL 1,90 1% 0. 25900 | 26,000 |
FL=HE L% CHE)| JAL AL 401 5% , 27,600 30,800
HE CHED| JAL AL 4,90 7 28900 | 29,500
W= L% CRE)| JAL AL 40 7 200 . 27,600 30,200
[ CRE)|  JAL AL 4,20 9 ] 600, H:26.800 27,400 | 28,100 |
FL=h1E L% CRE)| _JAL JTA .30 0 K H:33,500. £ 1:37.500 35,600 38,000 |
aER CHED| JT AL .20 7 :28,900, £:30,500, £:29,300, H:36,700 33700 | 32900
AR =/ B CRE)| JAL AL .10 7 :22,400 17.100 19.200
MaE  [ERERCEE| JAL AL 6,50 7 119,200, H:18,500 16,500 22,200
HE=FfEE | MEAER [RECHE)| JAL AL 6,801 60 129,000, H:28,800 35,000 |
BAE=FELL i CHE)| JAL AL 7.401 75¢% :22,400 24,800 25,200 |
G CRED| JAL AL 7.401 75% 119,200, H:18,500 22,700 | 27800
HEE=L5 RS CRE)| _JAL AL 750 75% 224 25,200 27,800
&% CRE)| _ JAL AL 750 75% 119,200, H:18,500 22,900 28,400 _|
EWEE=HE BiE%E  [EECRE)|[ JAL AL 501 7 :20,300, F:18,000, H:22,400 25,200 9,500
RR(FFD|  JAL [ JAL/JAC .30 7 00 21,800 3,100
HE RRCHE)| JAL AL 00 7 9,600, H:18,500 25,200 0,900
AR (5 [ JAL/UAC]  JAL 401 6! 1,900, H:19,300 2,700 7,000
EEE=HU EEERE [EREE)| JAL AL .50 74 ,600, H:22.400 7,000 28,900 |
ABRURF|  JAL AL 301 6 500 24,800
wilE  [ERGE)| JAL AL .50 74 700 29,100
ABRURF|  JAL AL 401 6 400 28,700
EEE=JE M i RCRE)|  JAL AL 601 76% ,100, H:22.400 ,900 29,100
JEAMZFE R(CEE)|  JAL AL 60 76% 119,200 26400 | 31,200
HE=K% BfER [EERCEE)| JAL AL .60 75% :22,400 26,100 30,500
KR (D] JAL AL .30 70% 0,800 26,500 | 28,300 |
K% [EZCEE)| JAL AL 601 75% 19, 24,800 30,400
ABRURF|  JAL AL 401 69% +:21,900, H:19,300 27,100 31,400
EWEE=RI BiE%E [EECRE)|[ JAL AL .60 76% 122,400 26,400 32,600
ABRURF|  JAL AL 301 73% :20,800 26,200 28,000 |
EB% |[SmCEE)| JAL AL 601 76% 119,200, H:19.500 27,000 100
ABRURF|  JAL AL 401 72% +:21,900, H:19,300 27,100 .200
EHEE=fEA BiEE  [EECRE)|[ JAL AL 60 76% :19.400, H:22,400 26,100 ,300
ABRURF|  JAL AL 301 72% :20,800 26,000 200
REAFE  [EZCEE) JAL AL .60 76% 119,200 26,200 0,400
RER(RFH[ JAL JAL 401 71% +:21,900, H:19,300 27,200 1,800
EE=Ek EEER [ERGE)| JAL JAL 60 76% | H:22,400 25,900 28400 |
AR(FF]  JAL JAL 301 72% | H:20,800 27,000 9,100
BRE [EZCHE)| JAL JAL .60 76% |£:19,200, H:18,500 24,600 0,800
AR(FF]  JAL JAL 401 71% |&1:21.900. H:19,300 27,500 4,200
HEE=ER BEEE  [RECEE)] JAL JAL .60 76% | B:22,400 25,300 2,600
AR(FF]  JAL JAL 301 74% | H:20,800 26,100 7,700
ERBR [EZCHE)|] JAL JAL 601 76% 119,200 25,400 0,900
REE(FFH][ JAL JAL 401 72 1,900, H:19,300 25,900 1,200
WEE=F1E HEER RCEAE)|  JAL JTA 301 67 4.8 3,300 6,700
aiE% CRED| JT JAL .50 71 700. H:33,600 0,000 0.100
BHR=IL BHRR CRED|  JAL JAL .00 73 300 7.400 7.400
MRS CHE)| JAL JAL 001 73 17,000 7,400 7,400
BER=ALEE EHE CRE)|[  JAL JAL .90 70% :20,900 .900
EICEER [RR CHE)|  JAL JAL .80 72% | H:19.300 .100
FH=ML HHRE CRED|  JAL JAL .80 75% 25,900 ,100
[ENE CRE)| JAL JAL .80 75% |2 H:17.000 25300 | 25,100
BEH=LE BHR CRE)|  JAL JAL 60 73% | A:19,100, H:16.800 27,400 27,500
LEB% CRED|  JAL JAL .40 75% |2 H:17.900, 1:16.800 26,400 26,400
EH=LOFTH HHE CRED|  JAL JAL 7,60 76% 27,500 25,900
WOFE%E [ CHE)|  JAL JAL 7,601 76% 25,500 25,100 |
BHR=-HE BFHEE [EEE@E)| JAL JAL 940 71% H:20,300, £:19,900 28,000 28,900 |
AR (D] JAL [JAL/JAC 7.70f 7 H:20,500, £:18,100 19,400 25,900 |
HER  [EZRCEE)| JAL JAL 8.20 7 £:19,600, H:20,300 27,500 | 28,300 |
AR (5D [ JAL/JAC]  JAL 7.701 7 +:19,900, H:18,400 20,000 23,000
] | &% ROEE)| JAL JAL 7.701 7 25,200 26,400 |
EER CRED|  JAL JAL 7.70 74 4,700 25300 |
EH=m |__BH% CHED| JAL JAL 301 7 £ H:18.800, £:17,700 7,100 28,600 |
B%E CHE)| JAL JAL 101 7 £ H:18,600, £:17,700 7,000 27,000
HFH=mA BHRE CRED|  JAL JAL .10 74 7,700, H:18.600 7,000 28,800 |
SEES CHE| JAL JAL .70i 74 7,800 26,100 26,000 |

JAL/JTA/JAC/RAC
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s
XA # 4/1-27 g}g’é’g = 4/28 4/30
[l =
HHx=HL BEHRE [ZE® AL AL 8,500 73% [£H:19,600, 27, 29,900 |
AR JAL AL 7,700 71 E 21, 25,300 |
wilg  [RRGIE)| JAL AL 8,000 74% |4 26, 26,200 |
ABR (BFD | JAL AL 7,700 7% |2 . 21, 4,
FHx=dEM EHRE FH)[  JAL AL 600 75% |3 . £:18.100 30,2 9
EI#ITLE HFHE)|[ JAL AL .100 76% |3 28,50 7
BEHR=KS EHRE |[ZZ@E)| JAL AL .100 75% |H 26,30 9,900_|
KREFD| JAL AL 100 62% |2 . £:25,600, H:28.400 24,101 28,800 |
AN% |HFECHE) JAL AL ,100 75% [#£:18,500, H:19.500 26,800 | 28,400 |
EHR=RIE EHRE |[ZZ@E)| JAL AL .100 77% |£1:19,000, H:18,500 26,60 32,200 |
KRR JAL AL ,100 74% | % H:20500 23,800 | 28500 |
REE  [ERECEE)] JAL AL ,700 76% 119,000, $%:19.100, £:18,100, H:20,100 27,801 9,300}
| [XR@E[ JAL AL ,100 74% |%+:19.900. B:18.400 23,801 7,20
EHRE |[EZE)| JAL AL 100 76% |%:19.400, F H:18,600 26,901 1,701
AR (B[ JAL AL 10 73% H:20,500 23,601 7,70
A% |EZECEHE)| JAL AL .10 76% :18,500, £:18,300. H:20,000 27,300 28,100_|
AR (B[ JAL AL 10 73% £:19,900. H:18.400 23900 | 27,800
EHR=B FHRE |[EZ@E)| JAL AL .10 76% 26,100 31,300
AR (B[ JAL AL 10 73% |%H:20500, £:19.000 24,800 | 29,600
% |[ERCEA)] JAL AL .10 76% 26,100 28,400_|
AR (B[ JAL AL 101 73% |2 £:19,900. H:18.400 24700 | 30,200
EHR=RRES FHRE [EZ@E)| JAL AL .10 77 26,900 31,700
AR (B[ JAL AL 101 75% |2 H:20,500 23,400 | 28,000
ERBR |[EZCRA) JAL AL .10 77% | H:18,500 25,700 28,400_|
KR (BFD| JAL AL 101 75% |%£:19,900. H:18.400 2,600 | 27,200
EHR=RIE HCHA)|  JAL JT, 40 68% |2 1:33,900 3,500 6,100
CHE)| JT AL .10 7 H:32.400 0,700 1,000
SiR=/R CHE)| JAL AL 501 £:17,500 7,500 7,500
CHED| JAL AL 501 7 7,100 500
SR=miaE CHE)| JAL AL 101 6 ,000
CRE)|  JAL AL 26,80 59% | H:27.200 200
=R=REW CHED| JAL AL 5,20 126,000, £:22,800 26,000 | 23800 |
CRE)|  JAL AL 4,60 23,200, H:22,800 25100 | 25100 |
ZR=LE& CRE)[  JAL AL 4,80 :26,000, £:24,100, H:25.200 25,600 26,400 _|
CHED| JAL AL 801 6 £ H:23,300 23300 | 24900 |
SR=WOFH CRE)[  JAL AL .40 9% :23,200, F:21,400, H:24,000 27,600 25,200_|
CRE)|  JAL AL 40 9% :23,200, £:22,600, B:24,000 25300 | 26,000 |
SR=HE CRE)| JAL AL 60! 59% :28,800, £:24,700, H:28,000 27400 | 29,000 |
(B JAL | JAL/JAC 701 1 :25,500 25,500 25,500 |
CRE)|  JAL AL 00 0 £:27,500. H:25500 27,300 | 27,700
(B [ JAL/JAC|_JAL 4,70 1 25,100, £:25,900 4700 | 24,700
CHED| JAL AL .80 4 125,300, £:24,200, H:24,500 4600 | 26,000 |
CHED| JAL AL .20 59 23700 | 24,800
CHED| JAL AL .30 2% 118,800, £:16,500 25000 | 26,000 |
CHED| JAL AL .50 75% 7300, H:16.800 23900 | 26,000 |
CHED| JAL AL 301 1 00, £:24,100, H:26.700 27100 | 28200 |
CHED| JAL AL 60 7 :23,700 23100 | 25800 |
=R=#10 CRE)|  JAL AL .60 1 128,300, £:25.200, H:27.500 27400 | 28400 |
KR JAL AL 40 7 :27.200 27,200 | 27,200
WL [ERGEE| JAL AL .70 6" 600, £:24,800, H:26.200 24,200 | 27,100
KR JAL AL .40 7 200 26400 | 26400 |
ZR=3ItAM ZiR3 HCHA)|  JAL AL 701 4% 1900, 1:25,500 30,300 28,600 |
EIZNIES HCHA)|  JAL AL 26,301 5% 500 28,300 28,600 |
=ZR=X% =R% [Em(EE)| JAL AL 25,401 5% 000, H:26.100 26,200 | 30,000
KR JAL AL 29,401 4% 30200 | 30,700
An%E  [EREE| JAL AL 25,20 5% . H:25,300 25700 | 28,000 |
AR JAL AL 29,101 55% . B:28.700 29,100 9,100
ZiR=RI& =R%E |[EZRCEHE)| JAL AL 25,401 67% 26,400 2,100
AR JAL AL 29,10 59% 29,900 0,400
RIEFE [EZCEE)] JAL AL 25,20 67% . H:26,000 25,700 9,000
AR JAL AL 29,101 59% 29100 | 28900 |
=R%E  [EZCEE)| JAL AL 25,60 65% . £:26.100, H:26.700 26,100 | 31,800
AR JAL AL 28,90 58% . H:29,700 29,700 | 29,600
AR [Em(HHE)| JAL AL 5,601 5% . H:26,700 26,700 | 28,600 |
AR JAL AL .20 T 0 29,200 | 29,500
ZiR==& =R%E |[EZRCEHE)| JAL AL 4,80 7% . £:24600. H:25400 26,200 27,400
AR JAL AL .90 6% 30700 | 31,500
BRE [RRCHE)| JAL AL 4,60 7% 400 25,300 28,200 |
ABRURF|  JAL AL .50 7% . H:30000 29,500 1,900
SR=ERB =R% | mECEE)| JAL AL 4,60 8% 25,800 1,800
ABRURF|  JAL AL 29,00 0 . H:29.400 29,800 0,100
BERBR [EZCHE) JAL AL 540 7 . H:25800 25,900 9,400
ABRURF|  JAL AL 7,901 1 7,900 28,900 |
ZR="E =ZR% R(EE)|  JAL JT) 2,801 7 3,300 6,200
aiE% CRE)|_JT, AL 9,501 0 0,500 1,900
HE=/ REFR CRE)| JAL AL 7.70 6" 8,900, H:18.200 8,200 7.900
NERFE CRED| JAL AL 7,601 6% 8,600, £:18,200, H:17.900 8,200 700
HEH=FRAE FEFE R CHE)|  JAL AL 25,801 7% 5,500 1400
BfCELER |RACRE)| JAL AL 25,801 7% ,200
FE =L FEFE (FH)|[ JAL AL 5,501 58% H:25,800, £:24,700 25,500 500
G CHE)| JAL AL 4,10 61% 4,500, H:25500 24100 | 25200
HRE=LE (EH ¢ CRE)|[ JAL AL 7.301 56% :26,600 27,700 27,500
LB CRE)| _ JAL AL .70 59% :27,200 26,000 26,600 |
ME=LUAFH [ MEAX [FHFCHE)|] JAL AL 701 6% 123,900, 27,100 26,300 |
WWOFE% |Fx CHE)|  JAL AL .30 5% 4,00 25000 | 26,200 |
ME=HE VR [RECEE)|  JAL AL .90 0% ,700, £:23,10¢ 24,000 27,200
KREFFD| JAL_[JAL/JAC 20,001 6% £:21,000, B:20, 20000 | 25000 |
HE RRCHE)| JAL AL 5,801 7% 26,100 | 28000 |
KR (D[ JAL/JAC] JAL 90 1% 123,600, £:22,700, H:24,000 900 | 23,500
HRE=5 GES RCRE)|  JAL AL 4,70 59% 1 H:25,800 ,800 26,300 |
S5 CRED| JAL AL 4,10 60% 125,400, £:25,600, H:24,300 600 | 26,400 |
HRE=Fk G CRE)| JAL AL .30 70% £:18.900, H:18,800 26,700 27,900
% CRED| JAL AL 60 71% 118,600, £:18,200, H:17.900 25600 | 26,500 |
HE=7 S CHE)| JAL AL 26,601 58% 3:27, 26,600 28,500 |
HFE CRE)| JAL AL 5,701 59% 27 25700 | 27,100
FE=f10 kE% [EECHE)] JAL JAL 6,901 58% H:28 26,900 | 28,700 |
AR(FF]  JAL JAL 1.601 1 +:22,600, H:22,400 1,600 24,200
wil%  [ERCEE)| JAL JAL 7.10f 7 128,200, £:27.600. H:27,800 7,100 27,100
AR(FF]  JAL JAL 1,60 1 1:22.400. H:22,700 ,600 23,600
MRE=JEAM FREFE RCEA)|  JAL JAL 7.00f 1 7,400, B:28,100 ,800 28,900 |
JEAMFE R(CEE)|  JAL JAL 7,201 0% 6,900, H:27.000 200 | 28,400 |
ME=X% MEE [EzCRE)| JAL JAL 40 1 127,600, £ H:27.500 ,000 30,300
REE(BFD][ JAL JAL .40 4,900, H:25,900 2,400 28,500
K75 [Em(HE)|[ JAL JAL 4,50 4 27, :26,200, H:26,400 4,900 7,400
HRE=RIZ #MEEX [EEEE)] JAL JAL .40 £:27,300, H:28,000 7,300 0,900
RER(FFD|  JAL JAL 4,80 125,800, £:26.700, H:26.100 4,800 7,700
K% [ExEE)| JAL JAL .70 4 125,900, %:27.900, 27,200, H:28,500 26,700 9,200
AR (B[ JAL JAL 401 4 £+ H:25,500 3,400 26,100 |
ME=FEA #MEEX [EEEE)] JAL JAL .60 7K:26,400., £:28,700, £:28,000, H:28,100 7,000 31,900
AR (FFH]  JAL JAL 201 :25,300, £:22,800, H:25700 3,200 26,600 |
BAR [EzEE)| JAL JAL .30 :28,300, 1:27,800. H:28,900 26,800 29,200
AR(FF]  JAL JAL 23,701 :25,200, F H:25,300 23,700 26,700
RE=F=k #MEEX [EEEE)] JAL JAL 25,60 H:26,800, 1:26.500 26,800 28,700
REE(BFD][ JAL JAL 25,601 0% +:28,400, H:27,600 25,600 28,700
FEFE |EECHE)| JAL JAL 25,10 3% | 4:25,300. £:26.600, 26400, H:26,500 25,800 9,200
RER(FFD|  JAL JAL 25,501 0% | %:26.700, £:25.900, H:27.500 25,500 9,100
HRE=ER #MEEX [EEEE)] JAL JAL 25,60 4% +:26,500, H:26,400 26,200 0,400
AR(FF]  JAL JAL 5,00 3% 1:27,200, H:25,400 25,000 7,100
BERER [Em(EE)| JAL JAL 4,90 5% H:26,900, 1:26.000 25,200 9,200
AR(FF]  JAL JAL 201 5% 3,900, £:25,700, H:26,100 23,200 26,100 |
HE=FR1E B [FEmCRE)| JAL JT, 001 0% 38,500 41,100
AIE% |[WmCHE)| JTA JAL .30 7% : 800 | 35200 |
TEB=HE % [ KRUFD| JAL [JAL/JAC 28,60 3% ,900 200
HEE [ KRUEFD[JAL/JAC] JAL 28,60 3% ,300 ,200
EBE=L EB%E | ABRUEFFD|  JAL JAL 29,401 0% .700 .900
g [KEREGED] AL JAL 29,401 0% 900 900
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ETN —
=40 [:d::E0) RSt 4/1-27 g}g’é’g % 4/28 4/30
RED | XE =
EE=X5 eER [ XREFM| JAL AL .100 49% 38,201
An%  [XEREFEDH|[ JAL AL .100 49% 35,40
TEE=RIE 2% | RKREFH|  JAL AL 500 37.90
RIGFE | KBR(FFH]  JAL AL ,500 35,80
TE=TA EERE | AR (FA| JAL AL 300 37,70
BAR | XKREFF| JAL AL ,300 34,600 |
TE=ah EER | AR(FAD| _JAL AL 300 39,301
12 JAL [ JAL/JAC ,000 56% 32,00 )|
BEE [ AR JAL AL ,300 51% 38,30 41,000}
B | JAL/JAC] JAL ,000 56% 32,00 800}
TEE=RRES EEE | XRERF|] JAL AL 500 52% 37,800 | 38300 |
BREEH |AERGEFM| JAL AL 500 52% 35800 | 38200 |
Wifig =i [ITiZ3 FCHA)|  JAL AL ,000 70% 13,00 13,10
IMAFE CHED| JAL AL ,000 70% 13,00 13,00
Wi =M 1z CPIH)| JAL AL 70 0 ES :21,400 20,90
[N CRE)|  JAL AL 20,70 0% | &+ H:21.400 21,900
W =IE8 ITiZ3 CHE)| JAL AL 5,301 3 H:23,800 25,500
LEB% CRE)|  JAL AL 1.40 0 :22,400, £:22.000 22,500
Wig=os8 [ k% [ERE(CEHE)| JAL AL 0,00 :20,700, +:20,400, H:20,900 23,800
WOFE%E [RR(CHEA)|  JAL AL 901 4 :21,800, H:22,700 23,600
W =HE I Z 3 CHE)| JAL AL 501 4 H:24,200 23,700
ABR(FEFD|  JAL [ JAL/JAC 501 4% | H:25,600 26,500 | 30,00
HER [ERCHE)| JAL AL 4,10 1 H:24,200 24,700
ABR (B FD | JAL/JAG|  JAL 60 4 £:27,100. H:25.200 26,600 | 29,200
=8 [ Z3 RCRE)|  JAL AL 201 59% +:23.000 21,400
BEE CRE)| JAL AL 80 58% 22,300
Wi ==t IiZ3 CHE)| JAL AL 301 5% H:18,800, 1:16.500 22,000
BN CRE)|  JAL AL 50 8% 7300, H:16.800 23,700
Wi ==H iZ3 CHE)| JAL AL 201 1 2,900, H:22,400 21,400
EHIFE CRE)|  JAL AL .20 1 + H:22,400 24,400
=2l I Z 3 CHE)| JAL AL 23 401 7 23,600
KREFD| JAL AL 25,801 3 28300 | 30,200
WFE  [EECEE)|[ JAL AL 22,401 59% |%£:24,600, 1:23,700, H:25.200 24,900
KR JAL AL 5,80 53% 27,600 | 30,200
Wiz =3t M I}, Z:3 HCHA)|  JAL AL 4,40 59% | H:24,800 27,300
Bl HCHA)|  JAL AL 4,60 59% | 1+:23,500, H:24,400 26,600
W =XK% WisE  [EZECHE)| JAL AL 4,30 59% | A+:24500, H:23,000 24,800
KR JAL AL .10 9 30900 | 35000
A% |[EZCEE)| JAL AL .70 0% |2 H:24,200, £:24,500 25,900
AR (B[ JAL AL 101 H:28,800 30700 | 33300
iy =R Wiiz%  [RRCEE)| JAL AL 301 H:24,100 25,000
AR JAL AL 60! 2+ H:31,600 30,600 | 34400
RIEFE [EECEE)] JAL AL 4,90 0 H£:25,200, £:23900. H:26,600 27,500
AR JAL AL 60! 3% |2 H:31,600, £:31,100 30,600 | 33000
\if=Hex Wik [RRCHE)| JAL AL 4,50 59% | 7K:24,300, %:24,600, 1:25,100 24,800
AR JAL AL 90! 52% 9,100 30400 | 32900
BA%R [EZCHE)| JAL AL 4,50 59% :24,800, £:25,200, H:25,700 26,600
AR JAL AL 90! 30800 | 33500
\Lf =2 Wik [RRCHE)| JAL AL 401 £:23,600 24,500
AR JAL AL 90! 32,900 | 36600
BRE [RRCHE)| JAL AL .00 2 F:23,400, £:23600. H:24,300 26,200
AR JAL AL 90! 52 32,700 | 36300
L =ERS Wik [RRCHE)| JAL AL 501 A 25,400
AR JAL AL 1,301 31,300 | 33600
ERER [Em(EE)| JAL AL 4,30 27,500
AR JAL AL 0.20 30200 | 33500
HECHE)|  JAL JT. 29,001 6" 29,200
ERCHE)|  JT) AL 5,701 0 26,900 |
AR(EFF|JAL | JAL/JAC 4,40 7 400 | 26,000_|
RIR (D [ JAL/JAC| JAL 4,30 7 300 | 25,000 |
ABRUFAD|[ JAL AL .80 7 :23,30 00 3,500
RBRUFAD[ JAL AL 4,60 4 .10 0 00 4,900
ABRUFAD[ JAL AL .80 4 .80 200 25,800 7,000
ABRUFAD|[ JAL AL 26,001 4 .60 600 26000 | 26,900 |
RBRUFAD[ JAL AL 25,501 .90 000 25500 | 27400
ABRUFAD[ JAL AL 24,901 1 .20 500 24,900 | 26,700 |
KR (FR| JAL AL 25,301 58% .20 600 25300 | 26,200 |
KR EFD| JAL AL 5,401 58% 00 300 25400 | 27400
RREFD] JAL AL 6,601 56% ,000, H:29.400 26,600 | 28400 |
RRGFD] JAL AL 7,201 55% |2 900, H:29,300 27,200 | 29,700
AR (FFD| JAL AL 5,701 60% 6,600 25700 | 26,800 |
RRGFD| JAL AL 7,101 58% ,400, H:27,000 7100 | 28,100 |
RER(FFD| JAL [ JAL/JAC 9,801 63% 40 9,800 00
RIR (P [ JAL/JAC] JAL 2,301 59% 1500, H:22,800 2,300 300
RRGFD] JAL AL .20 61% .30 200 600
RRGFD| JAL AL .00 59% ,100, H:21,800 ,000 700
RRGFD| JAL AL 60 58% 800, H:25,000 600 | 26,900 |
RRGFD] JAL AL 80 56% ,000, H:25.400 800 | 23,800
RRGFD| JAL AL 60 60% 40 600 | 26,600 |
RRGFD| JAL AL 00 62% ,400, H:24,600 000 | 24,200
RRGFD] JAL AL 4,40 59% 80 400 | 25400 |
RRGFD| JAL AL 23,101 61% ,200, H:24.400 ,100 4,800
RRGFD| JAL AL 5,401 57% 00, H:26,300 25,400 7,800
RRGFD] JAL AL 4,90 58% 00, H:27.000 ,900 7,200
HEB=ERE RERAFFD[ JAL AL 4,80 60 . H:24,500 00 26,000 |
[ XIR (D] JAL AL 4,90 6 :24,100, H:26,200 00 | 26.100 |
M =FELL FCHEA)|  JAL AL 801 7 00 500
CRE)| JAL AL 00 7 00 800
IME=TEE CRE)| JAL AL .60 6! 00 ,700
LB% CRE)| JAL AL 40 7 00 400
MA=ILUAFE IDRSE R CHE)|  JAL AL 201 7 00 6,700
WOFE%E [FRCHE)|  JAL AL 201 7 200 5,700
IME=HE IMAFE CRE)| _ JAL AL .40 66" 400 0,500
HE CRED| JAL AL .20 68% 700 9,800
IME=TEE IMAFE CRED| _ JAL AL .90 72% 00 7400
EE CRED|  JAL JAL .30 73% 00 6,000
IME=TER IMRFE CRED|  JAL JAL .30 68% 00 0,100
BT CHE)| JAL JAL 101 69% 00 8,100
IME=TE IMAFE CRED|  JAL JAL .10 70% 00 0,400
B CHE)|  JAL JAL 001 72% 000 6,900
A=A A CRE)| JAL JAL .50 69% 500 1,700
[ CRE)| JAL JAL 00 70% 00 7,100
=3 IR CRHE)| JAL JAL 60 7 00 ,000
EZE CRE)| JAL JAL .10 7 0,000 000
IMA=K5 AR CRHE)| JAL JAL .30 7 8§ 7,300 700
RN% CRE)| JAL JAL 7,501 7 : 7,900 00
IMA= R INEAFE CRED|  JAL JAL 7,60 7 21 7,600 ,900
RIE% CHE)| JAL JAL 8,70 7 A: ,500, H:20,100 100 .000
IME=FER IMAFE CRE)|  JAL JAL 7,701 7 & 18,600 ,000 ,000
REASE CRE)| JAL JAL 7.70 7 A: 300, H:20,000 500 500
IMNE=EIE IMAFE CRE)|  JAL JAL 6,201 75% | A: 1400, B:17.400 ,000 500
H5FE CHE)| JAL JAL 6.001 76% [ 7,000 7,000 ,900
IME=ER MRS CHE)| JAL JAL 7.201 75% |A£:17.000, H:17,500 8,000 25400 |
R &5 CHE| JAL JAL 7.00f 75% 7,200, £:16,500, H:18,500 7,000 20,000
IME=EE MRS #BB| JTA [JTA/RAC 3,901 3% 26,500 26,900 |
BT # () [ JTA/RAC]  JTA 4,30 3% 26,900 26,900 |
IMA=RE INRFE R (FE)|  JAL JTA 28,201 9% 28,100 2,400
4,30 6% 26,900 7,300
4,90 3% 25,300 7,300
4,30 66% £ H:26.900 26,900 | 26,900 |
mL==& 601 59% 1:26.100 26,100
60 59% | H:26,100 23600 | 28600
AL=5R1E 4,00 3% | % £:26.500 26,500
5 4,00 3% | H:26.500 24000 | 29400
BH=Ek E 4,20 0% 24,200 24,200
RS &l [JAL/JAC]  JAL 4,20 0% 24,200 24,200
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=] 4/1-21 g}gﬁi’g ] 4/28 4/30
BERE=5H .700 61%
J AC .700 61% 11,700 11,700
BEXE=MKRE B J AC ,600 53% 15,600 15,600
| [ HkBREE| 5 J AC ,600 53%
R =FR [EER R[RERE)|  JAL AL ,800 75% . H:20500 28,30 9
KEREFR| JAL AL 600 69% . H:28,000 24,601 0,
AR [EmEE)| JAL AL ,000 76% £:20500, H:18,300 27,701 0,
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HRE(IRE) =1LE [ RE) [ AR EEM|  JAL AL .10 3% :25,700, H:31,100 27,100 1,300
13FE JT AL 7,001 6% . 27,100 0,900
e |[RABREE|[ JAL AL 5,301 5% 25,300 7,500
& ] JAL JTA 28,20 5% ,100 1,100
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RAEp% | E! JAC AL 901 58% :32,700 ,600 500
RRCHR) =5k B) %[ ! JAL JAC 701 58% :31,000 ,600 41,100
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AR (BE) =85 .400 67% & 22,100
.300 63% | %21, eoo ;t 21,100, H:23.100 26,400
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AR (B#E) =R\ .900 69% 22,900
.300 67% 1,800, 21,100, H:23.100 26,400
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2EE(FE) =24 8 (3) 19,800 69% 2,800, H:19.700 22,300
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CRE)| _JA JAI 25,900 63%
ALIE G R%) =R CRE)| _JA JA 24,800 65%
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AN CRED| JA JAI 25,200 68% 1600, H:26.100 . .
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K75 CRED| JA JAI 25,400 67% 000, F:28.600, H:27.300 X )
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GiFR | JA JAI 25,700 68% 28, ,
B =1 [€2I:D) Al JAI 27,400 68% | H:27,600, A:27,300, £:30,200, £:29,400, H:30,600 .
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FALL CRE)| JAL JAL 28,000 65% .
fliE=h1E S CRE)| JAL JT) 32,800 70% ¥
aiE CRE)|[_JT, JAL 29,500 73% .
HILR=/M A I CRE)| JAL JAL 18,900 72% X
N CRE)[_JAL JAL 18,800 72% .
HLh=mRkEE [ CRE)| JAL JAL 27,100 64% X
FfC RS CRE)| JAL JAL 28,700 62% .
HLR=MRWL HILFE CRE)| JAL JAL 26,200 66% X
G CRE)| JAL JAL 4,000 69% : .
HL=HE HLFE (AA)|  JAL JAL 7,600 63% |A: X
HE CRE)| JAL JAL 7,000 64% |B: X
HLR=H0 HILFE CRE)| JAL JAL 7.600 65% |B: X
[T (AA)|  JAL JAL 26,200 67% | A ,
HLE=RE HILFE (AEA)|  JAL JT. 4,700 68% | A : X
aiE% CRE)|[_JT, JAL 1,300 71% | A 33,200, H:38,600 .
BfE=/MA E (AmA)|  JAL JAL 9,000 68% |AH: 7.400. H:22,700 .
N FE CRE)[_ JAL JAL 6.700 72% | % .
HEE=FAfCEE | BIfCEAESE (HE)[ JAL JAL 7.100 60% | % .
AR =L BEER CRE)| JAL JAL 9,000 72% | 18,800, 17,400, B:22,700 .
[N CRED| JAL JAL 7.400 75% | % 800 7.000 9,
HEE=L5 EE (AA)|  JAL JAL 9,000 73% |A: 8,800, 1:17.500, H:22,700 9,400 7.
NS (AA)|  JAL JAL 7,500 75% | & .800 7.500 0.
HEE=HE BEEH  [BUmCHE)| JAL JAL 000 72% | B :18,800. %:20,300. £:18,000. H:22.700 .900 1.
KER(FFD[  JAL |JAL/JAC 300 70% [H ,100 25,
HE R CHA)|[ JAL JAL 000 73% | % +:19.600. H:18,800 500 2,
RBR (B [ JAL/JAC]JAL 20.400 69% | % +:21900, H:19,300 700 9,
EEE=H0 23 3 JAL JAL 19,000 73% | H:18.900. A:18.800, %:19,600. £:18,500, H:22.700 500 0,
JAL JAL 19,300 69% | H:20.800 800 7.
AL JAL JAL 18,500 74% | %:19.500. H:18,800 0,000 9,
JAL JAL 20.400 67% | % +:21900, H:19,300 25,400 7.
=LA BEE % JAL JAL 000 75% | H:18.900. A:18.800, %:19.100. £:18,600, H:22.700 600 0,
LRI JAL JAL 600 76% |£::19,500, H:18,800 ,000 3,
BEEE=X% S JAL JAL 000 75% | F:18,900, A#:18,800. £:18.600. H:22,700 .600 0,
JAL JAL 300 70% | H:20.800 100 0.
RPH JAL JAL 600 75% | £:19.500. H:18.800 400 1.
JAL JAL 20.400 69% £:21,900. H:19,300 28,100 1.
EfE=RE B JAL JAL 19.000 76% 8,900, A%:18,800. £:18,600, H:22,700 32,000 0,
JAL JAL 19,300 73% 0,800 28,000 0.
RIGF JAL JAL 18,600 76% :19,000. % H:19,500 2,400 3.
JAL JAL 20.400 72% | % +:21900, H:19,300 7.900 1,
B B JAL JAL 19.000 75% | H:18,900, A:18,800, %:19.400, 1:18,600. H:22.700 2,900 0,
JAL JAL 19,300 72% | H:20.800 7.500 0.
BAR JAL JAL 18.600 76% |%:19,500, H:18,800 1.800 1,
JAL JAL 20.400 71% | % +:21.900, H:19,300 28,500
HE=2& S JAL JAL 19.000 75% | H:18,900, A#:18,800. £:18.600. H:22,700 0,800
JAL JAL 19,300 72% | H:20.800 0,500
EEES JAL JAL 18.600 76% |%:19,500, H:18,800 0,800
AL JAL 20,400 71% | % +:21.900, H:19,300 0,700
ER=ERE B AL JAL 19,000 76% | H:18,900, A%:18,800. £:18,600. H:22.700 2,400
AL JAL 19,300 74% | H:20,800 7,700
ERBE AL JAL 18,600 76% 9,500, H:18,800 2,800
AL JAL 20,400 72% 7.400
EWE=R1E EES AL JT. 33,500 67% 5,400
RE% JT. JAL 29,700 1% 0,700
BEHR=IR BEHE AL JAL 000 73%
IMEFE AL JAL 000 73% 17,400
BEH—ARAE BFHE AL JAL .900 70%
EEGERE AL JAL ,900 7%
BEH=EL FHE AL JAL 800 75%
] LLY & AL JAL .800 75% [£H:17.000 25,100
EHR=L5 BEHR AL JAL ,600 73% | A:19.100, H:17.400
L&% AL JAL 1400 75% | % H:17.900 26,400
FEH=LOFH BHE AL JAL 7.600 76% 25,100
WOFERFE AL JAL 7,600 76% 25,100
EHR=HEZ BEHRR AL JAL 9,400 7 :20,300, £:19,900
AL__| JAL/JAC 7.700 7 8,100 26,700
HESR AL JAL 8,200 7 0,300 28,300
/JAC| _JAL 7.700 7 :18,400 22,300
EH=1E5 [ &HFE AL JAL 7,700 7
5% AL JAL 7.700 7 24,700
EH=a [ FHFE AL JAL ,300 7: 118,800, £:17,700
B AL JAL 100 7 :18,600, £:17,700 27,000
BEH=a HHE AL JAL 100 7 7,700, H:18,600
BT AL JAL 700 7 26,200
EHxR=HL BHRE 2 p AL JAL 8,500 7
KR (7D AL JAL 7,700 7 E: 25,300
wiug  [ERE(H) AL JAL 8,000 7 18,600 27,000
KR (FFH AL JAL 7,700 7 3:18,400 23500
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N e
XF BERit 5/9-31 %;2 % 5/1 5/2 5/4 5/6 5/7
FHR=IAM HFHRE JAL ,600 75% |%:19.100, £:18,100
EZYIES JAL JAL 100 76% | & 28500
BEHR=K% BERE JAL JAL 100 75%
JAL JAL 100 62% 29.600
ADE JAL JAL 100 75% 28,700
BEHR=RE BFRE JAL JAL 100 77% F:19.000. H:18,500
JAL JAL 100 74% H:20,500 28500
R JAL JAL 100 75% 8,100, H:20,100 29,700
JAL JAL 100 74% 9,900, H:18,400 26.000
BERE JAL JAL 100 76% 119,400, 1 H:18,600
JAL JAL 100 73% H:20,500 28,000
JAL JAL 100 76% 118,500, £:18,300, H:20,000 29,100
JAL JAL 100 73% £:19,900. H:18,400 26,600
JAL JAL 100 76%
JAL JAL 100 73% | % H:20500, £:19,000 31,000
JAL JAL 100 76% 28,400
JAL JAL 100 73% [2:1:19,900. H:18.400 28,800
JAL JAL 100 7%
JAL JAL 100 75% ﬁH 20,500 28.200
JAL JAL 100 77% _|B: 29,900
JAL JAL 100 5% % 26,500
JAL JTA 32,400 68% |&
JT. JAL 29,100 71% |8 37.200
JAL JAL 17,000 70% | %1
JAL JAL 17,000 70% 18,000
JAL JAL 26,500 60% 28100
JAL JAL 27,300 58% | H:27.700
JAL JAL 25,600 62% | £:26.400. £:23,200
JAL JAL 25,000 63% [2::23,600, H:23,200 25,500
JAL JAL 25,200 63% | £:26.400, £:24,500, H:25.600
JAL JAL 23,200 66% | &+ H:23.700 24,500
JAL JAL 23,200 68% | £::24,000, £:22.800, H:24.800
JAL JAL 23,200 68% | £::24,000, £:23,400, H:24.800 25,600
JAL JAL 27,000 59% | £:29.100, £:25.100, H:28.400
JAL_|JAL/JAC 24,700 61% | £:25500 25,500
HE: EAE JAL JAL 26,400 60% [%+:27.900, H:25,900 28,100
KBR (B [ JAL/JAG|_JAL 700 £:25.100, £:25,900 24,700
iR 3 JAL JAL .200 %:25.700. 1£:24,600, H:24.900
JAL JAL 600 24,400
JAL JAL 600 %:26,200, H:25400
JAL JAL 800 %1 H:24800 25,600
JAL JAL 26,700 %21, soo 1 24,500, H:27.100
JAL JAL 23,000 66% |t H:2 24,900
JAL JAL 27,000 61% |3 28 7oo ;t 25,600, H:27.900
JAL JAL 26,400 57% |3 27.200
JAL JAL 24,100 65% |3 e.oom £:25.200, H:26,600 27,000
JAL JAL 26,400 57% 26,400
JAL JAL 27,100 63%
JAL JAL 26,700 64% 29.000
JAL JAL 25,800 65%
JAL JAL 29,400 54% | % ooo~ B3
JAL JAL 25,600 65%
JAL JAL 29,100 55%
JAL JAL 25,800 66%
JAL JAL 29,100 59%
JAL JAL 25,600 67%
JAL JAL 29,100 59%
JAL JAL 26,000 65%
JAL JAL 28,900 58% |& 29.900
JAL JAL 26,000 65% | H: 28,800
JAL JAL 29,200 57% |+:3 29,500
JAL JAL 25,200 66% | 7:25.400, 26,600, 25,000, H:25.800
JAL JAL 29,900 56% | £::32.900, H:31,600 32,900
JAL JAL 25,000 66% | A H:25.800, % 1:25.200 27.800
JAL JAL 29,500 57% |2:29,900, 1:30,700, H:30,000 31,700
JAL JAL 25,000 67% [2::25.200, H:25400
JAL JAL 29,000 60% | £:30,100, +:28,900, H:29.400 30100
JAL JAL 25,800 66% | 226,000, +:25400, H:26.200 29,800
JAL JAL 27,900 61% 500, H:28,400 28,400
JAL JTA 33,200 67% 35,600
aiEH JT. JAL 29,900 70% |8 37.700
FRE=/M HEE (HE)[ JAL JAL 17700 66% |& :18.200
MRS CRED| JAL JAL 17.300 67% | 218,600, 1:18.200, B:17.900 18,200
HE=miaE REE CRED]  JAL JAL 24,400 59% | % H:25.800 28,200
EIGERES (HE)[ JAL JAL 25,800 57%
FE=RL HEFE (HE)[ JAL JAL 25,200 59% | % H:25.800, 1:24,700
L 5E CRED| JAL JAL 24,300 60% | 2:25800, +:24,500, H:25,500 25,500
MHE=LE8 [ _ PEZE CRE)| JAL JAL 26,000 58% | %:27.500, + H:26,600
LE% (AA)|  JAL JAL 25,400 59% |% +:26.600, H:27,200 26,800
ME=LOFE [ PEE CRE)| JAL JAL 23,100 65% 4,500, +:24,300, B:25.800
IN=EZE CRED| JAL JAL 23.400 65% 5300, F:24,400, H:25.500 25,800
HE=HE AR [EREE)|[ JAL JAL 22,000 63% :23,700, H:25,800 26,600
AR JAL [ JAL/JAC 20,000 66% | % +:21,000, H:20,700 24,300
HER [ZEx@E)|] JAL JAL 25,800 57% 28,700
KB (B [ JAL/JAC|_ JAL 22,900 61% | %:23600. £:22.700, H:24,000 26,200
HME=#5 3 JAL JAL 24,100 60% |# H:25800
JAL JAL 23,800 61% | %:25400, £:25600, H:24.300 25,400
HE=51 JAL JAL 26,400 57% | % H:27.500, £:25,100
JAL JAL 24,800 59% | 226,900, 1:26,700, H:26.300 26.100
ME=8H JAL JAL 26,600 58% | % H:27,500,
JAL JAL 25,700 59% |#+:27.100, B 26,800
FRE=HL JAL JAL 26,400 58% |4 H:28,900, £:26,500
JAL JAL 21,600 61% |2 +:22,600. H:22,400 24,300
JAL JAL 26,800 58% | 2:28.200, 1:27,600, H:27.800 27.400
JAL JAL 21,600 % 122400, H:22,700 25,800
FE=IAMN JAL JAL 27,000 E :27.400, H:28,100
JAL JAL 26,900 3 000 29.000
ME=X% (5 JAL JAL 26,400 % :27,600, + H:27.500
AR JAL JAL 22,400 4,900, H:25.900 28,600
A% [ERC AL JAL 24,700 £:27,000. £:26.200, H:26,400 28,300
ME=R& PR A€ AL JAL 26,400 5:28,000
PAGE)) AL JAL 23,400 800, H:26.100 27,500
RR%E [EZ(HE) AL JAL 25,900 :27,900, +:27,200, H:28,500 29,300
PAGE)) AL JAL 23,400 28,300
FE=RX MEE [EZ@EE)| JAL JAL 26,600 :28,700, £:28,000, H:28.100
pIACGEE)) AL JAL 23,200 2,800, B:25,700 27,000
EAE [Ez@H)| JAL JAL 26,000 +:27.800. B:28,900 29,500
AL JAL 23,700 300 28,900
HE=525 PR AL JAL 25,600 800, F:26,500
AL JAL 25,600 600 30,000
BRE AL JAL 24,800 5,000, £:26,600, £:26,400, H:26,500 28,800
AL JAL 25,500 900, H:27.500 31,100
HEH=ERE PR AL JAL 25,600 4:26,400
AL JAL 24,200 5200, H:25.400 27,200
AL JAL 25,100 2 :26.100, % H:26,900, +:26,000 29,700
AL JAL 23,200 23, :25.700, H:26.100 28,300
ME=FE AL JTA 38,000 % | & 1:39,900, H:36.200 600
JT. JAL 31,300 400
EE=HE R 7 AL__| JAL/JAC 28,600 200
RE) | JAL/JAC| JAL 28,600 700
TE&E =0 22) AL JAL 29,400 900
N A JAL JAL 29,400 700
TEE=X% 3 ABEREFD]  JAL JAL .100 100
X KR (7F4) AL JAL 100 35,800
TEE=R& k2 ABEREFD]  JAL JAL 500 39,000
Rl KR (7F4) AL JAL 500 35,500
TEE=RA 1EE ABREFD]  JAL JAL 300 35,200
X KR JAL JAL ,300 36,300




[FEHE5128 1 EER(5F1H~31BEFES) JAL/JTA/JAC/RAG

EEEHAA ;- 2016/1/27 ~

N e
X 23=:E:0) BERit 5/9-31 %;2 & 5/1 5/2 5/4 5/6 5/7
KR | XE °
EE=EK EBX [XRED] JAL JAL 32,300 51% 40,200
e JAL_|JAL/JAC 32,000 56% 33,800
BEE [ KR(E] JAL JAL 32,300 51% 38,900
k| JAL/JAC| JAL 32,000 56% 33,800
EE=ERE EEX [XREFD] JAL JAL 33,500 52% 38,600
BEREER [XR(BEM|[ JAL JAL 33,500 52% 36,400
WLz =M I Z3 (AE)| JAL JAL 13,000 70%
NS F CHE)[ JAL JAL 13,000 70%
Iz =M0 .23 CHE)[ JAL JAL 20.700 60% :21,400
[EIE CHE)[ JAL JAL 20,700 60% | % H:21,400
I =1h8 L3 CRE)| JAL JAL 25,300 53% | H:23.800
L&% CRE)| JAL JAL 21,400 60% :22.400, £:22,000
WLfz=1LOFE Z3 CRE)| JAL JAL 20,400 65% 121,200, £:20,900. H:21.300
WO FEFE CRE)| JAL JAL 21,300 3 122,200, H:23,100
IR =HE WiEE  [EmRCEE)| JAL JAL 23,500 B:
RIR(FF)| JAL_[JAL/JAC 26,500 H: 30.900 26,500
HE: HRCHA)| JAL JAL 24,100 =
KBR (B [ JAL/JAG|_JAL 26,600 % 29.200 26,600
L =158 P JAL JAL .200 5%% |&
JAL JAL 800 58%
TN JAL JAL 800 58%
JAL JAL 100 57% | %1 H:23.200
Iz =m=40 JAL JAL .200 1% |%1:22.900. H:22.400
JAL JAL .200 1% _|& 1 H:22.400
Wi =# 0 JAL JAL 23.400 7
JAL JAL 25,800 53 30.200 28500
JAL JAL 22,400 59% | £:24,600, £:23.700, H:25.200
JAL JAL 25,800 53% 30.200 27.600
W= T JAL JAL 24,400 59% | H:24.800
JAL JAL 24,600 59% | +:23,500, H:24,400
I =X% JAL JAL 24,300 59% | A+:24500, H:23,000
JAL JAL 29,100 49% 35,000 31.800
JAL JAL 23,700 60% | :24,300, % H:24,200. 1:24.500
JAL JAL 29,100 49% 33.300 30.700
WLz =R B JAL JAL 300 61% | H:24.100
JAL JAL 600 53% £ H:31,600 34,300 30900
JAL JAL .900 60% | 4:26.100, %:25,200, £:23.000. H:26.600
JAL JAL 600 53% |4 H:31.600, £:31,100 33,000 33,300
I =REA JAL JAL 500 59% | F£:24,600, &:24,300, £:25.100
JAL JAL 29,900 52% | 1£:29.100 33.200 30,600
JAL JAL 24,500 59% | 7:25400, £:25,200, H:25.700
JAL JAL 29,900 52% 33,500 32.200
WL == JAL JAL 23,400 61% | H:23.900. £:23,600
JAL JAL 29,900 52% 36.600 33.800
JAL JAL 23,000 62% | A H:24.300. %:23,600
JAL JAL 29,900 52% 36.200 33,600
L =RERS W% [EZCHE)| JAL JAL 4,500 61% | FH:24.800. % H:24,300
JAL JAL 1,300 52% | % H:31.600 33,900 33100
JAL JAL 4,300 61% | 224500, +:23,900, H:24.800
JAL JAL 0,200 54% | %+ H:31,600 33,900 30800
L =a1E JAL JT) 29,000 66% | % +:30.500
3 JT. JAL 25,700 70% | H:28.200
WE=HE RFH|  JAL | JAL/JAC 24,400 7% |4 +:24,900. H:22.30
H AR (1) [ JAL/JAC| _JAL 24,300 7% | %:25.800, 1:23,200.
&=l il KR JAL JAL 22,800 7% | &L 3,301
[ AR EFH| JAL JAL 24,600 4% |4
Wa=xX% il ABREFFD]  JAL JAL 25,800 4% |4
X AR EF)| JAL JAL 26,000 4
E =R il ABREFFD]  JAL JAL 25,500 60%
R AREF)| JAL JAL 24,900 61%
e =.%x =S ABREFFD]  JAL JAL 25,300 58%
X KR JAL JAL 25,400 58%
WE=5 (= ABREFFD]  JAL JAL 26,600 56%
Bl KR JAL JAL 27,200 55%
We=ERS = ABREFFD]  JAL JAL 25,700 60%
BERERE [XREFEM|[ JAL JAL 27,100 58% H:27.000 ¥
FR=HE i) KEREF|[  JAL [JAL/JAC 19,800 63% ¥
= AR (1) [ JAL/JAC| _JAL 22,500 58% H:23.100 , ,
Fim=Hl Eiite] ABREFFD]  JAL JAL 20,200 61% ,000 . X
AL AR EF| JAL JAL 21,200 59% .100. H:22.100 . .
FR=K% i) ABREFFD]  JAL JAL 22,600 58% 800, H:25,000 . X
A5 KR JAL JAL ,000 56% 000, H:25,700 . .
FiR=RE i) ABEREFFD|  JAL JAL 600 60% 100 X .
R ABREF| JAL JAL ,000 62% 400, H:24.900 . .
Fim=REX o] ABREFD]  JAL JAL .400 59% |4 4,800 . |
RED| JAL JAL 23,300 60% | 224,600, £:23,200, H:24.700 . .
Fa=ak RED| JAL JAL 25.400 57% | % +:27.200, H:26.300 26. .
RED| JAL JAL 25100 57% | %:26.800, +:25.900, H:27.300 25, .
FR=ER FAD [ JAL JAL 24,800 60% | % +:26.000, H:24,500 25, X
RE| JAL JAL 25,100 60% 6,600, +:24,100, H:26,200 25, .
NR=TEWL E JAL JAL ,800 1% X X
JAL JAL .000 73% . .
IMNE=TRE A (AA)|  JAL JAL ,600 69% . ,
L& CRED| JAL JAL 400 71% ] . .
MME=LOFE IMASE (HE)[  JAL JAL 700 78% 115,700 . .
WO FEE (AA)|  JAL JAL ,700 78% :14,000, H:15.700 . X
ME=HE /N CRED| JAL JAL .400 66% :20.300, £:19,900 ) )
] CHE)[_JAL JAL .200 68% | % +:19.600, H:20,300 X .
NME=TEE N (HE)[ JAL JAL .900 72% X X
CRIED| JAL JAL 300 73% . :14,200 . .
INA=TEH /N CRE)| JAL JAL ,300 68% 7,600 S X
& CHE)[_JAL JAL 100 69% :18,600, £:17,300 8, .
INE=E A I CHE)[_JAL JAL 100 70% 000, H:18,600 7. )
B (AA)|  JAL JAL 000 72% .200, £:17.800 X ,
A= N CRED| JAL JAL 500 69% :19,600, £:17,500 . .
[T CHE)[_JAL JAL 000 70% : H:18,600 . .
M= N CRED| JAL JAL 600 72% 600 0, .
JER N CHE)[_JAL JAL 100 72% 100, H:17.600 9, X
ME=XK% N CHE)|[_ JAL JAL 300 73% 900, H:18.500 9, I
Ko CRED| JAL JAL 7.500 73% 8,500, £:18,000, H:19,500 X .
IR =R A [€2I:D) AL JAL 7,600 74% : X |
Rl CRED| JAL JAL 9,100 7% |+ . .
INR=FER A [€2I:D) AL JAL 7,700 73% | E X |
IS (BE)|[  JAL JAL 7.700 73% |AB: 8,300, H:20,000 X .
IMA=F I A [€2:D) AL JAL 6,200 75% [B: :16,400, H:17,400 X X
B (HE)[ JAL JAL 6,000 76% |B: :17.000 X X
IMA=ERE IR CGRE) AL JAL 7,200 75% | B X K
ER CRHE) AL JAL 7,000 75% |1 9,900 |
MME=EH MR 3,900 63% 26,500 X
==t 4,300 63% 27,700 X
MA=FE TN 28,200 69% 31400 | 29, .
300 66% |4 26900 | 26, .
RiIER [ER(CEHE)| JTA JAL ,900 73% 33,800 25, X
8 (BBHR) [ JTA/RAC|_JTA 300 66% 27, .
Bl=aa [ENES #8 (BB | JTA | JTA/RAC 400 58% 25300 | 25,300 .
BOR 8 (BBHR) [ JTA/RAC|_JTA 400 58% | 26,600 X
MAl=5aE [EMES 48 (BB | JTA | JTA/RAC 800 61% 26,100 | 26,000 .
800 61% 7,000 7.
BH==5 ,200 50% 24,200 4,200 4,
200 50% 24,200 4,200 4,200
BEAB=5H .700 61% 16,300 1,700
.700 61% 15,300
BEAB=/PKRE .600 53% 15,600
3 600 53% 15,600 | 15600 600 | 15,600
R =FFK | 800 75% 8,600, H:20,500 32,800 29,600 500 31,200 34,000
600 69% 400, H:28,000 30,700 | 25,800 600 | 25800 | 31,500
,000 76% :21,700, £:20,500, H:18,300 30,700 500 | 29.800 | 30100
500 70% £:24.300, H:24,500 29900 | 24,500 .900 | 26800 | 28,800
R = 26,400 66% | <:26,700, H:28,400 33,300 29,600 2,000 31,200 34,500
25,700 67% :30,400, T H:26,600 31,300 1600 | 28400 | 25600
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BESRH EEH
X 23=:E:0) 5/9-31 Fried & 5/1 5/2 5/4 5/6 5/7
BT = [EEEE A€ JA 27,400 63% 120,200, £:26,600. H:29.300
EE égggg; kﬁ_ u:_ 25,400 66% 6,100, £:25.200, H:29.100
X =03 JAL JAL 28,000 62%
R GRER) =165 | 8 (W) B[ KR (EFD|  JAL JAL 34,000 56%
_ ] JTA JAL 32,800 60% 4,600, H:33,600
TEER xﬂ%gﬂ) "2' JAL 30,500 61% :31,300, H:32,300
] z JAL _|_JT 34,200 58% :35,000, £:33,600, H:35.400
SRR G = L | (W) % Ram (AE) | JAL JAL 22,200 66% :22,500, H:24,200
I égggg; kﬁ_ u:_ 29,000 61% 600, H:33,200
2 = (3 JAL JAL 23.200 64% :22,600
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